D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:14 PM

GENERAL NOTES:

(THESE SPECIFICATIONS ARE IN ADDITION TO AND DO NOT EXCLUDE
ANY FOUND IN THE GENERAL SPECIFICATIONS FOR THE PROJECT)

1. CONTRACTOR SHALL BE RESPONSIBLE FOR BRACING AND SHORING OF
STRUCTURE DURING CONSTRUCTION. FOUNDATION WALLS WHICH ARE TIED TO SLABS
OR FLOOR/ROOF FRAMING SHALL BE BRACED AGAINST BACKFILL MOVEMENT UNTIL
SLAB/FRAMING (WTIH DECK ATTACHMENT) IS COMPLETED. CONTRACTOR SHALL
PROVIDE ALL TEMPORARY SAFETY ENCLOSURES TO PROTECT ALL PERSONNEL
INVOLVED IN PROJECT.

2. THE CONTRACTOR IS SOLELY RESPONSIBLE FOR INITIATING, MAINTAINING AND

SUPERVISING ALL SAFETY PRECAUTIONS AND PROGRAMS IN CONNECTION WITH THE @

WORK. KEYSTONE STRUCTURAL ENGINEERING, P.C., IS NOT RESPONSIBLE FOR THE
MEANS AND METHODS OF CONSTRUCTION OR FOR RELATED SAFETY PRECAUTIONS
AND PROGRAMS.

3. SHOP DRAWINGS AND SUBMITTALS:

A. CONTRACTOR SHALL FURNISH COMPLETE AND DETAILED SHOP DRAWINGS. ALL SHOP
DRAWINGS SHALL BE PREPARED UNDER THE DIRECT SUPERVISION OF A PROFESSIONAL
ENGINEER REGISTERED IN THE APPLICABLE STATE.

B. CONTRACTOR SHALL REVIEW AND VERIFY ALL DIMENSIONS AND STAMP ALL SHOP
DRAWINGS PRIOR TO SUBMITTING DRAWINGS TO ARCH/ENG. FOR REVIEW.
CONTRACTOR IS RESPONSIBLE FOR ERRORS AND OMISSIONS ASSOCIATED WITH THE
PREPARATION OF SHOP DRAWINGS SUCH AS, MEMBER SIZES, DETAILS AND DIMENSIONS
SPECIFIED IN THE CONSTRUCTION DOCUMENTS.

C. SHOP DRAWINGS SHALL SHOW MEMBERS SIZES, LOCATION, TYPE AND EXTENT OF
ALL MEMBERS, BOLTS AND WELDS.

D. CONTRACTOR SHALL HAVE AN APPROVED SHOP DRAWINGS AND PROOF OF WELDER
CERTIFICATION AT JOB SITE AT ALL TIMES.

E. PROVIDE SETTING DRAWINGS, TEMPLATES AND DIRECTIONS FOR INSTALLATION OF
ANCHOR BOLTS AND OTHER ANCHORAGES TO BE INSTALLED BY OTHERS.

F. COORDINATE ALL DIMENSIONS WITH ARCHITECTURAL DRAWINGS.

4. DESIGN LOADS:

THE BUILDING STRUCTURE DESCRIBED IN THESE PLANS SHALL BE CONSTRUCTED IN
COMPLIANCE WITH THE 2020 FLORIDA BUILDING CODE w/ ALL AMENDMENTS IN
CONJUNCTION WITH ASCE 7-16.

A. GRAVITY LOADS

DEAD LOADS:

ROOF: 20 PSF
FLOOR: 60 PSF
LIVE LOADS:

ROOF: 20 PSF
FLOOR: 125 PSF
STAIRS/CORRIDOR: 100 PSF

B. SNOW LOADS:

GROUND SNOW LOAD (Pg): 0.0 PSF

BALANCED ROOF SNOW LOAD (Pf+RAIN): 0.0 PSF
SNOW EXPOSURE FACTOR (Ce): 1.0

SNOW IMPORTANCE FACTOR (Is): 1.0

THERMAL FACTOR (Ct): 1.0

C. WIND LOADS:

BASIC WIND SPEED(3 SEC. GUST): 160 MPH (ULTIMATE DESIGN WIND SPEED)
RISK CATEGORY: II

EXPOSURE CATEGORY: B

INTERNAL PRESSURE (GCpi): +/-0.18

REFER TO THE COMPONENT & CLADDING WIND LOAD SCHEDULE ON S0.1 & ASCE-7-16

D. SEISMIC DESIGN CRITERIA:

SEISMIC IMPORTANCE FACTOR (le): 1.0
RISK CATEGORY: I

MAPPED SPECTRAL RESPONSE ACCELERATIONS:
Ss: 0.0592

S1:0.0306

SITE CLASS: D

S(DS): 0.061g

S(D1): 0.049g

SITE COEFFICIENT

Fa=16

Fv=24

SEISMIC DESIGN CATEGORY: A @
BASIC SEISMIC FORCE RESISTING SYSTEM: LIGHT FRAMED WALLS SHEATHED WITH
STEEL SHEETS

SEISMIC RESPONSE COEFFICIENT (Cs): 0.0100

RESPONSE MODIFICATION FACTORS (R): 6.5

ANALYSIS PROCEDURE: EQUIVALENT LATERAL FORCE PROCEDURE

FOUNDATION NOTES:

1. SEE ARCHITECTURAL AND CIVIL DRAWINGS FOR BUILDING LOCATION AND
ORIENTATION. COORDINATE ALL DIMENSIONS WITH ARCH. DRAWINGS. DO NOT
SCALE DRAWING

3. SEE ARCHITECTURAL DRAWINGS FOR SIDE WALK EXTENTS, PLANTER, AND PAVER
LOCATIONS AND DETAILS.

4. COORDINATE FINISHED FLOOR ELEVATIONS (F.F.E.) WITH ARCH. AND CIVIL
DRAWINGS.

5. FINISHED FLOOR ELEVATION = 31.0' (SEE CIVIL)

6. ALL FOOTINGS HAVE BEEN DESIGNED BASED UPON A SOIL BEARING PRESSURE OF
3000 PSF. FOLLOW ALL RECOMMENDATIONS OUTLINED IN THE GEOTECHNICAL
ENGINEERING REPORT BY PARTNER ENGINEERING AND SCIENCE, INC., PARTNER
PROJECT NO. 22-390207.2, DATED 12-09-2022.

7. ALL FOUNDATION EXCAVATIONS SHALL BE EVALUATED BY THE GEOTECHNICAL
ENGINEER OR TESTING AGENCY PRIOR TO POURING ANY FOUNDATION CONCRETE.
CONTACT STRUCTURAL ENGINEER IF SOIL BEARING PRESSURE IS LESS THAN 3000
PSF.

8. ALL EXTERIOR FOOTINGS SHALL BE A MINIMUM OF 2' - 0" BELOW F.F.E. AND A
MINIMUM OF 1' - 0" BELOW ADJACENT EXTERIOR FINISH GRADE (TYP. UNO)

9. TOP OF INTERIOR FOOTINGS SHALL BE A MINIMUM OF 0 - 8" BELOW F.F.E. (UNO)

10. PRIOR TO COMMENCING ANY FOUNDATION WORK, COORDINATE WORK WITH ANY
EXISTING OR NEW UTILITIES. LOWER FOUNDATION AS REQUIRED TO AVOID
INTERFERENCE WITH UTILITIES.

1. ‘ INDICATES FOOTING STEP. SEE PLANS

SPECIALTY ENGINEERED PRODUCTS:

1. THE GENERAL CONTRACTOR IS RESPONSIBLE TO COORDINATE THE PROPER SUBMISSION OF
SPECIALTY ENGINEERED SHOP DRAWINGS WHICH SHALL BE SIGNED AND SEALED BY AN ENGINEER
REGISTERED IN THE STATE WHERE THE PROJECT IS LOCATED. IT IS THE GENERAL CONTRACTOR'S
RESPONSIBILITY TO ASSURE THAT THE SPECIALTY ENGINEERED SHOP DRAWINGS ARE SUBMITTED IN A
TIMELY MANNER SO AS TO ALLOW REVIEWS AND RESUBMISSIONS AS REQUIRED. ALL SPECIALTY
ENGINEERED PRODUCTS SHALL BE DESIGNED FOR THE APPROPRIATE GRAVITY LOADS AND WIND
LOADS INCLUDING UPLIFT AND LATERAL LOADS. INTERIOR SPECIALTY PRODUCTS SHALL BE DESIGNED
FOR LATERAL LOADS TO ASSURE STABILITY. SPECIALTY ENGINEERED PRODUCTS SHALL BE, BUT ARE
NOT LIMITED TO, THE FOLLOWING:

A. LIGHT GAUGE METAL FRAMING INCLUDING, BUT NOT LIMITED TO, SOFFITS, CLADDING, CEILINGS, ETC.

B. MISCELLANEOUS METALS INCLUDING STEEL STAIRS, MECHANICAL EQUIPMENT SUPPORTS, FRAMES
THAT SUPPORT MACHINES, PIPES OR OTHER STRUCTURAL METAL USED FOR SUPPORT OF MECHANICAL
SYSTEMS.

C. MISCELLANEOUS HANGARS, METAL FRAMES, LADDERS, RIGGING, HANGING WALLS, METAL RAILINGS,
GLAZING FRAMES, CLADDING SUCH AS STONE, PRECAST, ALUMINUM, METAL PANELS, CABLE BARRIER
SYSTEMS, ETC. OR ANY OTHER MISCELLANEOUS PRODUCT REQUIRED BY THE ARCHITECTURAL OR
MECHANICAL CONSTRUCTION DOCUMENTS.

CONCRETE SLAB ON GRADE NOTES:

1. FLOOR SLABS ON GRADE SHALL BE 7" THICK 3000 PSI CONCRETE. REINFORCED WITH #4's @ 10" o.c.
EACH WAY, LOCATED 2" CLEAR FROM BOTTOM OF SLAB (LOWEST BAR PERPENDICULAR TO LOAD BEARING
WALLS). SEE CIVIL PLANS FOR FINISHED FLOOR ELEVATIONS. COORDINATE VAPOR BARRIER
REQUIREMENTS w/ ARCHITECTURAL AND GEOTECHNICAL ENGINEER REQUIREMENTS, PROVIDE 15 MIL
(MIN) POLYETHYLENE VAPOR BARRIER WITH JOINTS LAPPED 6" AND TAPED UNDER ALL INTERIOR SLABS.
REFER TO GEOTECHNICAL ENGINEER FOR BELOW SLAB ON GRADE, SUBGRADE PREPARATION
REQUIREMENTS.

2. CONTROL/CONSTRUCTION JOINTS SHALL BE LOCATED SUCH THAT NO AREA EXCEEDS 441 SQUARE FEET
NOR SHALL THE LENGTH EXCEED 1.5 TIMES THE WIDTH. CONSTRUCTION JOINTS MY BE SUBSTITUTED FOR
CONTROL JOINTS. METAL " KEYHOLD" JOINTS SHALL BE USED AT ALL CONSTRUCTION JOINTS. LOCATE ALL
CONTROL JOINT EQUAL DISTANCE BETWEEN LOAD BEARING WALL AND 5'-0" MIN FROM THE END OF LOAD
BEARING WALLS (INCLUDING OPENINGS ETC.)

3. CONDUITS AND PIPES EMBEDDED IN SLABS:

SHALL NOT BE LARGER IN OUTSIDE DIMENSION THAN ONE-THIRD THE OVERALL THICKNESS OF THE SLAB.
SHALL NOT BE SPACED CLOSER THAN THREE DIAMETERS OR WIDTHS ON CENTER. A MINIMUM SLAB
THICKNESS OF 41/2" MUST BE MAINTAINED OVER THE EMBEDDED CONDUITS OR PIPES.

4. THICKEN SLAB AT LOCATIONS INDICATED ON FOUNDATION PLAN SEE 10/S3.1A

STEEL NOTES:

1. STRUCTURAL STEEL:

A. SHALL CONFORM TO THE LATEST STANDARDS OF ASTM:

WIDE FLANGE BEAMS: A992

MISC. STRUCTURAL STEEL SHAPES, PLATES AND BARS: A36

HOLLOW STRUCTURAL STEEL SECTIONS (ROUND AND RECTANGULAR):
A500 GRADE B

STRUCTURAL STEEL PIPE: A53 GRADE B

B. STRUCTURAL STEEL SHALL BE DETAILED, FABRICATED AND ERECTED IN
ACCORDANCE WITH THE STANDARDS AND SPECIFICATIONS OF THE
AMERICAN INSTITUTE OF STEEL CONSTRUCTION (AISC 360-05) USING

C. PROVIDE 1" (MINIMUM) 5000 PSI 28-DAY STRENGTH,NON-SHRINK GROUT
PER ASTM C 1107 UNDER ALL BASE PLATES.V

D. SHOP OR FIELD SPLICES BETWEEN SUPPORTS THAT ARE NOT REQUIRED
BY DESIGN WILL NOT BE ALLOWED. ANY MEMBERS CONTAINING SUCH
SPLICES FOUND IN THE FIELD SHALL BE REMOVED AND REPLACED WITH
UNSPLICED MEMBERS AT THE FABRICATOR'S EXPENSE.

2. STEEL CONNECTIONS:

A. WHERE BEAM REACTIONS OR DETAILS ARE NOT SHOWN IN THE
CONSTRUCTION DOCUMENTS. CONNECTIONS SHALL BE DESIGNED FOR ONE-
HALF THE MAXIMUM (SIMPLE SPAN) UNIFORM LOAD WHICH THE MEMBER WILL
SUPPORT FOR THE SPAN SHOWN ON THE DRAWINGS.

B. BOLTS SHALL BE HIGH STRENGTH A-325 BOLTS OF SAME SIZE AND
NUMBER AS SHOWN ON DRAWINGS. CONNECTIONS SHALL CONFORM TO
THE SPECIFICATIONS FOR STRUCTURAL JOINTS USING ASTM A-325 OR A-490
BOLTS. CONNECTIONS ARE BEARING TYPE.

C. BOLTS SHALL BE TIGHTENED TO THE SNUG TIGHT CONDITION UNLESS
OTHERWISE NOTED ON THE DRAWINGS.

3. WELDS:
A. MINIMUM SIZE OF WELD IS 3/16" AND (E70XX) UNLESS NOTED OTHERWISE.

B. ALL WELDING SHALL CONFORM TO THE LATEST "STRUCTURAL WELDING
CODE" BY THE AMERICAN WELDING SOCIETY. ALL WORK SHALL BE
PERFORMED BY CERTIFIED WELDERS EXPERIENCED IN THE TYPE OF
CONSTRUCTION INVOLVED. PROOF OF WELDER CERTIFICATION SHALL BE
AVAILABLE AT THE JOB SITE.

4. PROVIDE ALL SUPPORTING STEEL NOT INDICATED ON PLAN AS REQUIRED
FOR THE INSTALLATION OF MECHANICAL EQUIPMENT AND MATERIALS,
INCLUDING ANGLES, CHANNELS, BEAMS, HANGERS, ETC. DO NOT SUPPORT
EQUIPMENT OR PIPING FROM METAL DECKING.

5. STEEL STAIRS:

ENGINEERED CONCRETE FILLED STEEL STAIR SYSTEM AND ALL
CONNECTIONS OF THE SAME TO THIS STRUCTURE SHALL BE DESIGNED BY
AN ENGINEER REGISTERED IN THE STATE WHERE THE PROJECT IS LOCATED.
SUBMIT SHOP DRAWINGS BEARING THE SEAL AND THE SIGNATURE OF THE
ENGINEER FOR REVIEW PRIOR TO FABRICATION. THE CONFIGURATION OF
THE STEEL STAIR SYSTEM SHALL BE SHOWN ON THE ARCHITECTURAL
DRAWINGS. STEEL STAIR SYSTEM AND ALL CONNECTIONS SHALL BE
DESIGNED FOR ALL APPLICABLE LOADS AS INDICATED ON THE PLANS AND IN
ALL APPLICABLE BUILDING CODES. THE LOADS SHALL BE CLEARLY INDICATED
ON ALL SHOP DRAWINGS. SHOP DRAWINGS SHALL SHOW AND SPECIFY ALL
CONNECTIONS UTILIZED WITHIN THE STEEL STAIR SYSTEM AS WELL AS
CONNECTIONS TO AND LOADS IMPOSED UPON THE STRUCTURAL SYSTEM
SHOWN OF THESE PLANS.

COLD FORMED METAL FRAMING NOTES:

1. METAL FRAMING;

NON-STANDARD SSMA METAL FRAMING MEMBER (CEE (C), TRACK, ZEE (Z) &
HAT CHANNELS) DIMENSIONS, CONFIGURATIONS AND SECTION PROPERTIES
SHALL COMPLY WITH THE 2007 AISI, COLD-FORMED STEEL DESIGN
SPECIFICATIONS

2. USE STEEL TO FORM ZINC COATED (GALVANIZED) NON-STANDARD SSMA
METAL FRAMING MEMBERS TO MEET THE PHYSICAL AND CHEMICAL
PROPERTIES OF ASTM A653, GRADE 55 (FY=55 KSI), AND G60 COATING
DESIGNATION AS DESCRIBED IN ASTM A 924

3. USE STEEL TO FORM PRIMED NON-STANDARD SSMA METAL FRAMING
MEMBERS TO MEET THE PHYSICAL AND CHEMICAL PROPERTIES OF ASTM
A10 ADE 2 ,

4. SCREWS SHALL BE SELF DRILLING TYPE SCREWS OF THE OF THE MINIMUM
DIAMETER INDICATED ON PLANS AND DETAILS WITH A MIN PENETRATION
THROUGH JOINED MATERIAL OF NOT LESS THAN (3) EXPOSED THREADS.

5. SCREW SPACING AND EDGE DISTANCES SHALL BE (3) SCREW DIAMETERS
WITH A MIN 1/2" DIMENSION.

6. SCREW SHALL HAVE A PROTECTIVE COATING OF NOT LESS THAN THE
JOINED MEMBER PROTECTIVE COATING.

7. ALL BOLTS FOR CONNECTIONS SHALL CONFORM TO ASTM A325

8. DO NOT ALTER, CUT OR REMOVE MEMBERS OR CONNECTIONS OF
MEMBERS WITH PRIOR WRITTEN APPROVAL OF ENGINEER.

9. FIELD TOUCH UP ALL FIELD WELDS AND ABRASIONS OF GALVANIZED
MATERIALS WITH ZINC RICH PAINT IN ACCORDANCE WITH ASTM A 780, ANNEX
A2. TOUCH UP WORK SHALL BE COMPLETED PRIOR TO ATTACHMENT OF THE
WORK OF ANY OTHER SECTIONS TO THE LIGHT GAUGE STEEL FRAMING.

10. STANDARD SSMA METAL STUD AND TRACK FRAMING (NON-LOAD BEARING
IN-FILL FRAMING) (OPTIONAL)

A. METAL STUD STRENGTH CRITERIA:
1. 18 MIL TO 43 MIL - 33 KSI MIN. YIELD STRESS
2.54 MIL TO 97 MIL - 50 KSI MIN. YIELD STRESS
3. RUNNER TRACK - 33 KSI MIN. YIELD STRESS (UNO)
DO NOT USE STUDS LESS THAN 43 MIL FOR ANY EXTERIOR
WALL USED TO BACK-UP BRICK VENEER.

B. ATTACH METAL FRAMING TO PRIMARY STRUCTURE WITH A DEFLECTION
TRACK OR A STEEL NETWORK INC. VERTICAL DEFLECTION CLIPS CAPABLE
OF ALLOWING 1" OF VERTICAL DEFLECTION.

11. METAL STUD FASTENERS:
A. SCREW CONNECTIONS
USE #10-16 KWIK-FLEX SELF-DRILLING SCREWS OR APPROVED
EQUAL UNLESS OTHERWISE NOTED. 4 SCREWS PER C
CONNECTION MIN., UNLESS NOTED OTHERWISE OR A PRE-
ENGINEERED TRUSS.
B. POWER DRIVEN FASTENERS:

1. FASTENING TO CONCRETE:

USE 0.145" DIA. DOME HEAD NAIL TYPE "X-ZF" BY HILTI OR
APPROVED EQUAL UNLESS NOTED OTHERWISE.

MIN. EMBEDMENT = 1 1/4" MIN. EDGE DISTANCE = 2"
MIN. SPACING = 3" MAX. SPACING = 12"

2. FASTENING TO STEEL:

USE 0.145" DIA. DOME HEAD KNURLED SHANK FASTENER TYPE
"X-EDNI" BY HILTI OR APPROVED EQUAL UNLESS NOTED OTHERWISE.
MIN. EMBEDMENT = FULL PENETRATION

MIN. EDGE DISTANCE = 1/2"

MIN. SPACING =1 1/2" MAX. SPACING 12"

ROOF FRAMING NOTES:

1. SEE COMPONENT & CLADDING TABLE S0.1 FOR NET UPLIFT (LRFD) (UNO).
NO 1/3 STRESS INCREASE ALLOWED.
2. 1.5" TYPE B ROOF DECK: (ALL CANOPIES U.N.O.)
36/5 1.5" TYPE B X22GA. (.0295")

T | | (3 SPANMIN)

ATTACH CANOPY DECK TO SUPPORTS WITH (#12 SCREWS) IN A 36/4 PATTERN WITH 6
SIDELAPS FASTENERS (#10 SCREWS) PER SPAN. ATTACHMENT AT PERIMETER OF
DECK SHALL BE EQUAL TO ATTACHMENT AT DECK SHEET LAPS AND DECK SHEET

ENDS. ANY PARTIAL OR SKEWED SHEETS SHALL BE ATTACHED AT EVERY FLUTE
REGARDLESS OF ATTACHMENT PATTERN.

3. 3" TYPE N ROOF DECK: (MAIN ROOF)

24/8 3" TYPE N X22GA. (.0295")
(3 SPAN MIN.)

ATTACH ROOF DECK TO SUPPORTS WITH (#12 SCREWS) IN A 24/8 PATTERN WITH 7

SIDELAP FASTENERS (#10 SCREWS) PER SPAN. ATTACHMENT AT PERIMETER OF

DECK SHALL BE EQUAL TO ATTACHMENT AT DECK SHEET LAPS AND DECK SHEET

ENDS. ANY PARTIAL OR SKEWED SHEETS SHALL BE ATTACHED AT EVERY FLUTE
REGARDLESS OF ATTACHMENT PATTERN.

4. ROOF SYSTEM IS DESIGNED FOR MECHANICAL EQUIPMENT SHOWN. NOTIFY

ARCH/ENGINEER IF ADDITIONAL EQUIPMENT REQUIRED OR IF HEAVIER UNITS ARE

SUPPLIED.

5. COORDINATE THE EXACT LOCATION AND EXTENT OF ROOF HATCH OPENINGS

WITH ARCH. DRAWINGS.

FLOOR FRAMING NOTES:
N~ N N N N
1. FLOOR SLAB SHALL BE 5 1/2" (TOTAL THICKNESS) WITH NORMAL WEIGHT
CONCRETE (f'¢c=3000 PSI) ON 3" 20 GAUGE COMPOSITE METAL DECK (50 Fy)
(NEW MILLENNIUM 3.0 CD OR EQUAL). REINFORCE SLAB WITH MACRO
SYNTHETIC FIBERS MEETING THE CRITERIA OF ASTM D7508 AT A DOSAGE
RATE DETERMINED BY THE FIBER MANUFACTURER FOR THE APPLICATION,
BUT NOT LESS THAN 4 LB./CU YD PER SDI.

2. ATTACHMENT OF FLOOR DECK TO SUPPORTS WITH (#12 TEK SCREWS)
IN A 36/4 PATTERN WITH 4 SIDE LAPS PER SPAN (#10 SCREWS).
ATTACHMENT AT PERIMETER OF DECK SHALL BE EQUAL TO ATTACHMENT
AT DECK SIDE LAPS AND DECK SHEET ENDS. ANY PARTIAL OR SKEWED
SHEETS SHALL BE ATTACHED AT EVERY FLUTE REGARDLESS OF
ATTACHMENT PATTERN.

3" TYPE 3.0CD 20GA. (.0358")
36/44% (3 SPAN MIN.)

(G60 GALVANIZED.)

3. SUSPENDED CEILINGS, LIGHT FIXTURES, DUCTS AND OTHER
PERMANENT SUSPENDED LOADS SHALL NOT BE SUPPORTED BY THE
METAL DECKING.

4. PROVIDE 51/2"x5" LLV 14GA CONT. POURSTOP ANGLE AT ALL DECK
EDGES AND AROUND ALL OPENINGS IN FLOOR SLAB.

5. PROVIDE 3 1/2"x3 1/2"x1/4" ANGLE AT ALL DECK EDGES SUPPORTED ON
CMU WALLS.

SPECIAL INSPECTIONS:
A. THE SPECIAL INSPECTOR SHALL BE ENGAGED BY THE OWNER. SPECIAL

INSPECTOR SHALL BE FULLY QUALIFIED, APPROVED BY THE BUILDING OFFICIAL,

REGISTERED BY APPLICABLE REGISTRATION BOARD IF REQUIRED BY THE
LOCAL BUILDING OFFICIAL, AND SHALL BE ACCEPTABLE TO THE ARCHITECT.

B. THE SPECIAL INSPECTOR SHALL PROVIDE VERIFICATION OF CONSTRUCTION

QUALITY CONTROL INSPECTIONS AND TESTING. THE SPECIAL INSPECTOR SHALL
CERTIFY THAT ALL WORK REQUIRING INSPECTION IS PERFORMED IN COMPLIANCE

WITH ALL REQUIREMENTS OF THE CONTRACT DOCUMENTS, BUILDING CODE
REQUIREMENTS AND LOCAL BUILDING DEPARTMENT REQUIREMENTS.

C. SPECIAL INSPECTIONS ARE REQUIRED FOR THE ITEMS NOTED IN THE STATEMENT

OF SPECIAL INSPECTIONS AND THE 2012 IBC CHAPTER 17. THE CONTRACTOR
SHALL OBTAIN A COPY OF THE STATEMENT OF SPECIAL INSPECTIONS AND
NOTIFY THE SPECIAL INSPECTOR WHEN WORK IS READY TO BE INSPECTED.

D. FAILURE TO NOTIFY THE SPECIAL INSPECTOR PRIOR TO OBSCURING AN ITEM
REQUIRING INSPECTION MAY RESULT IN THE CONTRACTOR REMOVING OTHER
WORK TO ALLOW INSPECTION. THIS WORK WILL BE REMOVED AND REPLACED
AT THE CONTRACTORS EXPENSE. FAILURE TO HAVE REQUIRED ITEMS INSPECTED

IS REASON FOR REJECTION OF THE WORK.

E. PREMATURE NOTIFICATION FOR INSPECTIONS WILL RESULT IN ADDITIONAL
INSPECTION WITH ALL EXPENSES AND FEES PAID FOR BY THE CONTRACTOR.

SHEAR WALL AND WALL PANEL NOTES

1. 26 GAUGE PBU WALL PANELS WHERE NOTED, ALL OTHER PANELS SHALL BE 29

GAUGE PBU WALL PANELS. ALL WALL PANELS SHALL BE GRADE 80

2. ATTACH ALL PBU PANEL ENDS TO SUPPORTS WITH #12 TEK SCREWS AT 6" o.c.

AND TO INTERMEDIATE SUPPORTS AT 12" o.c.

3. SIDELAP ATTACHMENT FOR WALLS DESIGNATED AS SHEAR WALLS ON THE

PLANS SHALL BE #12 TEK SCREWS AT 12" o.c. (20" o.c. FOR ALL OTHER WALL). FOR
WALLS DESIGNATED AS SHEAR WALLS ON THE PLANS, FASTEN BOTTOM EDGE OF

PANEL TO BOTTOM TRACK AND TOP EDGE OF PANEL TO THE CONT. ANGLE/TOP

TRACK WITH #12x3/4" TEK SCREW PANEL FASTENERS @ 12" o.c. (20" o.c. FOR ALL

OTHER WALL).

4. ALL PERIMETER PANELS (EXCEPT ROOF LEVEL) SHALL BE FULL HEIGHT 26 GAUGE

PBU WALL PANELS WITH #12 TEK SCREW SIDELAP FASTENER AT 12" 0.c..ROOF

LEVEL PERIMETER PANELS SHALL BE FULL HEIGHT 29 GAUGE PBU WALL PANELS

WITH #12 TEK SCREW SIDELAP FASTENER AT 12" o.c.. FOR ALL GAUGES, FASTEN

BOTTOM EDGE OF PANEL TO BOTTOM TRACK AND TOP EDGE OF PANEL THE CONT.

ANGLE/TOP TRACK WITH #12x3/4" TEK SCREW PANEL FASTENERS @ 12" o.c.

5. ALL INTERIOR PANELS SHALL BE 8'-4" HIGH. COORDINATE EXACT PANEL HEIGHT

WITH ARCHITECTURAL.

6. THERE SHALL BE A DOUBLE STUD AT EACH END OF EACH SHEAR WALL AT THE

LEVEL OF THE SHEAR WALL AND ALL LEVELS BELOW WITH THE EXCEPTION OF

SHEAR WALLLS AT THE ROOF LEVEL. THE DOUBLE STUD SIZE, TYPE AND GAUGE

SHALL BE EQUAL TO THE SHEAR WALL FRAMING MEMBERS AT EACH LEVEL.

7. SCREWS SHALL BE SELF DRILLING TYPE SCREWS WITH A MIN PENETRATION
THROUGH JOINED MATERIAL OF NOT LESS THAN (3) EXPOSED THREADS.

8. SHEAR WALLS DESIGNATED ON A LEVEL ARE THE WALLS BELOW THAT LEVEL.

SW-1 29 GAUGE PBU PANEL ON ONE SIDE OF WALL TO 8-4" MINIMUM WITH

STRAP BRACES ABOVE TOP OF PANEL

SW-2 26 GAUGE PBU PANEL ON ONE SIDE OF WALL TO 8-4" MINIMUM WITH

STRAP BRACES ABOVE TOP OF PANEL

DRAWING INDEX
Sheet Number Sheet Name
S5.1A SCHEDULE OF SPECIAL INSPECTIONS (BUILDING A)
S0.1A GENERAL NOTES & SCHEDULES (BUILDING A)
S1.1A FOUNDATION PLAN (BUILDING A)
S2.1A SECOND FLOOR FRAMING PLAN (BUILDING A)
S2.2A THIRD FLOOR FRAMING PLAN (BUILDING A)
S2.3A ROOF FRAMING PLAN (BUILDING A)
S3.1A FOUNDATION DETAILS (BUILDING A)
S4.1A FRAMING DETAILS (BUILDING A)
S4.2A FRAMING DETAILS (BUILDING A)
S4.3A FRAMING DETAILS & SECTION (BUILDING A)
S4.4A FRAMING DETAILS & SECTION (BUILDING A)
S4.5A MASONRY DETAILS & SECTION (BUILDING A)
S4.6A MASONRY DETAILS & SECTION (BUILDING A)
S4.7A FRAMING ELEVATIONS (BUILDING A)
S0.1B GENERAL NOTES, FOUNDATION PLAN & DETAILS (BUILDING B)
S5.1B SCHEDULE OF SPECIAL INSPECTIONS (BUILDING B)
S0.1C GENERAL NOTES, FOUNDATION PLAN & DETAILS (BUILDING C)
S5.1C SCHEDULE OF SPECIAL INSPECTIONS (BUILDING C)
S0.1D GENERAL NOTES, FOUNDATION PLAN & DETAILS (BUILDING D)
S5.1D SCHEDULE OF SPECIAL INSPECTIONS (BUILDING D)

REINFORCED MASONRY NOTES:

IMPORTANT;
SPECIAL INSPECTION IS REQUIRED FOR ALL MASONRY CONSTRUCTION.

1. ALL MASONRY WALLS SHALL HAVE CELLS REINFORCED AND DOWELED INTO
FOUNDATION AS NOTED ON THE DRAWINGS. ALL MASONRY BELOW GRADE SHALL BE
GROUTED SOLID.

2. REINFORCED CELLS WITH GROUT SHALL BE CONTINUOUS FROM FOUNDATION TO
THE TOP OF THE WALL.

3. FILL REINFORCED CELLS WITH MECHANCIALLY MIXED GROUT (2,500 PSI MIN.).

A. GROUT SHALL CONFORM TO ASTM C-476 (PROPORTION SPECIFICATION).
B. GROUT SHALL BE MIXED FOR AT LEAST 5 MINUTES IN MECHANICAL MIXER
AND PLACED WITHIN 1 1/2 HOURS FROM THE INITIAL INTRODUCTION OF
WATER AND PRIOR TO INTIAL SET.

C. BETWEEN GROUT POURS, A HORIZONTAL CONSTRUCTION JOINT SHALL BE
FORMED BY STOPPING ALL CMU AT THE SAME ELEVATION AND WITH THE
GROUT STOPPING A MINIMUM OF 1 1/2" BELOW A MORTAR JOINT, EXCEPT AT
THE TOP OF THE WALL. WHERE BOND BEAMS OCCUR, THE GROUT POUR
SHALL BE STOPPED A MINIMUM OF 1/2" BELOW THE TOP OF THE MASONRY.
D. CMU WALLS SHALL BE CONSTRUCTED USING LOW-LIFT GROUTING (5'-0"
MAX. POUR HEIGHTS).

E. ALL EXTERIOR WALLS AND INTERIOR SHEAR WALLS ARE MARKED ON

THE PLANS AS (SW). SEE SCHEDULE ON THIS SHEET FOR REINFORCEMENT.

4. ALL CONCRETE MASONRY SHALL HAVE A MINIMUM NET AREA COMPRESSIVE
STRENGTH (fm) OF 1500 PSI. (MSJC S1.4B.2B TABLE 2).

5. MORTAR SHALL BE TYPE S-(ASTM 270 TABLE 1 MORTAR PROPORTION
SPECIFICATION REQUIREMENTS).
A. THICKNESS OF BED JOINTS SHALL BE 3/8" EXCEPT THAT THE THICKNESS OF
THE BED JOINT OF THE STARTING COURSE PLACED OVER FOUNDATIONS
SHALL NOT BE LESS THAN 1/4" AND NOT MORE THAT 3/4".
B. MORTAR SHALL BE MIXED UNTIL MIXTURE IS UNIFORM THOUGHOUT.
C. UNUSED MORTAR SHALL BE DISCARDED WITHIN 2 1/2 HOURS AFTER INITIAL
MIXING.

6. ALL MASONRY UNITS SHALL CONFORM TO ASTM C-90 AND HAVE A NET AREA
COMPRESSIVE STRENGTH OF CONCRETE MASONRY UNITS EQUAL TO 1900 PSI (MSJC
S1.4B.2B TABLE 2)

A. ALL WALLS SHALL BE CONSTRUCTED USING RUNNING BOND (U.N.O).

7. REINFORCING STEEL SHALL CONFORM TO ASTM A615-GRADE 60. FOR WELDED
REINFORCING USE ASTM A706-GRADE 60.

8. ALL MASONRY WALLS SHALL HAVE STANDARD HORIZONTAL (9 GA.) LADDER TYPE
REINFORCING @ 16" o.c. JOINT REINFORCEMENT SHALL CONFORM TO ASTM A951.

9. COORDINATE REQUIRED TYPE, SIZE, GAUGE, AND SPACING OF STEEL ANCHORS
FOR ATTACHMENT OF MASONRY VENEER WITH ARCH. DRAWINGS.

10. CONTROL JOINTS IN CONCRETE MASONRY SHALL HAVE A MAXIMUM SPACING OF
25'-0" o.c. (UNO). COORDINATE THE LOCATION OF BRICK EXPANSION JOINTS WITH
ARCH. DWGS.

11. SLEEVE ALL PLUMBING OR FIRE PROTECTION PIPING THRU CMU WALLS.

12. REINFORCING BARS FOR VERTICAL FILLED CELLS SHALL BE LAPPED ACCORDING
TO MASONRY REINFORCING LAP LENGTH SCHEDULE ON THIS SHEET.

13. COORDINATE EXACT LOCATION AND EXTENT OF ALL OPENINGS IN MASONRY
WALLS WITH ARCH. DRAWINGS.

14. MINIMUM MASONRY COVER FOR REINFORCING STEEL:
A. MASONRY EXPOSED TO WEATHER OR EARTH:
2" FOR BARS LARGER THAN #5
11/2" FOR #5 AND SMALLER BARS

B. MASONRY NOT EXPOSED TO WEATHER OF EARTH: 11/2"

REINFORCED CONCRETE NOTES:

1. STRUCTURAL MEMBERS OF REINFORCED CONCRETE SHALL BE CONSTRUCTED IN

2. ALL CONCRETE SHALL HAVE A SLUMP OF 4" +/-1" (SUPER PLASTICIZER/WATER REDUCING

ADMIXTURES MAY BE ADDED TO ANY MIX PER THE PROJECT SPECIFICATIONS AND THE
APPROVED MANUFACTURERS SPECIFICATIONS TO INCREASE WORKABILITY AND/OR TO
IMPROVE THE FLOW CHARACTERISTICS OF CONCRETE. KEYSTONE STRUCTURAL ENGINEERING,

P.C. HAS NO CONTROL OVER OR PREDICTION OF THE IMPACT ON SLUMP OF ADDING SUCH
SUPER PLASTICIZER/WATER REDUCING ADMIXTURES.) AND A MINIMUM 28 DAY COMPRESSIVE

STRENGTH:
B-WAL ©.

0.50 MAXIMUM WATER/CEMENT RATIO)

C: SLAB ON GRADE: 3000 PSI (540 LBS/CUBIC YARD MINIMUM CEMENTITIOUS MATERIAL &

3. LIMIT PERCENTAGE, BY WEIGHT, OF CEMENTITIOUS MATERIALS OTHER THAN PORTLAND

CEMENT IN CONCRETE TO 25%.

4. AIR CONTENT: 6% (+/- 1.5%) AT POINT OF DELIVERY FOR 1" NOMINIAL MAXIMUM AGGREGATE

SIZE.

5. AIR CONTENT: DO NOT ALLOW AIR CONTENT OF TROWEL-FINISHED FLOORS TO EXCEED 3%.

6. ALL STEEL REINFORCEMENT SHALL BE ASTM 615-GRADE 60. ALL WELDED STEEL

REINFORCEMENT SHALL BE ASTM A706-GRADE 60. WELDED WIRE REINFORCEMNET SHALL BE

ASTM A185. ALL WELDED REINFORCEMENT SHALL BE IN ACCORDANCE WITH AWS D1.4.
7. MINIMUM CONCRETE COVER FOR REINFORCING STEEL: (UNO)
A. CONCRETE CAST AGAINST AND PERMANENTLY EXPOSED TO EARTH: 3"

B. CONCRETE EXPOSED TO EARTH AND WEATHER:
#5 REBAR AND SMALLER: 1 1/2"
#6 REBAR AND LARGER: 2"

C. CONCRETE NOT EXPOSED TO WEATHER OR IN CONTACT WITH EARTH.
SLABS, WALLS, AND JOISTS:
#14 OR #18 REBARS: 1 1/2"
#11 REBAR AND SMALLER: 3/4"
BEAMS AND COLUMNS: 1 1/2"

8. UNLESS NOTED OTHERWISE, CAST IN PLACE CONCRETE SHALL HAVE THE
FOLLOWING STEEL ADDED AROUND ALL OPENINGS:
2-#5 (LENGTH OF OPENING+ 48") ALONG EACH SIDE OF OPENING AND
TWO (2)-#5x5'-0" DIAGONALLY AT EACH CORNER.

9. ALL CONCRETE COMPRESSIVE STRENGTH TESTS SHALL BE AVAILABLE AT JOB SITE.

10. ALL LAP SPLICE LENGTHS SHALL BE AS SHOWN IN TABLE 2 THIS SHEET

Keystone

B

Structural

Engineering

Protessional Consultants

REINFORCED CONCRETE
TENSION LAP SPLICE LENGTHS MASONRY REINFORCING LAP LENGTH
TABLE 2 " " "
(INCHES) BAR SIZE 6"CMU | 8" CMU | 12" CMU
#3 27" 27" 27"
BAR SIZE | f'¢c=3000 PSI [f ¢c=4000 PSI #4 36" 36" 36"
#3 25 213 #5 45" 45" 45"
#4 33 29 #6 - 54" 52"
45 41 36 il - d 63"
46 49 43
47 72 62

LIST OF ABBREVIATIONS

FOB: FACE OF BRICK
FOA: FACE OF ANGLE
FOS: FACE OF STUD

TOB: TOP OF BEAM
BOC: BOTTOM OF CHANNEL

T&B: TOP AND BOTTOM

LO: LOW CONDITION
HI: HIGH CONDITION
TOW: TOP OF WALL

SDS: SELF DRILLING SCREW
FOC: FACE OF CHANNEL

TOF: TOP OF FOOTING

SEE TYPICAL BASE PLATE AND
ANCHOR ROD DETAILS (9/S3.1A

SEE STRUCTURAL

COLUMN SCHEDULE

SEE STRUCTURAL
FOUNDATION SCHEDULE \

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

il
SR Chgges,

\\ LY
DI

."’
»
<
Q
~~
o

sav0 e
o® ®a,
-o..-v‘.

“‘.'
*
".’!}l“

2
1
A K
e
G

-

TOA: TOP OF ANGLE

BOA: BOTTOM OF ANGLE
LLV: LONG LEG VERTICAL
LLH: LONG LEG HORIZONTAL
SW: MASONRY SHEAR WALL
TOS: TOP OF SLAB

T/COL: TOP OF COLUMN

SIM: SIMILAR CONDITION

W.P.: WORKING POINT

UNO.: UNLESS NOTED OTHERWISE
B.P.: BASE PLATE

PAF: POWER ACTUATED FASTENERS
S.F: STEP FOOTING

B/COL: BOTTOM OF COLUMN

FOT: FACE OF TUBE

F-4 |C-1|BP-1

TFTG. =-1'-4"

TOP OF FOOTING ELEVATION J/

FOOTING TAG LEGEND

MASONRY LINTEL S

CHEDULE

0'-27/8" 0'-31/2"
AL,

i

\‘\
>
"
0
2
o
Y
4,
)

9

Rev.

Date

Name

09-25-2023

Permit Review

Comment
Responses

04-09-2025

Contractor
Coordination

ey
® q ® ULTIMATE DESIGN VALUES
f COMPONENT AND CLADDING (MAIN ROOF)
I @ & 1.8
. ] AREA | MAX (+) | MAX ()
. e = zone | “GE | Meen (por) | REMARKS
S 0.2h
10 +19.1 429
ZONE 1'
@|® @ @@ 100 +16.0 42,9
0.6h0.6h
d 10 +19.1 74.9
©) ZONE 1
@ 100 | +16.0 -58.4
\ (3  ROOF PRESSURE ZONES . ® 10 +19.1 -98.7
ZONE 2
100 | +16.0 776
10 +19.1 1345
ZONE 3
100 | +16.0 924
COMPONENT AND CLADDING (WALLS)
AREA | MAX (+) | MAX ()
zone | “SE | Meen) (por) | REMARKS
10 +47.0 51.0
WALL PRESSURE ZONES 0.6h ZONE 4
100 | +40.0 44.0
10 +47.0 62.9
ZONE 5
100 | +40.0 -48.9

WIND TABLE NOTES:

1. BASED ON ASCE7-16 FIGURE 30.4-1:

Simplified Procedure
WIND SPEED = 160 MPH
2. 0.2h=6.5'& 0.6h =19.4'

% o ’218" 0-3 12" 16" % L 16"
Tefd [ e =
T .' ® o @ ® L} (]
OPENING WIDTH 8 12 8 12
MINIMUM MAXIMUM LEDGE ANGLE 8" CMU 12" CMU 8" CMU 12" CMU
- 3'-4" L31/2x31/2x1/4 2-#4 2-#4 - -
3'-4" 5'-4" L31/2x31/2x1/4 2-#5 2-#5 - -
5'-4" 7'-4" L5x31/2x1/4 - - 4- #5 4 -#5
7'-4" 10'-0" L6 x4 x 3/8 - - 4- #6 4 - #6
10'-0" 13'-0" L7 x4 x 3/8 - - - -

1.

EXTEND BOND BEAM REINFORCING 24" or 40 Db BEYOND THE EXTENTS OF THE OPENING. VERTICAL

REINFORCING AT THE SIDES OF THE OPENING SHALL BE CONTINUOUS THROUGH THE BOND BEAM.
PROVIDE KNOCK OUTS IN THE BOTTOM OF THE BOND BEAM BLOCK AS REQUIRED TO ALLOW

REINFORCING TO PASS THROUGH.
2. SEE DETAIL 2/S4.5AFOR ADDITIONAL REINFORCING AT OPENINGS.
3. PROVIDE 4" PER 4" OF WYTHE THICKNESS BEARING FOR STEEL ANGLE LINTELS AT EACH END.
4. GALVANIZE LEDGE ANLGES (TYP.)

# ] HEADER CONNECTION SCHEDULE
HEE
‘ + o+
J HEADER -
TOP TRACK i SEE PLAN -~ | HEADER HEADER ATTACHMENT EACH
' + +
MATCH STUD .| .| &SCHEDULE SIDE OF DOUBLE STUD
GAUGE (SEE i
PLAN) (2) C4 x 2 1/2" x 16 GA (2) ROWS (3) #12 SCREWS (6 TOTAL)
(2)C4x 2" x 12 GA (2) ROWS (3) #12 SCREWS (6 TOTAL)
J (2) C6 x 2 1/2" x 14 GA (2) ROWS (4) #12 SCREWS (8 TOTAL)
DOUBLE "C"
STUDS, BACK (2)C8x 2 1/2" x 12 GA (2) ROWS (5) #12 SCREWS (10 TOTAL)
TO BACK, SEE
PLAN. (2)C10x 2 1/2" x 12 GA (2) ROWS (7) #12 SCREWS (14 TOTAL)
(2)C12x 4" x 12 GA (2) ROWS (7) #12 SCREWS (14 TOTAL)
ALLOWABLE DESIGN VALUES
COMPONENT AND CLADDING (MAIN ROOF)
AREA | MAX (+) | MAX(-)
ZONE | “i5hy | (psr) (PSF) | REMARKS
10 +115 -25.7
ZONE 1'
100 +10.0 -25.7
10 +115 -44.9
ZONE 1
100 +10.0 -35.0
10 +115 -59.2
ZONE 2
100 +10.0 -46.6
10 +11.5 -80.7
ZONE 3
100 +10.0 -55.5
COMPONENT AND CLADDING (WALLS)
AREA | MAX (+) | MAX(-)
ZONE | “i5F) | (psr) (PSF) | REMARKS
10 +28.2 -30.6
ZONE 4
100 +24.0 -26.4
10 +28.2 -37.7
ZONE 5
100 +24.0 -29.3

WIND TABLE NOTES:

1. BASED ON ASCE7-16 FIGURE 30.4-1: (x 0.6)
Simplified Procedure

WIND SPEED = 160 MPH

.2h =6.5'& 0.6h = 19.4'

ISSUED FOR CONSTRUCTION

19th Lane
Vero Beach

Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

o
€.

Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

GENERAL
NOTES &
SCHEDULES
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S0.1A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:18 PM

Kéysfone
Structural
Engineering

A~ A~ S N R A~ A A~ Protessional Consultants
@0 e @ @ 105 114 118 13.1 13.714 @ @ @ @ 1.1 21.8 2238 @ 24.2
T = T/ ~ = T/ ~ 531 Roselane Street
| | | | | | | | | | | | | | | ‘ | | | | | | | | | | | | | Sulte 150
Marietta, GA 30060
‘ ‘ ‘ ‘ o ‘ ‘ ‘ (404) 483 6921
| | I | | | |
‘\ ! | ! ! o ! ! \‘ Wittt
\ F. IR
10' - 3" ) 1 ! \ 227" - 6" ! 1 ! ! ! 10'- 3" \\);&3%\25550@"6&
| 1 S31A | \ | | ) S31A | | “ﬁ11" | : ::Q%"."\,\I N’:. f‘\y ?. %
% | | | | | L 5 ® No. 7218 " . ®
7 7 et s*" / \\/‘ '-*:
N ! | | \‘ | ! o il !\ \ HEN - L ¥ 1S\
@7 - 7‘_Sﬁ =o B - - " T = = 7'."! = = l"T = = l'17 = = mn = = = mn = = = mn = = = mn = = ‘ 7'."! = = l"T = = l'ﬁi = [ mn = = = mn ‘ = = T mn = = = mn = = 7'."! = = l"T = = l'17 = = mn = = = mn = -r = mn ‘ = — = mn = ‘f'l = = B 71"7 - T 1 Av 677 -1 - = 4@ : :.‘ ?1 /.\ v ': :
~ % 13#7___' _______________ T T - |\ - — 7 — — I - 1T /0 — — I [ (N D e | W = [ '____Iﬂ[ % .',‘g) BIATE OF $5
_ m m m m m m m m m q m m m m m m m m m m m m ' 0.' /\ P & ‘
© - | — | | | — | | | ] /"/\,6535@ CLIHRARY
@7 - - 1 A Q | - - - - -m - - 0 - - [— - - - - - - - - - - - - - -m - - 0 - - o - I - - - - - T - - - - - -m - - 0 - - [— - - - - - - n - - - - - - - - B - - — Q77 - 01T — — — 4@ S ...... % \\
-y 2 [ i ; (RN RS
1 N ! !
i bl = — — I-:f- In - - 7-]:I:|: - - H; - - H: - - -8 T B - - —_— = i - - = i - - fi - - H; - - k — - :‘f -8 T i - - — :‘: i - - = i - - fi - - H; - - H: - - B2 3 VI i - — - i - —J _t i - H: - - ml -J - — ‘_7 - > - _ -, 4@ T\leo\/.. Date Name
il -_ :l: I 2} \ \ [ \ ‘ _“ il 1 /@
w I A\ w w w - w ‘ | AT e A \ 1 |04002025  (CORIaCr
8 S3.1A Contract
- T 7 7¢A§3:1"/A/ |7 \LI - I;;\_ 4|_| 7‘ <|'|> - 30 = = H™ = =SS e ————————— IR ———————————— iy = = = H = = ‘ H = = 30 = = E‘7 - T — H = = = H ‘7 = T H —— = = H = = H = = 30 = = H— = =T H] b"a || e H| == T =0 % F_4 ﬁc_'] TBP_1 H - iﬁ — , _\-:I I_! 4 I - - 7/\ 2 06-19-2025 Cog?dﬁgt?(;n
N - _ _ il _ s - _ _ _ _ _ _ _ _ _ _ _ _ il _ _ I _ _ _ _ _ _ _ _ _ . _ _ - _ _ _ il _ _ I _ _ _ _ _ _ _ _ _ i _ _ _ _ _ _ il _ _ 1= PTES _ —1 _ _ _ _ It _ [ _ _
5 M A N/ N ! ! | ] | ] X ! w | ) | ] ! ! ! | ] ATRCCEDES B 1 s
N N = | i e - """\ " ¥4y ————""7rnw-— 7w — V" === I nr 11 1T —hT1 1 mr 771 B e e
@} R BNl T ;**l’ ‘*F-2.5#C-1 TBP-1 L+F-2.5ﬁ osTélP-anlfF - I i - - B - - - - - - - - - - - - - i - - i - 1 - T - - - - - T - - - - - i - - il - - B - - - - - - - - - — T |:‘*—Jﬁ - - L [ F-25 |[C-1 TBP-‘1 Ji i R R @
i y
S ? | i | | \ | F-25 |[C-5/BP-1 N
S |1 wFre.= 2 -0 ||l [T FTe.= 2 -0'] | | e~ O wF16. = 2- o'l |
1 A ‘ ‘ L ‘ 1 m m m m m m m m Iy m m m m m m m m m m ‘ m ‘ . = . - ‘ ‘
N | | Il F-4 | C-1|BP-1}4 | \ |
o N = 0 = ﬁ - = il - - » - - - - - - - - - - - - - i - - il - -— - T - - - - - T - - - - - i - - il - - » - - - - - - - N - - - @l = ix - - - */*@
os— S e a7 -1 -  _—_——_rr-———nrrr—— -t T g - MYVl g | alr = ) 08
O 6>7 = =Ny = | 1 (o) 6)
0.2— ‘*-'%EAJ':__JB—fr;“ﬁlL ll _ _ L _ _ _ _ _ _ _ _ _ _ _ _ _ | _ _ ll _ . _ . _ _ _ _ _ L _ _ _ _ _ | _ _ ll _ _ L _ _ _ _ _ _ _ _ _ _ = ———— a0 _ _ 0.2)
- T 71 —/ N ] = = T - - —! — I 0 - - [— - - - - - - - - - - - - - -m - - 0 - T - [— - - - - - - - - - - - - -m - - 0 - - [— - - - - - - - - = - - - -
- = ‘ - F-4 |C-5]BP-1 ‘ ”? ‘ ‘ : —'—
_’7 _ / ‘ 10" - 4" ‘ T/FTG. = _2"_ 0" m m m m m m m m f ‘ m m | m m m m m m m m 10"-4 ‘
& ‘ ‘ i 'i
®77777T;\;7=O 7i _ ,4|,—T-:|:|,7, h; _ _ il _ _ Il _ S _ S| — _ | — _ i _ _ | _ _ i _ _ i _ e e e — = = — i — — Ll — = I — — e e = _ }'," '=o’*§|”7*7*4®
(@Ff——f‘“ f‘.’\a')f-‘; LT/FTG.=-2‘-0"I .-.7| - jl ‘ﬂi - - - - - - - - - - 1 - - it - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - - TIFTG=-2"-0 - 7;—7—74@)
13 H ] == == == == == == 1 == =, , , :
@ N - - - JlJfﬂh, - N il - - B - - - - - - - - - - - - - g - - il - - %* - T - == - T - ST - H - - Frr - == - == - i - = - - - - *@
g 1 " | F_4 ‘ C_5 ‘ B P- 1 m m m m m m ‘ m m I.'ll m m ‘ m m m m m m m m ‘
< %( TIFTG. =-2'- 0" J ‘
e —l_H_:H.l— - — - - - — s - -— =)
- | \ ke (
_.fam. . o L 1. 2 ... .. . i N .k D
= t = = +¥ ﬁ =S = = = 0 = - Mm -——-— - -—-— - " — - =-—"fFF " —"— -V =4 -V == —/— ="ty = = “Th = = 0 = t = /= 7‘ — = EE = = 1 - -
0 L= ) piion e S
- - - T | - - — - T B - - B - ——w - - 7w = i - i - -+ - - EW\/\GCEF o] _ -~ | H _ _ _ ,_;777777774@
| | ] " | |
| F-4 [C-1]BP-1 106" - 11 || N
‘ T/FTG — _1, _ 4,, i) i) \\n i) i) [ i) [ii] G I
o ﬂ‘_'j_l“lll ey Mwwwfwww A JFF IS S O Y O
H12 1] _ _ _ _ _ _ L _ _
B I | — Jhlnnnr Hl B S —h7)
| B L %
|

%
£

M m [i¢] [i¢] [i¢] M m M FW

o |
llc-3 [BP-1

1" 5 | L
‘;Q‘ | TFTG.=-2'-0" F-4 4 C-1 ‘ BP-1 il Il i i l i I T/‘FTGF 4'-0"

~ TIFTG. ==4'=0" | -

TIFTG. =-2'- 0" | )\
eroe U]
1

o - | 77741"'7\;7/ TFTG.=-1'-4" | i B - - 777TF|':4T f'}Bﬁ” B B B B - B ‘7 B F-4.5 | C-1|BP-1
- - 7T_77777ﬁ7'7 - g - - - e - [FTG.=-1'-4"- e e - o e - e -

L]

- i - - T - i

B ~ B - B ‘ o v ~ B L =| - ~ B ~ 7I."l - B ~ - ~ l': ~ B - B 7!."! - ~ B ~ B :’; B ~ - ~ — x'l; —_ - B ~ - m ~ B - B - ;7E1 ~ - ~ o + o ‘?Q' B B 7 - I - B m B B - m B B 7!."! - B 7I."l B - l': B B m - - - m - - - m - - - ij; - f\i - - - - - - - \F 8 @
B - L‘_IJX F4_[Cc5[BP-1]) ] — | ,7,7|,_ | F-4 | C-1BP-1 B ~ ¥ 2l (7 | - ] N B e B | | L B e B S M o B - F.1
B - B I B TIFTG _ 2'. Q" — EFE _ B - B 7:Ei77777:ﬁ:77*7*f:*7*7* ] T/FfG :—1‘4:4" B B TL B g 7§7 ?777 a | o [ Th - B T B - T B B i - - H - - Ho - - h - T H - - - B 77Q - - - - -
| | o F-4 | C-1[BP-1 F-5 | [C-2|BP-1 |_‘_| / —r | 1 R é o | ‘ o

(1N [ J:—l / T/FTG.; ' 4" T/FT?- =-2-0 - r I m T 7 % |2 | " i i 4 b i i i | 5 :

_ _ _ | _ o _ _ _ _ _ _ _ _ - - o . ] I _ _ _ _
LT | SR s St
|

C 1

s Il i || S S ——
I

m f

&
|
|

=
|
|
|
=
|
|
|
o
|
|
|
|
|

I - - ,4‘_:*:7: i — -
7 e , , | \ o |
| K | F-45 |C-1]BP-1 | | | ! % 7|:!_!4717“C_47‘BP_177 |—‘-J

T

\
\
\
\
:
\
,
\
|
\
|
L
T
\
\
=
44|4
:

o
~\] T e — [ - - - ';?;77 - 0 =
b | F-45 [C-1|BP-1 TFTG. = -1'- 4" 5 | | T/FTG.=-2'-0" \ |
TIFTG. = -1'- 4" | Loy o @ ‘ L | | |—|— -

m m m m m ‘ L 1 ‘\
_ _ _ [ _ _ C _ _ _ _ _ — T _ _t =y _ _ _ ‘ _ _ _ jJ; _ _ ‘: _ T :; ) _ _ ‘: = T — — = _ — — — _ [L: — — — — — T W — _ : — — = _ !! E-ill! _ :ﬂ —! _ _ _ _ _ _ ES—J :
- - - il - - i - i — o — B = - N - - ! - - L - I - R 1 T — 1 — - ki - - - - ik - — — T - - - - i - RN - - - - (@
I I I I I | F45 [C5[BP-1] 15 | - F-4 |C-6|BP-1 I I I I I i I I | :
TFTG.=-2'-0" JE I g | I S S _F _ - //L _T/IFTG. =-2'-.0" = —— — |
- | S g g g A \1 W e -!__ _!- ~ |l .p | gL 5 Wl F4ilcalePAl - - Fa4 lcalBpal - [ Fah|c5]BPAl - 1| S N SRR
— T 5 | SR e - R ™ ] | BN TFTG.=-2-0" (] \ TIFTG. =2 - 0" \ TFTG.= 2 - 0" \l\ | _
m m m m I— —'— 1 ‘ I— ‘j ‘ I— 1 - :T ‘ ‘ ‘ ‘ ‘ :_ :T ‘ m m m ) I.'l — 2] 0m Ml .:
I e [ o I W Tyl wm L T Ty T 1 o |, \ _F4 [c6/BP-1), \ | F45 [c-6/BP1| | o Il l_,__,_u,__,_,__u_,_f_,_u_, _—(T ,l E ,l }_FJ—lli_ ,l _L__l___-lj_ L—l S N N A B ,@
i i L /“” | : — ; = Ii_‘; JIT \‘:§ L TFTG.=2-0", TFTG. =-2'- 0" A*“:t | &N | /“P i_\_i | i_‘ _i i_‘_l i_ ‘_i i_‘ _i 3
- L | *' ‘ ‘ -
‘ - - I_/_ - 1 - ‘C_G‘BP_T‘ | - - - F4! Ceﬁsm (‘ F-4 \Céll\BF!M ‘ ‘
TIFTG. = -2'- 0" - -34BP- - -4 |BP-
g (1 F-45'|C-5|BP-1 | F55 | C5]BP-1 | | 45 [cs]BP1] ; o 1 2N | TFTe.s 20 | e s o | 1 ISSUED FOR CONSTRUCTION
74% \$3.1A/ TIFTG. =2 - 0" \ TFTG. = -2'- 0" | \ TFTG. =2 - 0" \ | \ A1 \$3.1A/ | \ | | | %L
; 37'-8" ; 32'-7" ; ; ‘ 31'- 8" ; ‘ ‘ 26' - 8" ; 4;1' -0 17'-5" 4-0 32'-6" ‘ ; 41" - 0"; ; ‘ ; PROJECT
] | | | | | | B ] | | | | | ] | |
| 9-6" | 10 - 0" | 10 - 0" | 10 - 0" | 10" - 0" | 10" - 0" | 10" - 0" | 10 - 0" o g-g 1"-21" 10" - 0" 54 4.y | ToT 24 10 - 0" 1"-‘0" 7.7 s 0.0 | 10 - 0" | 10 - 0" | 10 - 0" | 10 - 0" | 10 - 0" | 10 - 0" o725 | |5-158") 10 - 2" | 9-6" | 19th |_
, , , , , , , , , ’ , , 24 p S5 , , , , , " " r g , , dane
g o T g g g g g g 1 1 7 £ 1 1 1 1 1 1 1 g s 1 Tl o g
; ; ; ; ; ; ; B A e S — ; ; ; ; ; ; ; Vero Beach
\ \ \ \ \ \ \ \ \ [ \ \ \ \ \ \ \ \ \
| | | | | | | | | | | | | | | | | | | | | |

i Storage

O L Ldh db be b & i b dbdb dL 4 Storage

3. Foundation Plan ADDRESS
W Hers Vero é?at;]c\h/agféz%s

N
—_

FIRST FLOOR F.F.E. = 31.00' NGVD

SECOND FLOOR F.F.E. = 41.67' NGVD CLIENT
THIRD FLOOR F F.E = 52.33' NGVD

TOP OF FOOTINGS REFERENCE = F.F.E. = 0' - 0"

(FIRST FLOOR - REFERENCE ELEVATION) J
DO NOT LOCATE FLOOR SLAB ON GRADE CONTROL JOINTS G i

IN THE CORRIDORS, PARALLEL TO CORRIDOR DIRECTION ,
(TRANSVERSE CONTROL JOINTS ACCEPTABLE). MASONRY WALL REINFORCING NOTES:
COORDINATE CONTROL JOINT LAYOUT WITH CORRIDOR

1. SEE PLAN FOR REQUIRED VERTICAL REINFORCING.

LAYOUT. AT
2. LOCATE REINFORCING IN CENTER OF WALL AND GROUT SOLID Shamrock BUIldlng
3. HORIZONTAL JOINT REINFORCING SHALL BE HOT DIPPED GALVANIZED SyStemS, Inc.
REINFORGING WITH (2) 9 GA. RODS AND 9 GA. CROSS WIRES AT 16" O.C. IN ALL
Structural Column Schedule EXTERIOR WALLS. ADDRESS
4. INTERIOR WALL HORIZONTAL JOINT REINFORCING SHALL BE (2) 9 GA. WIRE
Type RODS & 9 GA. CROSS WIRES AT 16" o.c 1298 Concord Road SE
Type Mark Type Comments 5. ADDITIONAL VERTICAL REINFORCING REQUIRED AT: Smyma, GA 30080
(COORD. WITH DETAIL 2/S4.5A)
C-1 HSS4X4X1/4 _EACH SIDE OF OPENINGS.
o HSS4X4X3/8 -WALL INTERSECTIONS. SHEET TITLE
-ENDS OF WALLS.
_ -EACH SIDE OF CONTROL JOINTS (COORD W/ ARCH).
C-3 HSS6X4X1/4 -PILASTERS AS DETAILED.
C-4 HSS6X4X5/16 -AS NOTED AND DETAILED ON DRAWINGS.
C-5 HSSEX6X1/4 6. PROVIDE BOND BEAMS: FO U N DATI O N
(COORD. WITH DETAIL 2/54.5A)
C-6 HSS6X6X1/2 -BOTTOM AND TOP OF OPENINGS.
-JOIST AND DECK BEARING (CONTINUOUS). P LAN
-TOP COURSE OF MASONRY WALLS.
-AS NOTED AND DETAILED ON DRAWINGS.
-PROVIDE CORNER BARS AT ALL BOND BEAM INTERSECTIONS (B U I L D | N G A)
, 7. PROVIDE MATCHING DOWEL FOR VERTICAL REINFORCING INTO FOUNDATION
Structural Foundation Schedule AND BOND BEAM AT ROOF.
Type Footing 8. PROVIDE CORNER BARS AT ALL BOND BEAMS.
Mark = Dimensions Reinforcing Remarks 9. FILL ALL MASONRY CELLS BELOW FINISHED FLOOR. WHERE GRADE IS ABOVE Date:
FINISHED FLOOR, FILL ALL CELLS BELOW GRADE. FILL MATERIAL SHALL BE 2000
F-2.5 | 2'-6"x2'-6"x1'-0" | (3) #5 EACH WAY PSI (MIN) GROUT. 04-09-2025
F-4 | 4'-0"x4'-0"x1'-0" | (4) #5 EACH WAY 10. ALL MASONRY STRUCTURES SHALL BE REINFORCED WITH #5 BARS VERTICAL
F-4.5 | 4-6"x4-6"x1-0"  (5) #5 EACH WAY AT 16" O.C. MAX. IN CENTER OF GROUT FILLED CELLS. PROJECT NUMBER
) AR ("] O" 11. PROVIDE A 8" WIDE x 16" DEEP BOND BEAM w/ HOLES PROVIDED SO THAT THE 23-131
F-5 | 5-0"%x3-0"x1-2" | (5) #5 EACH WAY VERTICAL REINF. MAY PASS CONTINUOUSLY THROUGH. REINFORCED W/ (2) #5
_ 6" 5'-B"x1'_O" CONT. AROUND THE ENTIRE PERIMETER OF EACH MASONRY STRUCTURES. TOP
F-5.5 | 5-6"x5-6"x1-2" | (6) #5 EACH WAY OF BOND BEAM ELEVATIONS OF 10 - 8", 21' - 4", 32' - 0" ROOF DECK BEARING AND SHEET NUMBER
TOP OF WALL

S1.1A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:23 PM

Kéysfone
Structural
Engineering

A A~ A~ ~ ~ ~ Professional Consultants
© 9 © © © © @ O e woows G 0 ® w 0 ® ® Eai mew @ oFr
- ~ ~ 531 Roselane Street
Suite 150
o ! ‘ ‘ Marietta, GA 30060
| | | (404) 483 6921
I I I | I I I I I |
[
‘ L 10'_2“ 9“ 9|-6|| L
py. \\\llll,l'
N I I I o I fl 1 1 \\\(\)P\N FC 0@,,,
e W o ) C 4, SONCERTHD,
, 9'-6 8v 10'-0 , w I I I I W I I I :Q)." 7 b Tl A
l. NO 24:\4—‘ .' &
| I | | | | Lo I | I | | | | I K I - ; \ * : 2\
- A‘ - g\i - - - - T ﬂ — 7:'! — — f'.T — — f'li — di — m — — — m — — — m — — — el — — 7:'! — — f'.T — — T — — - el — — m — — I m — — — m — — 7:'! — — f'.T — ﬂ — f'li — — m — — — uel m — — — m Aﬁ f17 — — I - - - - - - - 4@ : '. i\f\. /.\ : : . \
: — | — | | | — | 2 s WAoo s
1 m m m e = N m m m m m m Iy m m m m m m e = N m m m m m e = N m .. { '.
© @@Wm f NOTE #4 | Co N | | i | | | | Co N | | PN 7~ NOTE# il | YO om0k {)\é‘(\‘
<:> N N _ _ _ _ I il _ _ U _ _ Nas _ _ _ _ _ _ _ _ NI _ 4 _ U _ R (I | _ _ _ _ | _ _ _ _ _ B/ - U Nas _ _ _ _ _ | 1 _ _ _ L™y 4 _ a. (I ~ N NN N\ ,@ ',6555‘" ------ N
| | W8x10 h\.' b© R | | 1‘\.' o b © Jr“.' ° |y, Wexi0 | X ,‘LS"/H“I\,“?“\\
© |z 10'-6 1/4" JE _ U = 10'-6 1/4" N\
E(') g N 1 m n| % C\I§ﬁ ;‘/7 [\_II_%LE) #5 m m n| % m m [Osﬁ o n| % m m m n| % m Nsﬁ ;/7 [\_II_%LE) #5 m n| % m m %5ﬁ m NOTE #5 R
L : ' S ' ' ev.
7777%" :7:‘7:(:&(1:5.37* fi:i::oaojiii:o,Lo::Aﬁ@ oi:i:oﬁo7:701Lo:7::0E|LO:7::‘07:0::7::0'&o::f-fvg,:ojii,‘iojllojji:oﬁb7:7b£o:7::0&o:7::O,Lo::7::OHO::Qﬁ :ofiiioﬂojji:oio7:70J&L‘o:7:j‘,oﬂo;&9 o LAX4X3/ ! AL*C10X15'3*7‘: = = — - No. Date Name
= 8= an N~ N~ N~ N~ ™~ N~ N~ N~ N~ N~ N~ N~ N~ ~ N~ N~ N~ N~ N~ N~ N~ ~ N~ ~ N~ ~ N~ ~ N~ ) I ~ N~ ~ N~ ~ N~ N~ s ~N a v a8 /

RE & of, 10-8 noress SIS Mg = g 2l g 2l g 2l g 2l g 2l g = gl g 2l g 2l g 2l g 2l g 2l g Mg = g 2| g 2| g 2l g 2z | 108" o /5 Ry Coniractor
= 6 | % 0 ol © ol © - Sl © Sl © Sl © ol © ol © Sl © T ol © Sl © Sl © Sl © ol © ol © Sl © = Sl © Sl © Sl © o ll'o Olle T | w i S & 1 104-09-2025 0\ inati
© =1 b | all « all « - all « all « all « all « all « all « SN | I N | I all & all & all o all & all & - all o all « all « ol T lai -t = Ik X oordination
vl x| / = nll v nll v o nll v nll v nll v nll v nll v nll v ol ol w nll v nll v nll v nll v nll v il » © all v nll v nll » %8 | %) Nl | O _NOTE #5 5- Contract
I\ gle 0 ol © ol © L NS) ol © ol © ol O ol © oll © oo oll © oll © oll © oll © oll © oll © oll © oll © oll © olllo ollo (2 & =2 2 104-17-2025 ontractor

1 GFT\/IC7127X71E N T O OO O RO O —— OO —— = —— O O === —O O === =0y G- ——==0 Q***‘f)vﬁﬁ - ®— — ——+ © |co—f——co - O OO O - =0 |—coff—f—<o O—=—N—OH O— = O ©— - —— -© |co—f—co e B ;¥ | Meizxias 1O ™ wexto - Coordination

TN . (j) _ _ N . - . TN

Q.6 i — L &S — — - — — R m—— — — — 41 — — I - — — — — — — — - N — - — — — Bl — R — i - — — — - — — — - F — — - — — — 41 — — s - 1 St — I~ o A — — - — Q.6 Contract

Eggi R - 10'-8" S Cr o BpN——g NoTEw o . e SV & NoTE#s i IR (NN SRR SR S o4 - NOTE#S o kL N ,,°’N>WE; Laxaxsgl T 10-8" | 10'-61/4" ] j&; 3 |05-30-2025 ~ ~2oNiEo

N 8 N * IOTE N (TYP) T N i NOTE #5 s (TYP.) & .' | NOTE #5 N

@} - T =\ . = - =i #8 T o - - F SN~ - - - - - - - - - Jﬁ - -—t - - - - N — -'——'Hlt- ———— —— — —_———— ————— e DNy e | i < N 4 -—A- - - - = - - - - - @ 4 06-19-2025 Contractor
~ = i © N e SW-2 © il : ‘ o |& Coordination
= C = = - o< ! < 2 \NVE R
A OI Q || NOTE 0 r1| %5ﬁ m m m nl m m | _' o r1| m m m r1| m %5ﬁ m m r1| m :_ ! m ix? § (\Il
ol = \ | ; | IR | NOTE#5 | | | . — MY | o =Z|. 1 \ W8xX10
i —— Mo o - il - - L - - - - - - - - - e - R [E—— - il FN— % - B - - - - X - - - - - G - ™ O - - - - - = - ~ u| NNOTE#S € — - gi S Laxax3gl 4l MC12X14.3 Q/J, —5'-21/4" - - 7*@
(0.8— /J:&S - 5' - 4" I L , L “:4{; N ~ ~ ' ~ : \W F\A \ ( a8 =RYT N \g)
(OB) = = NU - [ - T i - - TN T - - - - - - - - - - - (. - - i - = I~ - + ‘|H - - = - N - - - - - 1 - - i T TN r - - - - 7*1“F - - L = - IE N— B - - Y I i 1N OG)
. Q ": - C1ox15 3 l_ NOTE m I."IL -@ ﬁ m m m f'l| m m ; _ m 0 % m m m 0 % m -@ ﬁ m m 0 % m -— Elo m m S -@ ﬁ n % C1ox15 3 é _I ><.><
02— % ot o > ! N NOTE #5 ! i o . 5 0.2
( 1 ,ql- N — MW 75| _ 4"7 —— AJJ‘@% = n: - - — - [a L — - - - - - - - - - - - :n - - i } 1 ;: I gy - L . - - - - - - - - - - - 7“!7 - - n: :_,= - = - - - - - :rJ: - - = 7<Uj<NOTE #5;4;;}‘% 75| B 4"i p— JQ - - 1) _ 7\ >
- N R | < | | QLN | < © g . NE |
W8X1 O F\ Ll.l_J |‘| m I.".|| g\l gﬁ m NOTE #4 m m I.".|| m m : ®? ql- q I.".|| m m m I.".|| m -I N 3ﬁ 1 [\_II_OYTF-’E) #5 1 I.".|| m w ql- NOTE #5 m = <|r E W8X1 0
- :'QI 5-21/4" s O NOTE “.D TYP. A 0 \l L] / o DG — Ne) 5'-21/4"
[ 7‘7 N " - - Ny 1l 2 = 5 - =20 - - m O — 57 ( - ) - [:¢] - - ] - - T - - | m - - ] ‘(ﬁﬁ | ‘CD - — - —09 Q- — - 704-][07 - Q2 e— - gﬁo Q= - 2 —  — ¢ — —— R ‘07 — 12 \—ETZ - 4@
. < LA A AN o N . ~n = ~ &~ ~h &~ ~ 0 &~ ~h & ~n = ~n = ~ | = Sy Py
T o . N o | I 2 2 2| 2 2 2 F1 BN ] (= 2 2 2| 2 2|2 S N8
I S e wf L Aas . A ol T wolls T affe T offe T ol T ells T T afle T sffe T o ll*Y [ w L)
| 11 j g | m n| o u— m m n| | m m - | _ o | N o | N o | o o [ o _ o [ N o [ o o [ o ~ [ ‘C\I I ~ [ _ = Il
NEe NOTE , SW-2 My D » 08 | M%) D @« D @« 0 08 | M%) D R 08 | M%) 28 | I, ] '\ O
v,7+;#5 - ey 5 g SWw2 5 ) ] | gl g L RS gl g L RS « o3 oll & L RS gll'g L B 1Y
- - - - - + ~ = = == - = aﬂ}—— 3 ===t = OG- —— O O ——— - —— Oy O-=-—— — — O g ©— — N—OH ©— = O ©— = — O d® —  —— OO —— = O g = — — - L - - - - - -
q |, : N"—wifwo © l ©
== 1 N | ; SW-2 [ o J = | | | [ | o \ o) /1 5
gl S S ) -l NOTE #5 Ry Ay N e
= : © :9 L>t'§ ‘ L>t'§ m r1| % :@ N r/ m m r1| % m m — ‘,: _l m m r1| m [\I :@ N 1 [\-II-%I,E) #5 m r1| m me=N ﬁ‘ S 42 A
! 1 ! ' i 1 : “N - ' .
LN — _ _ _ 1y SN ) | 1 _ ol _ —ml AN . _ _ LB _ _ ol B L _ _ _ _ _ i _ _ L Na - » _ _ _ _ S| _ ol - ,4@‘\,, i sl I _ 1(F A _ _ _ _ _ _
N Te] _ T | DN D T T T | T t _ T t | f = th ot | ot f
: - oflo . oN : N Nz,
~ alls | © | = © = L " NOTE #5 /@
= = = B = = — = = =3 = = L = = = = = = = = = = = = = = =4 E:E‘Tz = | = = = = = = = = =4 = =DIN= = = = = = == = = = = = =t ™, = = = = = = = = - — D
‘la L4X4X3/8 N OTE e —m N I T oF | ~m o1 | i | T [ I— *nl 53 .@ -t ‘nl i ‘—I [ i— ATZ\ il @@
|- #8 L L N NOTE #5 f\/IWYWW i = | .
- - - ch 7Q77 - @4‘ f\lii T H7 - - H 7a7ﬁiﬁ e 1 - N - - - HH - - H - ‘ ~ - T Mmoo - - || - T 7 SW2 il 74_ T 7’=©;ﬁ m - - eI - 77:4“7 - ] - - 7:TQ’=© ‘r:7 - Y = - - - - - - - (o
- o 1= S = N - 1 o
3 X~ | £ N \ | | S | | WM | B NOTE #5 | | AN £l A
g _C') o g R m m [Te) :@ N 0 NOTE #5 m m m m m Se f @ m m m | m :@ N 1 m | m moy % N | %
— - 1 o = = C
- - - 7: 7‘[4X4X3/87 - 37 ‘9 - - ] - - r1|7 Ell E\II Siﬁi 1 - - m - - T h - - - r1| - - “m - - Ll T ’%g :% NQTE il T 45'5;' - - = 453;\ - T T T Jrg; - - - E:]: - - Jr:li - - E'j; - EQI E\II §§ g %L - - — = 45'5; - - = 45":.|> - - = JrgT I Ei E\II N\ i B o o o B o - QW
o o _ o Mo o o o _ o _ o 7—©7 o o o il o o 1 _ o o o _ o o o _ 7= U . ~— i o | o o o il o o | _ o o o _ o o o _ 7‘_—© w0 o _ o o o il o o 1 _ o o o _ o o o _ o :)
I a | > I ©f I {3 T
- - - ’ - a - T el - - r - =© = - - - - - - - - - ﬁlﬁ - - ~m - - el "9"*_' - - T - - - - - T - - ] A NN — NOTE #5 — - - - @ - - - - —m R T~ - - - - - /@
1 ol K | BN W% | L / | | | Gl N {H.
- - - Bl - 7;7 - 7§4 gi - B E'T - - f'lr - g&f‘ m - - - m - - - m - - - l'ili - - 7:'! - - E'T i’—’ﬁ - T ;7 - 7F - - 14| - - F;___-j_‘ e —_T;- I _H_—__ 1]T ‘ —F;__T [ - - - - - - - 4@
A Sl ; - . o~ SW-2 N o
1l ! Al Y a | Ty | : . : | |
N~ ; -8 m I.".|| :@ gﬁ m m m I.".|| m m ; _ ! N ﬁrl (31 )O#é'FS égl-Rol\‘; IE_g N‘ G ) % rjl % fl g =© 3ﬁ fl fl rjl % fl fl g 3
_ _ _ il _ _ ! _ _ il _ _ AN — _ _ _ _ _ _ _ _ _ _ _ _| _ _ il ,’—‘7 _ I I __ _ _| _ _ il O AN - L _ _ _ _ _ _ _ _ _ ! _ _ _ _ _
_ _ i — ﬂ _ _ ] _ _ nlj K:Q)é _ h i _ 54: _ i _ _ ;01| = i N - JL@ 3"o0.c. INSLAB AT - — - J'lli _ _ 0 7.L=G33ﬁ h _ _ h _ _ i I _ _ _ _ _ @ My _ _ _ @e
- - XX — - - — — —— — - —— — —— — 4 — G- f—— - —————d =% - — —— 1 - 55 3 - —— |- "OUTSIPE"CMU - -—t-— -y - -— - F.8
- - H - R e e e -1k f-—N—-p-—— g — - P
} & —Q m 0y N ) m m 0y m m : -I .% m CORNERS (TYP.)E'I % f'l| m =© ﬁ m NOTE #4 m f'l| m F1 .
= = = f“ = “i:::é;::::::m‘ﬂ:m:::::mﬁ‘il:m::ﬁ mﬂl:m:::::&::::Aff‘ g::::b‘:m:::::m‘ﬂzm::i‘ié ::é P = /\/i\_/)\“\_;/\/\ /\:/\ /\/\;/ = =t = = = ::E:.S: /(T:YP) = = = = = = = = = = = = = = - Q@
-— _| ‘C_) ‘(2 ‘C_) ‘ ‘(2 ‘C_) ‘(2 i} v ‘ < ‘C_) ‘ ‘(2 ‘C_) ‘ ‘(2 é _ 10 0 m nl m .@ N 1 m | m
5 Z|o < x < X N P X o I N ol v < x P X ale '
Frrt . T 0 | 0 0 | 0 ! 0 | 0 v B ! % | (C,\I) 0 | 0 0 | 0 2] I | m g\' 5ﬁ m 0 r1| m |
S4.2A o . all & Al 3 oo @ || & S| | ol o @ Il & oIl & T © E.2
- - SN - - —Q O**7**01L*O*jj O —— OWOQo — - —— T - %® *7**0#0**7**0 [ i —— =18 by = ) e i B - - - - | - - - - - - -
- - - T - 75 ‘7 7‘1 — — 7@ wi === 7w I:wi wi == 7w w —_— = ;77‘9 — |7 ﬁL‘; Lo ——— 7@ 7w7 —— 7@ wi — 7237 — — — w r7 7=7=©5‘7 r17 - - m - - - m - - - m - - - - - - - #D.7
_ _ _ ! __5d_ | = = i = = I _ _ lo UL 3o - _ L _ _ | _ __< Il e Rl I _ _ _ S || _ _ _ _ 1 _ _ _ _ _
- - - il :7-W§7: 7:'! - - I.'T - - I."l: := N m - - 2 :{::: Lrl)::; Y - - 7] - - B - :;N: | I.'T 77_I-W§7: I."l: 9%: m - - - I.'I - - n m - - - I - - - - - N <D.5
N [ e I . N ) I =
- - - J’L&ﬂ%?\i - i - *4$3r7§§"5 Jntfiffffffffgzsfwc; 8* - . - - - - — ' —QEo—-—N¢2 *,‘2**7*2&,‘27*7*24,‘27*7,94*”,‘2*7*4,‘2 ik - - - - - - =
= TN R norem g ©f o[ 2f\2 3 o 2z - g2 2| g HE 212 2 |
o] P NOTE #5 |§' A PN X - 3 ol © - ol © ol © ol © o | o ©
it E\Ug—@ﬁf\] i & a3 i ) N i NOTE #5 8@ 8@ g @< o :’\0; SN o SN SN SN SNy ey i1 CcA
. - - 4 e . i - - = - s 4 ola - - . - R =) g S SN oo - o - S S | NS SR oMo — - 1O s - - - . - NG
= = = 1 zg&v9§ NOTE 85 o = = Fii A\ == O = %:::::é%:f?::::§:‘\,':::::§ :‘\,'::::::::::Efi :::§> =®© ©gﬁ©=K<°\© O— == © 4 © =—— ©3{O=-—=—F© = = = = = = < g@
i K ] ! N [ — = = < < | | \:)
s\l sﬁ m m f'l| ?\I = 5 m t ; -o & & = sﬁ m - ~ _' ? _I m &) = sﬁ m NOTE #5 m NI m
© Yo - NN ; © = © © Q
K |  ox A & W18X35 o (TYP.) 7 2 S 2
- - - T’S\I — T - - g7 - - = |§\I = - - - - — - — AN = - - — - — B - *w:if - - g7 *_’é\l — — - - - - - ——— — mr S — - — X — - - - - - - - - *
Ao N orem | B N - S — @, 107 2172" N© % X Byl (A
f ' N ~ 1 -
N E\];ﬁ m (TYP.) m m N E\ISﬁ m m - ! Il-I—J _O' W18X35 é N m C E\ISﬁ m m al - - - m :F\§ ‘
It L | L ~ P %L ! 10'- 2 1/2" ! > - I Lo I | NOTE #5 |
N t t t -\ t t N o -~— t -\ ta 1 t
e e - - il — > — — = — — — -~ = = = — — Aﬁ*?ﬁ*iffﬁtr;)quﬂg ) u%:ﬂ - - T - - - - - B - - - - - L= — — = B — — — *7**#*7*4T* ﬁﬂ’*i*i*‘?* - - - - - - *4®
N | . R % | | [6-125T3x059 ) & | R | N o SEE L4X4X3/8 BRACE | N o 1 N
n SE o o ‘ ‘ ‘ g |E n ATTTACHMENT IN DETTAIL 6/S4.3A
TYP. Ll 3 3 8 | ISSUED FOR CONSTRUCTION
I w N . S S | S g ! I I w | | I I I
| ‘ 6.125T3x059 | |
2| -4" 8| -4" 8' _4" 2' _4" PROJECT
I [ ,{ \ | / ,{ [ Lol Lo I I I
6CS2.5%059 —— ‘ ‘ W
@ 2'-0"o.c. MAX.
I | I \ | I o Lo I I I 19th Lane
I | | | | | | | I \ | I | | I I | | | | | | I I I I | Vero BeaCh
A} - n 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " L} - n 1 L} - 4" 1 1 - " L} - 4" 4| - n 7| - 7" 2' - 4" 1 1 - " 1 L} - n 7| - 7" 1 L} - n 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 7' - 2 n L} - 1 " 1 L} - 2" 1 - n
9'-6 LﬂL 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 8-8 { { 0'-0 4L 5 4L 8 P 0'-0 0 { )5( 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 LﬂL 5/8 4L 4L5 Wj‘u, 0 LﬂL 9'-6 4L St
9"j\ | | | | | | | | Il | T | | | | | | | 8 3/8"j\ | 211 1 43/8" 1l 9"j\ | | Orage
: x x x x x x x i H i x x x x x x [ : ) Buildings
| | | | | | | | | | | | I | | | | | | | Lo | | |
13.714 @ @ @ 21.1 21.8@5 22.8é @ 24.2 ADDRESS
N— — — —

89 G0) s (1)1

19th Vane,
Vero Beach, Fl 32966

Y oy
&)
)
()

2 _Second Floor Framing Plan 3

S21A)  1/8" = 1'-Q" @ CONCRETE FLOOR SLAB TO BE: 5 1/2" TOTAL 3,000 PS| CONCRETE SLAB REINFORCED WITH MACRO SYNTHETIC FIBERS MEETING THE IMPACT DRIVERS ARE NOT ALLOWED FOR ALL METAL CLIENT

CRITERIA OF ASTM D7508 AT A DOSAGE RATE DETERMINED BY THE FIBER MANUFACTURER FOR THE APPLICATION, BUT NOT LESS STUD SCREW INSTALLATIONS

THAN 4 LB./CU YD. PER SDI ON NEW MILLENNIUM 3.0 CD COMPOSITE DECK W/ #12 TEK SCREWS IN 36/4 PATTERN & (4) #10 TEK SCREWS

AT SIDELAPS, TYPICAL, 50 KSI = Fy USE SCREW GUN WITH TORQUE SETTINGS CALIBARATED
2 (2) 6CS2.5x070 HEADER w/ (8) #12 TEK SCREWS AT EACH END ON EACH SIDE. TO SCREW MANUFACTURERS SPECIFICATIONS.
3. (2) 10CS2.5x105 HEADER W/ (14) #12 TEK SCREWS AT EACH END ON EACH SIDE.
4, 4CS2.5x070 "CEE" TYPE METAL STUDS @ 30" O.C. AT ALL INTERIOR BEARING WALL (BELOW), TYPICAL. DO NOT PLACE OR OPERATE RIDE-ON TROWELS WITH
5 (2) 4CS2.5x070 DOUBLE STUDS (BACK TO BACK) AT ALL INTERIOR BEAM ENDS, (BELOW), U.N.O. TOTAL WEIGHT OVER 1000 LBS (TROWEL + RIDER) AND -
6 ALL INTERIOR DOORS AND NON-BEARING PARTITION WALLS BY OTHERS, TYP. NO OTHER ADJACENT CONSTRUCTION LOAD ON FRAMED
7 USE 6CS2.5x059 GAUGE "C" TYPE METAL STUDS AT 16" o.c. AT ALL EXTERIOR WALLS BELOW, (TYP). PROVIDE DOUBLE FULL HEIGHT FLOORS. ALWAYS MAINTAIN 30' MIN. SPACING

STUD AT EACH AT ALL WALL OPENINGS. BETWEEN ADJACENT TROWELS OR ANY OTHER
8. (2) 4CS2.5x105 DOUBLE STUDS (BACK TO BACK) AT EACH ROLL-UP DOOR JAMB, (BELOW), U.N.O. CONSTRUCTION LOAD. Shamrock Buildin
9. (2) 8CS2.5x105 BOX HEADER w/ 6T2.5-105 TOP AND BOTTOM TRACK WITH (2) 6CS2.5x059 STUDS EACH SIDE OF OPENING. d
10. PROVIDE ELEVATOR RAIL ATTACHMENT AT EACH FLOOR LEVEL (CAST INTO FLOOR SLAB) TYPICAL.
11, TRANSVERSE NON-LOAD BEARING SHEAR WALLS SHALL BE 4CS2.0x059 "C" TYPE METAL STUDS @ 2' - 6" o.c. TYPICAL Systems, Inc.
12, (2) 8CS2.0x105 BOX HEADER W/ 4T2.5-105 TOP AND BOTTOM TRACK WITH (2) 4CS2.5x059 STUDS EACH SIDE OF OPENING.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

SECOND
FLOOR
FRAMING
PLAN
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S2.1A




6/19/2025 12:48:29 PM

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

©
&)
2)
(2
0]
®)
2
=

L L

Jﬁgﬁ% é@i@% @@5 é é

_/CS
N

L

e

%

£

K

L

i

%
I0)

.

|

|
[
Oy OyOym
WA AN AN

o)

(

™
©

/2> Third Floor Framing Plan

\8228) 4/g" = 1'-0"

akwn

No

@ CONCRETE FLOOR SLAB TO BE: 5 1/2" TOTAL 3,000 PSI CONCRETE SLAB REINFORCED WITH MACRO SYNTHETIC FIBERS

MEETING THE CRITERIA OF ASTM D7508 AT A DOSAGE RATE DETERMINED BY THE FIBER MANUFACTURER FOR THE
APPLICATION, BUT NOT LESS THAN 4 LB./CU YD. PER SDI ON NEW MILLENNIUM 3.0 CD COMPOSITE DECK W/ #12 TEK SCREWS IN
36/4 PATTERN & (4) #10 TEK SCREWS AT SIDELAPS, TYPICAL, 50 KSI = Fy

(2) 6CS2.5x070 HEADER w/ (8) #12 TEK SCREWS AT EACH END ON EACH SIDE.

(2) 10CS2.5x105 HEADER w/ (14) #12 TEK SCREWS AT EACH END ON EACH SIDE.

4CS2.5x059 "CEE" TYPE METAL STUDS @ 30" O.C. AT ALL INTERIOR BEARING WALLS (BELOW), TYPICAL.

(2) 4CS2.5x059 DOUBLE STUDS (BACK TO BACK) AT ALL INTERIOR BEAM ENDS, (BELOW), U.N.O. PROVIDE DOUBLE "CEE" STUDS
(BACK TO BACK) FROM THIS FRAMING LEVEL TO FOUNDATION BELOW, UNDER ALL DOUBLE "CEE" STUDS AT THIS LEVEL.

ALL INTERIOR DOORS AND NON-BEARING PARTITION WALLS BY OTHERS, TYP.

USE 6CS2.5x059 GAUGE "C" TYPE METAL STUDS AT 16" o.c. AT ALL EXTERIOR WALLS BELOW, (TYP). PROVIDE DOUBLE FULL
HEIGHT STUD AT EACH AT ALL WALL OPENINGS.

(2) 4CS2.5x070 DOUBLE STUDS (BACK TO BACK) AT EACH ROLL-UP DOOR JAMB, (BELOW), U.N.O. PROVIDE DOUBLE "CEE" STUDS
(BACK TO BACK) FROM THIS FRAMING LEVEL TO FOUNDATION BELOW, UNDER ALL DOUBLE "CEE" STUDS AT THIS LEVEL.

(2) 8CS2.5x105 BOX HEADER w/ 6T2.5x105 TOP AND BOTTOM TRACK WITH (2) 6CS2.5x059 STUDS EACH SIDE OF OPENING.
PROVIDE ELEVATOR RAIL ATTACHMENT AT EACH FLOOR LEVEL (CAST INTO FLOOR SLAB) TYPICAL.

TRANSVERSE NON-LOAD BEARING SHEAR WALLS SHALL BE 4CS2.0x059 "C" TYPE METAL STUDS @ 2'-6" o.c. TYPICAL

(2) 8CS2.5x105 BOX HEADER w/ 6T2.5x105 TOP AND BOTTOM TRACK WITH (2) 6CS2.5x059 STUDS EACH SIDE OF OPENING.

IMPACT DRIVERS ARE NOT ALLOWED FOR ALL METAL
STUD SCREW INSTALLATIONS

USE SCREW GUN WITH TORQUE SETTINGS CALIBARATED
TO SCREW MANUFACTURERS SPECIFICATIONS.

DO NOT PLACE OR OPERATE RIDE-ON TROWELS WITH
TOTAL WEIGHT OVER 1000 LBS (TROWEL + RIDER) AND
NO OTHER ADJACENT CONSTRUCTION LOAD ON FRAMED
FLOORS. ALWAYS MAINTAIN 30' MIN. SPACING
BETWEEN ADJACENT TROWELS OR ANY OTHER
CONSTRUCTION LOAD.

S b

Lo
|| I I I I I I ||
I I I o Lo I I I
I w I I o I W g I I I
X I | | | | | | | I | I | I Lo | | | | | | I | N I
- v - \7 - - - - - - — — I.:; — — ET[ — jﬁ m — — — m — — — m — — — I."ll — — 7I."l — — I.'; — — I.'7 — =! I."lli — — m — — = m — — — m — — 7I."l| — — I.:; — aﬁ I.'17 — — m — — — I."ll — — — m — — — m 756 I."Ji — — [ - - - - - -
[tlj ‘ NOTE #4 m I.".|| m :@ ﬁ m NOTE #4 m m I.".|| ‘ m m r{! I.".|| m ‘ ‘ m m I.".|| m m :@ ﬁ m NOTE #4 m I.".|| m ‘ m m :@ v ‘I."J NOTE‘ #4 ‘ ‘ ‘
::> ::> S (TYP.) S (TYP.) S 3
( : ) LN _ _ Y] _ _ it _ _ il _ Ng\l; r[ _ _ _ _ _ _ _ _ hl _ _ il _ _ il _ _ |/l _ i il - _ _ _ _ i _ _ _ _ _ ,nl _ _ it _ Ng\l\ r[ _ _ _ _ S| E— A _ _ L 4 N N r[ _ @ [ W\W _ _
5 o e h. el a0 ‘ | L. | | a0 o© Jrv. w o | () wexio
o = - LI LI - N
& = = AN NOTE #5 = N = = = NN NOTE #5 = &N 21'-21/4" W8X10
! N NOTE #8 m m) m m m m) m m = f m) m m m m) m m m m) m =
oY C10X15.3 E ‘H,/r(TYR) E o} E E ‘ﬁ,/r(TYR) E o 7 a2 s
@77777$7:7: 21"21/4"; 77:7f —_ i:oéoz:i:ioflioiii% Oiiiioﬂo,iii Oﬂo:i:io élo,ii::‘oiéfo:iiijoéo:iizw}:ﬂhii:if‘, Ohloiiiioﬂ‘o,i:i ‘Oﬂoii:io ﬁo,iiijoﬁloziiijoéoz:ieﬁ —O—— — —— — Ohoiiiioﬁo,i:i Oﬂ‘o 1L 7C10X15.37 ;,: — — -
z 4 == == =~ == == == == == N == == == == == == == T T T A - b -
R.8 N ol o ol o - | alle cll ol ol o cll cll : 3 ol o ol o ol o ol e ol e ol e - | allc all o all o ol e * A z > 21'-4 ™
™ <l <l = x|l x <l <l <1 <1 <1 - <l <l <l <l <1 <1 = x|l x <1 <1 <1 < :
- w |z 28 | g 28 | g IR | e 28 | g 28 | g 28 | g 28 | g 28 | g ' w 28 | g 28 | g 28 | g 28 | g 28 | g 28 | g IR | e 2l | g N | g 8 | g E u =1 |
© v o o o o NS | N o o o o o o o o o o " 51 N BN o o o o o o o o o o NS | N N BN o o o o 'O i 5 ™ ! X
! é - n n n n n n n n n n n n n n n n ©) (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] (2] [70] [72] [70] [72] [72] = = N E o
G Sfe b — ged-— Baf B &8 g8 g 88§85 88— &8 g8 g8 g8 8\ SS#SS%SS#SFAZ | R 1 -
— o MC12X14.3 ‘ _—— ‘ : : " NOTE #5 MC12X14.3 W
Q6 1 —— N4 - - & 2 - - - - - - — - - - ] - - Il - - - - i e - - - AR 3 - I - - M —— 1 - - - - - - i - - e - - - - ] - - I - - e M ‘ o h - h -
N ! - " m 0 H = 3 m m m 0 m m ~ 1 LL' 0| m m m 0| m H = 3 m m 0| m = m ~ 1 LL' z ! - "
(Q><>3<>7 4 BN\ - _ = 21°-4" _ — _NOTE- _ _ _ _ | _ ©Cwu N _ NOTE #5 ] _ _ L _ _ |, _ _ _ _ _ _ J( - = ~ NOTE#5 | 17 _ _ ] _ _ L _ _ _ _ _ J[ _ _ _ _ O N1 — NOTE#5 _ _ ,l _ _ 1 _to v _ I I LAXAX3/B & _2r-4 - ,j _ _
Nl N N~ RN - ( ) ' O - ( T = &N O NOTE#5 +—
@7777 \:,-I§ V. o o _ — — \ _ | #§ il o o |> o NF\l; _ _ _ _ _ _ _ _ ,,<|77 o _| _ _ | miiz JO,T% — — N " o’E\] NOTEﬂl _ TZE% O — — o o o
,\I ~ \;_ W8X10 . RN :n:ol ‘ NOTE T m zlo N o o [ =C) =; i ﬁ:n: TI-‘T a— _— - - =c? i) —_—“}SW_'] | - - i %‘H F‘\ ] Av% E\.l
- Z = ' " < - o< - < ' <
~— O| Q 15'-10 1/4 ! l‘l'l_J || #5 m nl %56 m m m r1| m m I ! l‘l'l_J r1| % m m m r1| % m %5ﬁ m NOTE #4 m r1| % L = ! E || = ! E ||
o | < | il Gl ol NOTE ; | ™ O NOTE #5 | | . (TYP) - o o~ o ol NOTE #5 \
- —t - QJ - - - - | MC12X14.3_ | — <] #5 o - - ,,L e N e 1R - - - - - - - - ,,J» - - —h - - i eezﬁ:%? - = ,ﬂ - - - - - R - - - - - —h - - o - iy o - - - - - - - - —SGNOT #SZ%E NZ Y L4X4X3/8- . MC12X14.3 L - - -
(OSF/;‘: B 2%7 16'- Q" 75;/ j%o - w0 B ll B B [ T B B B B B B B B B | B B B B B i‘: J = S B B B B B r B B B B B B B B ll B © [ B B B B S B B - N TR L N 16'- 0" ¢$= B
(OS) = Qx\Qififif Nl - T - - ‘ - T i - - - NIy - - - - - - - - 1 - - 1 - - *%I* - 7T * ‘I* - - I— - + - - - - - *lif - i - ATy r - - - - il - - ;=§t = i ' - - - I***"’, 7*j_<
. Q : ~ é Eo 3:_ -| l_ NOTE m m -@ ﬁ m NOTE #4 m m m m m ~ - l_ 0 m m m 0 m -@ ﬁ m m 0 m - Elo m _ l_ NOTE #5 é _@
02— % T N §eS10X153 é N Qpr NOTE 7 (3 S S | — R O (R | ; ®OND e NOTESS | | B I [ RS | N | P T | A NI | I | éu,[ L4X4X3/8 CIOX153 _ 15= A
Lo LY = = O == — = —| i — || ——— (——— — — —— —— Ne=p—— - T — - —= = = = = = = = = = = 3 = = o — = = = = = — - = = —XNOTE #5 = = = o ——av = - -
‘ 16‘ - Oll ‘ ‘ _’,A - r— — _© N 0 —’—n -—r— - ‘ M m m _© m M ‘ ﬁ _‘ ‘ ‘ ‘ 16‘ - Oll ‘
1\.N8X10 ; ooy Y, W | - : SW- |- Ny N | | . | % N > NoTE s W8x10
5-101 WJ\JJ\ ! ﬁr ™~ Ll'l_J |‘| m r1| ;I g\' 5ﬁ m m m r1| ;I m m - ‘ ' E “ m m m m m m g\'gﬁ m m m ‘ ' =O 8 ‘ 8 W8X10 15'-10 1/4
: al o . © - 'z < Wl — <l = 15'-10 1/4"
N 1] O\ +_9F NOTE « ' » | P OO | \ \ ' | mAcl—‘—z |
Ny~ N ———— — = — - —- T S i e (R By = B S < = &~ e S <1 o —- : -
o = © z NOTE #5
M5 I 180 ; > &9 % gy elle el gfle el e gl -l 2l gz gz T ofe 0
S Ol HSS4X0.226 SLOPED | - | i i Al i i i i i i - L Sl | o | B o | B o | B o | B o | B v e o | B o | B i, =) | k=) (|1
- ™ = NOTE o N - = o o o o o o o o o o o o o | o o o o o o N ~ Il —
- W8X31 SLOPED RN O Ik ' O NOTE #5 0N [72] 0N [72] 0N [72] 0N [72] 0N [72] 0N [72] 0N 0N [72] 0N [72] 0N [72] ‘
] _ B N B O/ > = i _ N Z #5 _ il B B _ YA B _ B B B _ B B N _ B B B _ NZ ~ 1 O o 0 o 0 o 0 . owo 0O o 50 (@] o 0 o 09 O N _ _ | B B B _ B B
p— T ‘ o nl“ ~ = NT ﬁlﬁ 0 o ;‘ © © © © © © © © © © © = N© © © (o} © © o T
. X © ! 1 . N8/ ®© ! o ;rjfﬁw | \ | ~ | ! NG NOTE #8 1f
T = . = < LlJl‘l | N NOTE #5 | - 8F Lul iy NOTE #5 I-I-l" NOTE #5
- 1 l_ m m N ﬁ m m m m m m ™ - l_ m m m m = ﬁ m m m m l—
8 ?. g ‘ cxl) EY)&T ] % NOTE L / (TYP.) EL N % NOTE #5 | “? (TYP.) | Tg
_ . _ _ ‘ A N _ZF #5__ | o.H —— . —_— e ol e B Sl g o ! N Vﬁ; | S\ 1 _ _ _ _ _ _| _ _ II _ 7 I _ _ _ _ _ _ _ _ L _ _ [ _ _ 1 _ _ _ _
Q—} N HSS4X0.226 SLOPED T N S~ S RIS ST ST ST ST ST - ﬁ‘w . i i o i N S i o i o
k1 W8X31 SLOPED T ® HE 2| - 2z 2| 2| 2|l 2 2|l 2 2z 2 § . ™
@—7— = L =S = = = = :'—*J%Ilizzzzo W= ==—== :LO.EE:‘TELO. O— === =9 O === 19 O =— == W= ==Y]EV:==—==1¥ "QEE‘L‘T: = = = = = = = = | S = = = NN— = = = = = 55425 = = '_T_E = ;:i}-f\lgif NOLE#S = = = = = =
d _ [ [ - Il [SH | SN ol o - ol o [SE | SN [SH | SN [SH | SN [SH | SN [SH | SN - \ =-1m __ - - = - - - T - - © — NOTE# | wrali— - - - — — - — T T = <=N \ M
2 R NOTE #5 To] [To) A\ - ~— N
ST Gl el ] [ gl g <L RAE] ¥ gl g gl g ghe gl g gg " 2L o ES S P . I3 2" gl
- 1 T = N~ =T T TvsE - - - = -l — N | —_— e P — —_— — in _— e - B el - - ] - - —m - - 7] - - = N f - - o - ] - ] - - ] - “TOo o - r - - -
S 3% 3|° 1 o i §=Ava,4'$t‘ | — | i‘rirAi*t‘ ! ? 9 ® ! R B Il 5
f{) ‘9 ﬁl- é é :CX_) ‘ é z‘i (? ﬂl- -I E || m r'.|| E\l :@3ﬁ m NOTE #5 m m r'.|| m m B 1 I'LE | m m nl m c E\lﬁﬁ m [\.II.QLE) #5 m nl m m ?QI ! 2 H 2 S4 2A
;T = = Sl NOTE = . 3 L ' = | gl n '
,7,,',%57(\1 © off TN OZ* #5 . i - - P 77'\&'-5 - (T\iP) - - - - - - —71—— - — - - il fﬂglo NOTE #5 o—— - — odflo-—=——"09 o,i,ioﬁto,,i,io@ o— - — Xodfo—=———oH O—fifoifloif—oi?‘jofi* *‘FLO**O S— - - - - - - -
— 1 L N g i i Lo N T i i i I 5 SIS SIS SIS SIS SIS SIS SIS SIS TR &S (H
R e S ‘ i v | I | I PN [ SRt [ | Il | (BN - % 3 H B ] - ] ] - | e | I i Y | | R
| \- - - — —HSS4X0.226 SLOPED— L4X4X3/8 i E — o - - - NN — — - - - - - - - - - - - - - il o - it —  ——aQlFs - — s — Sl R N | R | D | B N | R T - — - - - - - -
H.5 0 o 11 = Ol NOTE © ~ | d \ \ \ \ o \ \ \ | ol «© \ NOTE #8 1
( . . W8X31 SLOPED I . @ ol ol @ ol @ all » all » all » allln ,
2 d : NY—= #5 B Ol O Ol O Ol O oNno oNno oo z
_ 1 QNN - N _ _ _ _ _ _ <] _ 1 1 _ _ — AN _ _ _ _ _ _ _ _ _ | _ _ _ _ _ il ,r—‘ﬁ A _ _ — = _ __ N — s _ . o [ A= AN - - - L _ _ _ _ _
N\~ = I ~_ 0 M NT 0 0 0 M [iE] i O @7 © © O s © © @ © N © - © O © O s © O ( © HiN!V
= - ! 1 8 T L NOTE |‘_ i |‘_ | :‘:f\l;r 1 | \ | | &;rv%” [
Y o N SIS ' & ' ~ = QY W
_;r é ~ 3 ‘C_) ‘C_) #8 m r1| % :@5ﬁ m NOTE #4 m m r1| % m m ; ! el (4) #4's x 8'-0" LONG, 3" nl th qu =©3ﬁ th [\_IFQLE) #5 m nl m m \,: _ |6 || NOTE #5 3
= S 03 - y (P N OFF CORNER | N ' B ‘ NOTE #8
— s , i ol  Olls _ _ _ | oz y _ _ _ _ _ _ _ _ R R & 1l o - _ _ i NG I _ _ _ _ _ _ _ _ _ _ _ NZ Z _ _ _ _ _
— — HSSQXQ-22QS|:985974H —~-® % %F, e s 7;%§== i i — e — Tn—f——i—i‘Tj—i—i—‘—j—i——f—?—ﬁ;ﬁ_éj ; + B @3"o.c. INSLABAT:- — I - - ) - %5ﬁ==7 - i - R - Z Tal “e N ]l - - -
***WBX‘MME&* ,L4X4X3’l&** & St | i | S e e L Al | -l = 2\7 1T et | "OUTSIbBE*CMYU—| - —— ) -~ — g || N | e — - -~ - —— |18 ol %7 i -
C15X33.9 I S | B i i 2 Sl % % i i i =% © | m— " CORNERS (TYP.)# i i oy NOTE #4 i i To |2
r—— I oN— 48 ' | N | I | ' (TYP.) | S5
= ::18 -O::::::: , e = Qo = n: = = nI: ::g\lsﬁ i = = = i = = = i = = :nl = = :n = = n: = = ::§r ﬂl-:: = — — — — _:n e _1:_ ———— -E\ISFL' — = — == = === :_:_1:\— ' :(\i = = —— = = = =
=N\ © - © ©
O~ = 2]
15' 0" ! @ (D N 1 1 O
w || © oy 0 = A _ o
;- | 5 1 /8"J% . ‘9 ‘ ‘9 m I.".|| —@ ﬁ m m m I.".|| ‘ m m ‘ I _ ‘ 1 I.".|| U) m —@ ﬁ m m m ‘ m EQ' & ~ ~ N OTE #8
‘& - = 44—l S SR 0 R, N DNt B
;9 - - - - - R N i — 0 - - m - t='\l N o - - I - ] - - el - - o - - a - — — -l = — el - - Tl - - i) - t='\l N m - - o ] - - e [s¢) - B - - -
] :j°° B B B B i T NS 1 Il B B k B ?f)“?fﬁ B B B B B B B B B B L B B B . D i i B B | B B Il 77?0“?7ﬁ | B B T B N B | B B 1
Q&)gﬁ - - - - - - Bl 7477 ::(C-)) 7%))7: T rj - - m - - -I E\I % m ——NOTEH#6— — m - - — e - :ni - - i - - B - - 7%010)(20720 B 10 1/.2 1T m - - :n - - 77:1 - - rj :7: E\Isﬁ n: NOTE#5 — m - - m - - :n :70 78 - -
P S L] / (TYP) 3 o B o8 | - (TYP) SIS | ISRt
7';\7“" - - - - - - i _| J ,‘?\?,777030 77770J1L0777A<o oififokoififfffifioﬂiof = = = — 77§7‘_ NN o #Hior—— - ——0olo-———oflo-————ollo=-——No#Ho——— ol o— omofifi‘fﬁ;ﬁrﬁq‘mif I - -
- % N NOTE #8 =~ = ~n = ~un ~ = = ~n = - = ><O X o ~ ~n ~ ~n ~ ~n ~ ~un ~ ~n ~ ~ | = N REEST | K
S| L - ﬁ% o o o o - o o o o o o ! O © o =) o o o o o - o o o o o o H* LY | K]
& | = = <l < <l < = = <l < <l < =l - - = <l < <l < <l < = x|l x <l < <1 < AM S
o X ! E" NOTE#5 S| & sl & . & sl & Sl & i i S . ;b =5 & sl & sl & sl & C Bl 8 sl & | L SIS
L L - \ o o o o - o ol o o o . kN N IV | N ol o ol o o o olaill o ol o IH | KN | \ ~ || - |
| - | © ™ O all v |l » (g 0 all v z |l » Q1= Sl= L o Q 0 ol » ol » ol » ol nll v ol » alln ® o~ NOTE #8
Qlffffg&\é = = = - ] e =2 -—-—olo - ollo 9 - — e ojs- - ——oho - RI5— - ;o;;;;;igiig;% —1 - - = — % Qe — - —QE 8- — - Q8- — - 8 Q= — B8 = — - 33— Q- — - —= A — = = = = - - _
N = O © o I:co S © O 3= © ] © H © AL = AR 2= o a © © = © %) rco O © x © O35 © e =15) = L4X4X3/8
@% = | & !, —© NOTE #5 — S= =l =l X _— % o — g Il |
- SN |2 o NOTE #5 b |2 8 8 - ~ = |2 o NOTE #5 - = |
' ~ .@ N 7 m m ; Qi .@ N 7 (TYP ) m 8 m ; ‘ ? W12X22 m ©0 m m ; m “i .@ N & (TYP ) m N o © © m -, Q H E |
~ ' o N ' » . 20'- 10 1/2" o o : 3 2 = a5 2=
- 1 — g\i - - - - - - —+H - Tg\l il - - m - - I."lI‘ - - g\lgﬁ - - - - - - - - — - — — ?Tli - - b — - - - - 7Qm7 — ﬁ\ ; - - — B H‘J — - — T — — 7&‘ - - m - - g\l\ m - - - vir'lifé — é - M _I 7§ | 27 - -1 7é7 -I - - - -
N © ~N© -~ ~N© o ~
= ‘\.‘_. \ NOTE #4 | o | ] ‘ [ ES /Z | Y | X X L2 EH*[ NOTE #8 = c‘\l
B c N§ﬁ m (TYP.) m m N Nsﬁ m m m oS} W16X26 N C15X33.9 m c Nsﬁ m m N - -
9} il L] | L | ": | 20'- 10 1/2" | g:?? \ 18'-Q" \ \l L | |
- AT - g\i - - - - - - — Aﬁ,’" — — i — — dl — éﬁ il — — i - — ——th — gv — = 'L. — - 5 - - 70 - - 5 - _ _ _ _ il g — }pu7 — — e W6x1 5. ? W6x15 = - o _ _ _ _ _ _
ﬁ —) l- "
[T [T [T v pn
I [ [ I [ % A 1 % [m)] % (o] % a [ 5 SEE L4X4X3/8 BRACE [ 121'-4 I I
B | [ | | o o TTACHMENT IN DETAIL 6/S4.3A
Te) ola O =l » n » O © o
O TYP. ‘ \ | rjow © - © - © = AR
N / 1ol . %) N D S0l s - w ! ! ! I N
" N —|»w O ® N N N ) g
— 2"DIA. STD. | s S5 S5 S & 8
PIPE BRACE o RERYS XX XX 3 X X
Il ] n I ] n ‘l " ] " g g ~ ! (D ® (D ® U) ® I © I I Il
2-4" | 84 g-4  2-4l3|185 « |82 3= 2l E
= s qe|gd | E - £
ol =
I I | ) | | I I I
4 %)
sS4 3A T \ C15X33.9 \
I I | \ | 18'- Q" | I I I
I I | | | I I I
|
2|-9l| 7|-7l| 1 |- " |- n I'-l- (L] |- n
2 3-4 7.7 2-0 9-5 |
I I 2’[ 0" [ 4 I I I
- 32| 6"
\
| I | | | | | | | I | | I | | o I | | | | | | I | | I I |
A} - n 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " L} - n 1 L} - 4" 1 1 - " L} - 4" 4| - n 7| 7" 2' - 4" 1 1 - " 1 L} - n 7| - 7" 1 L} - n 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 1 1 - " 7' - 2 n L} - 1 " 1 L} - 2" 1 - n
4L 9'-6 qu 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 8-8 4’ 4’ 0'-0 4L 5 4L 8 H' 4’ 4’ 0'-0 4”49 4’ j’ 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 4L 0'-0 Lq L 5/8 4L 4L5 W 0 qu 9'-6 4L
| 9"j\ | | | | | | | | Lo | | 1"4 | | I Lo | | | | | | 8 3/8"j\ | 2'-1"— 1 43/8"— 9"j\ | |
246' - 2"
L N | | | | | | | || | | | | || || | | | | | | || ] 1 N L
7 \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ I \ \ \ \ \ \ \ \ \ \ \ 7
| | | | | | | | | | | | | | | | I | | | | | | D | | | | | |
oal™ G O W B O o 0 0 0 B 5 Do DO i) v
N N N N N N N N

Keystone

.

Structural
Engineering

Protessional Consultants
531 Roselane Street

Suite 150

Marietta, GA 30060
(404) 483 6921

Date Name

04-09-2025

Contractor
Coordination

2 |05-30-2025

Contractor
Coordination

3 |06-19-2025

Contractor
Coordination

ISSUED FOR CONSTRUCTION

PROJECT

19th La

ne

Vero Beach

Storag

e

Buildings

ADDRESS
19th Vane,

Vero Beach, Fl 32966

CLIENT

Shamrock Building

Systems, |

ADDRESS

ncC.

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

THIRD FLOOR

FRAMING

PLAN

(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S2.2A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:32 PM

Kéysfone
Structural
Engineering

(2 (@) O O O @ O DO (9 s (i3 1802 (9) 1 faia (15) (18) (7) (18) (19) (@) @ai 1) 28 (29) 242 @) S

7
Suite 150
o Marietta, GA 30060
(404) 483 6921
I | Lo I | Lo I I I
‘ \\\illl,l
) /
N Lo I I Lo N I N \\\$ ?\NFQRO@'I
A . ‘ n . \\Qg, '-\GENSG'\-{&
I w I I I I w I I I ‘Q) 7«,’;\—-:’ o %
L/ [ " :*:l NO /d:r?) ".*E
DECK BEARING ELEVATION = (31' -4 e i 3‘ . \
| | | | I | | | | | | |l I N - _ =
- A‘ - g\i I."T — — I."l|7 — ﬁ)siﬁ m — — — m — — — m — — — I."ll — — 7!."! — — I."T — — T — — - I."ll — — — m — — I m — — — m — — 7I.".|| — — I."T — ﬁ)ﬁﬁ I.'17 — — m — — — I."ll — I — m — — — m Aﬁ I.".|7 — — Mnir - - - - - - - 4@ : '.‘ ‘\\ : ': : \
. K K —] B NI
K m ml SN 8 NOTE #12 m m ml o m d ml ol I m ml m SN 8 NOTE #12 m ml o alog N NOTE #12 I ,‘)30.' A R
o , !/’ [ ! I . - 5 /"/,@f‘m oR\O_"‘. Q}Q\“
I . L _ _ _ _ _ _ _ _ _ _ _ _ _ _ | _ _ L _ _ R _ _ _ _ _ N _ _ _ _ _ | _ _ L _ al A _ _ _ _ ] _ il _ _ _ c A _ _ _ _ _ _ A U Y S o= s X A PR %
O8 ~ : T = : : | 1 = R ¥ - e 0 C4Bsioi o\
S |, | \lg, | \lg, Lo I \lg, I Lo \lg, | \lg, 1 [ It | WEX10 | \ i
1 Q m 0 I N 3 m NOTE #8 m m 0 m m Iy 0 m m m 0 m I N 3 m NOTE #8 m 0 m m s\l & NOTE #8 ' "
o E{f NOTE #8 @ ~ J[ (TYP.) ® 2 ® ~ f (TYP.) @ [l torpre © 30°-0 Rev.
@7*7**ﬂ€ [o)] 03::7::07,{03::7%, Qiiiimﬂmiiii@ﬂmiiiimd@iiiiic‘D,Z@::i::@H@::‘ieﬁﬂiiii}@“d@i:i:@“&c‘ﬁii:i‘CD“ELCD:7::CDH‘@iiiiimiﬂlmiiiiimHmjiifm'miiiiOﬂmiiiimdmiiiim 07:7:j‘,: 6\15 = —— SL**\N:SX‘]:O** - - - _ *4@ No. Date Name
= oI © OO oI © O o O o O I o OO oI © OO OO O o oo OO oI © o8 | ) oo OIo OIo N N " /
(@7 o =1 K=] =1 K=] E-] K= =1 K=] =1 K=] =1 K=] =1 K=] =1 K=] = =1 K=] =1 K=] =1 K=] =1 K=] =1 K=] =1 K=] = 1 2|le =1 K=} =1 K= =1 K= 3 = | #® 30'-0 \@ Contractor
= <1 x <1 x - x|l x <1 x <1 x <1 x <1 x <1 x - <1 x <1 x <l x <1 x <1 x <1 x | x|l % <1 x <1 x <1 x - 5 1 |04-09-2025 Facic
wllwe wllwe | e e wllwe wllw wllwe wllwe wllwe ' wllwe wllwe wllwe wllwe wllwe wllwe ol e wlle ol v ol v w v - |o Coordination
© ol o ol o i IH | K3 IH | K3 IH | K3 ISH | K3 ISH | K3 ISH | K3 =g N | Ky IH | K3 IH | K3 IH | K3 IH | K3 IH | K3 i IH | K3 ol o IE | K9 o o | It = | X1
: nllw nllw RN | R nllw nllw nllw nllw nllw ow nllw nllw nllw nllw nllw nllw Clanllgn nllw nll w nllw ) SN o= Contract
I N Q oi,i,,o#)oi,igo oi,i,o#o,i,io#o,i,io o,,i,io#o,,i,foigoi,‘- wz' 10 oi,i,o#o,i,io#o,i,io#o,,i,io#)o,,i,io#oi,iAo ,oi,i,o#roi,i,o o . olc .= AWNOIE#S i _ =28 _ _ _ _ 2 |05-30-2025 ontractor
\j T RS SHS NSRS <STHE S <STE S ST HS < H < TS im— STH S < < < S H Y < Iv ST H Y NS H Y S H < < H < < BHRG ol T N Q W8X10 % Py Coordination
Q6 — - |— —\: Sl - - — - == | - - i - - I - - b - Sy - 1| S + 3 - S T - - i - —— I - - 1. - p— R o 1| e ] ———— - - - - - i - - I IS iy S - = o ;I o - — - - —Q.6 Contract
<><><>7 = ‘Q th NOTE #8 nl EO= N\ th NOTE #8 th th r1| th th = ﬁ|- L NOTE #8 th th th th th th EO= N\ th NOTE #8 th th th = T‘?f L 30'-0 { 5 4<><><> 3 06-19-2025 on rac (.)r
Q3L BNT e e e | e 1. i | e I e T e R R e | e e 2 T I B o e I N R Y, PRl sy a3 Coordination
@7777 *E =\ ar - - ml‘ *ﬁz\uﬁm - - - —w - - - - - *rﬁlf* - r - - o = \\—52 th— - -v—mi————*—rw——'—v—m— —_— S_W1'_m-- NE\'%—m - mi O’N‘E——%ﬁ Az:% = g to— —|— - E o \;V - - -
1 = = = - = = * N I+ ' 1.
5= o o ) . o ) < W TS H Xlo ®lo
<y i | ! | ! |2 | ! NOTE #4 |= me ! e " = E" =t° ={0
o | | \L o) | | Lo | o I \4(/) I I \IU) o) (TYP.) %) IRGe N 10 W ®» Tg! NOTE #8 \ WEX10
: 7 T Q\TJ 20 - - - Aﬁ - - - - - - - - M - - m - - o7 - Aﬁ — — — T/F m - - - - ' - - - - - il | - 20 - — - - - - — —m - - - 73 NOT # - — — ‘ i — — - - - - 7/%@
(0.8)— = ] i - - B - b - B - - - B - - - B - ] - B i - - B - T - B - - - T - - - B - ] - B i - - B - - - B - - - I D S A i I— " =i Ig B - (0.8)
< aN: - - 5 - - - - - - - - ,| - - , - - - - - - |, - - - - - - - - - ,l - - 5 N - - - - - |,7,7, R © L+ ||, - - —30'-0—215) - P
(OS) —Q = ﬁg | \L K f NOTE #4 I ul [ T i T I i K e 4¢’LLF|_ S \| =il - é__-' (OG)
(>§>2<>7 -~ |« L L i f (TYP.) | L J To) £ — ™ (_)_ eNEe] NOTE #8 W.8X1.0 <§ c?) <>§>2<>
iy ,# E— — = — ; — = = = = = — === —= =l = ——— el | e ——— - o = - - - - T - - - - - *nlli - = o - ;ﬁin: - - - - 1 e —— *‘ujﬁNOTE #8= : — e [e— — - - - — A
- \ NOTE #12 \ ] | \ SW-1 \l P \ I | i I | \ s | | | ‘:’Tjﬁ 8 N (2) 6CS2.5x0 30'-0 )
| TYP. ALONG ; o ; | | - NOTE #5 | i & 5 L || K ol & (TYP: W8Xx10
SR GRID3 | & o | & | | o (TYP.) | AR N, A1 | B 30'- 0"
RN | N N . PR | S| N SO | I I . DY U | m— ) e— | — | — | — | — amiissiiinaSl IS - = s HR A1 | - SN | N I (v
A - nr 71 71— 71" 1 e e e e o N e A1) 510 TR | e A ot
. - T ' O ~ .
~— P ! \\J/ - = m \l - \l Lo I I Lo ' | N = NS Il ~—
(2) 6CS2.5x059 I - L O NOTE o o o o R ‘ NOTE #8
- = A - z I
- 1 — H - - - - — = - m - - - = ﬁ - - - - - - - - — m - - m - - m — — m— - T T — — — — — e e ¥ e —— s O | — — o — e — -y — 1 - e — —_ — [ — — — - - - - - - -
g 2 | ] f‘\,=Aﬁ%\ | \|> Al | | Lo I \1 I Fo | . \T jLS\ /)‘:'?T% 1
o= ‘ =Y s " h — NOTE #8 | o NOTE #5 | | | Y NOTE #5 | il NOTE#S = K E"
Y ® o O NOTE K (TYP.) i (TYP.) T® 0
@777777% N — o . 4t N ZE S . mi,i,ALi,J} - e = Eoih = = dal _ ,4&,,777¢4g|‘: . - . TR - . Sy | - . ] . L . NS _ Sl - _ ,#‘; _ - L _ B P-4, _ _ 1 . . . . . . ,4®
@= 2 (2) 6CS2.5x059 I S S SIS . = = o — NOTE #8 /@
: ~ ~ x x ~ (2] C w = = )
@—7 Y —— = = --1, te o=y - — = =10 V= = = = == .= = = = = = = = = = = = = = = = = = = = = — e e — = *l;* = e :;45_:_* S———— —_—— Y = = = = = = = = = 7—®
Eo J Tl "o 5l noTE#s SN || o ! o \ I \ ! SW-1 \ o ! NOTE #4 \ il R i1 @
Q},‘Li 25 } ,-,b?ﬁzi,j}’/;,i,ﬁ 3 ) o S BN R - L 0 | St 20 M SO | A (R S S DS — B — O
-g %82% i gz_; * A \r N | Lo T I TI I R ﬁ" I T T\ | Tm 8\\8 ]
O z<= © ¥ NOTE #8 | - NOTE #5 | | K NOTE #5 | 0 NOTE #8 RS I
N <O ‘ S . (TYP.) S (TYP.) =% NH N
= - om (313) (2) 6CS2.5x059 | T o ' | N | o 8 8
@7*7*** BT - T - - d:I‘ - N—F - Ta - W - *.ﬂ** - T - - & - - S - - T - S - T ) | - - T T - - - - - *4®
- _ _ _ I R _ _ il _ _ IR _ _ _ _ _ _ _ _ _ L _ _ _ _ _ _ _ _ _ _ [ A _ _ =) | _ _ _ _ _ _ _ _ _ _
: 1 B B | o B B B B B B B B e B j B B l B B B B B B B B B B i - B B B &S N B B i B B B B B @
| \L 15) | | | | Lo | | | | | o % It NOTE #8 1 (@
- - m - Aiﬁ 1 - - m - - - m - - ) - - “m - - 1) — — 1} [t == — — oI — — — v — V ‘ — — [ - - - - - - - 4@
NOTE #12 - i - | . NG
TYP. ALONG \l ;‘ o | | ;‘ | | | | ] W8X21 HOlST BEAM | E\Il NOTE #5 [_u‘l‘l 1
GRID 3 & u') NOTE #4 7 COORDINATE ELEVATION | o (TYP.) '5 D
D | . (TYP.) | ‘ ELEVATOR MANUFACTURER | B I B A B - B vz‘ N~ B B - B B e
- - il - - - R T - - *ﬂsv\ﬁ17*"r|** - i - - i - - - - - - il - - i - S il - - N— r - - - - - @
- 7,7,77,L7, o |- - S ) A ,7,7,7,7,7,1;,7,7, ol I o il 7,&7,7,7,7,7,\':'8 @
! ! NOTE #4 Yo} :
B B \L e 11 B B B B B B B B \l B o B B il B B %\ | 7§7 o B B i B B | 3 B I 0 | (TYP.) = b 7? B B B B F.1
. 1 F T . S . . . A Ji . . il ) ) S 7% S T ‘Tl; SW-1 T -~ T T NOTE #12 - Y] | S [ 5Ny . . . . .
5 [ 7 ~] |2 5 |2 TYP.ALONG\h 3 SR
\l [;) \l | | | th | 0 th [;) | | 0 | GRID 21 &22 ?QI§ [eo) ; % 8 (l}) <E2
_ _ |: _ — ;ﬁ I _ N _ S | I _ :47: _ 2 _ _ il _ ; s H——F= o — | _ L - _ L _ _ :M _ _ r _ - =7ﬁn, _ R _ | _ 11 I - _ <‘>o; :t - _ _ _ B _ D7
_ _ I T _ S || _ S | _ o — _ L _ _ L s NS - &, Ll _ _ _ _ _ _ _ L ™ I _ 1| _ . _ T S T 1 S L ,) o _ _ /'
— — — Lol — NOTE#8— — — — - — — — — — 4 — — s R S V- ol - — +— — — - — — 1 — — IS . _—NOTE#8— — — — — — — NOTE#8— — B ey 11 = — — — = D5
NOTE #8 r1|> Nsﬁ m (TYP) m m nl m m ‘9 _ A 6 N § m m % f Nsﬁ m (TYP ) m m m /' m i % % 32! _ 11 1/8" | } :
L | \ < L b < o o _
gl —giz ez gz iz gtz Ya. ¢ St _figg 233 833 8r3 )% m%“%%*’l%%”{%A R4 é{%g_v R
o‘o = =1 K= o‘o o‘o o‘o o‘o = %‘ ; 2] (o2} o) ‘o =1 K= o‘o o‘o = o‘o =1 K= o‘o o‘o %‘ o [ oifff o é-'x-'
X X -~ X X X X X X X X X X - - O 9] 9] X X X X X X X -~ X X X X X X X X nnn N © I~
wlwe | ol © ol © ol © wlwe ol © - o)) @ < < 0 ol © wlwe ol © v wlle ol © ol © wlwe t el Q S0wO®
o |l @ © o |l @ o || @ o |l @ o |l @ o |l @ o | of ) | NI el @ o || @ o |l @ o || @ o gl o || @ o |l @ all @ ol (2) 6CS2.5%059 1 | (C.1
;;*7;;%4,@;;*; e ——. . S ——— O ———. g;;*iggg#;g;*iggg S — =— —, Q-— - ¢ g;;figggqﬁg;;fi;;g O — S O S —— O S J——— & Q= = ——N—— = F - - - - - - ,\@
) % @) O NOTE #8 /
) © © o 2 ol|ll @ = = B.9
= —~~ — Te}
o | ] | | | Lo | | I | | | | | ] | | 0 | | ) b % \:>
NOTE #8 o= - N\ NOTE #8 0 | = 0 0 NNo S || 0 o = 0 - N\ NOTE #8 0 SH = Sl L
= R~ (TYP.) T T ] i = R~ T (TYP.) 0 F © ) H ) i\; R~
IfD Ny, @ # i 3 ® o— —a (= i | a Ny @ | N 3 %\% E,m
- - | - ﬁ - - - m - - - m - - - - - I - - - Tl N 7‘: — — — — — I — — ] — — | - - - = SN - - m - - | - % ol - - = 1 1 - - - - - - -
© N © / § nN© - (@) N O 1531 | KS] AN
o N | < N vore e J, M 2 \m DECK BEHMNG ELEVATIAN = (33 - 2 5/8") / | NEN I\ NOTE #12 sl e ’v::ﬁ & ‘K %
! N m m | m m m m F - m m N > (]
1o) ] L | | \l L | | | \l Lo | © . | | | | L~ | | | ‘9, 5 \ =] NOTE #8 o
— A‘ — g\f — — — — 4 Y f— Q?JJ — — w — — = — ér W — — w — i — — 7'4"' — — = — — w — — ;, 7w§ 1 — — — — — | — — — — — 4 ‘i — w — Api — — W — % — 4?| N Z ‘ /? - — — — — — — — 4®
, " - . " W6X15 W6X15 W6X15 32'-0"
L DLECK BEARING ELEVATION = (33' - 3 3/4") ™~ | | | DECK BEARING ELEVATION = (33'4 3 3/4") - 5‘ 307 Q" T C6X82 37 -4 ||
C6X8.2
—— |ICANOPY BRACE ' aw
o A . F S(HDOWN or\? S ‘ ‘ - ?7 -4 | o ISSUED FOR CONSTRUCTION
w FLOOR BELOW
PROJECT
I Lo | | I | I I
I I I X I 19th Lane

Vero Beach
Storage
Buildings

| | | | | | | |
2'-4" 10'- 0" 1-0" 7'-7" 1-5" 10'- 0" L 10'- 0" L 10'- 0" L 10'- 0" L 10'- 0" L 10'- 0"
(s 17 (i ” ” ” ” ”
| | | | | | |
| | | | | | | |

I
7'-25/8" L L5l_15/j,u’ 10'-2" LL 9'-6"

7 17
838" 21— 14381l o/

[ | | | | | | |
9-6" L 10'- 0" L 10'- 0" L 10'- 0" 10'- 0" 10'- 0" L 10'- 0" 10'- 0" L 8- 14 10-0 | 54 | 48 7.7

| |

‘ ‘ ‘ 246'- 2"
[ [
|

T
T
T
T
N
Q
1
Q
N
S

AAﬁ AAﬁ _

N

Vero Beach, Fl 32966

|

/

|

,

4‘ |

® e OB ® © oo o ® 0 0 9 & 5 5o 56 @

19th Vane,

2

2. Roof Framing Plan

CLIENT
S2.3A 1/8" = 1'-0" 1. ROOF DECK TO BE 3", TYPE "N", 22 GA. W/ #12 TEK SCREWS IN 24/8 PATTERN & (7) #10 TEK SCREWS AT SIDELAPS, TYP. IMPACT DRIVER ARE NOT ALLOWED FOR ALL
2. (2) 4CS2.5x059 HEADER METAL STUD SCREW INSTALLATIONS
3. (2) 6CS2.5x059 HEADER.
4. 4CS2.5x059 "CEE" TYPE METAL STUDS @ 5'-0" O.C. AT ALL INTERIOR BEARING WALLS U.N.O. (BELOW), TYPICAL. USE SCREW GUN WITH TORQUE SETTINGS
5. PROVIDE SINGLE 4CS2.5x059 "CEE" TYPE STUD AT EACH ROLLUP DOOR JAMB AND AT EACH SIDE OF CORRIDORS FROM CALIBARATED TO SCREW MANUFACTURERS
THIS FRAMING LEVEL TO THE FOUNDATION BELOW. SPECIFICATIONS.
6. ALL INTERIOR DOORS AND NON-BEARING PARTITION WALLS BY OTHERS, TYP. G
7. USE 6CS2.5x059 GAUGE "C" TYPE METAL STUDS AT 16" o.c. AT ALL EXTERIOR WALLS BELOW, (TYP). PROVIDE DOUBLE FULL
HEIGHT STUD AT EACH AT ALL WALL OPENINGS.
8. (2) 4CS2.5x059 DOUBLE STUDS (BACK TO BACK) AT EACH ROLL-UP DOOR JAMB, U.N.O. UNDER ALL DOUBLE "CEE" STUDS
AT THIS LEVEL, PROVIDE DOUBLE "CEE" STUDS (BACK TO BACK) TO FOUNDATION BELOW. o
9. (2) 8CS2.5x105 BOX HEADER w/ 6T2.5x105 TOP AND BOTTOM TRACK & (2) 6CS2.5x059 STUDS EACH SIDE OF OPENING. ShaerCk BUIldIng
10. TRANSVERSE NON-LOAD BEARING SHEAR WALLS SHALL BE 4CS2.0x059 "C" TYPE METAL STUDS @ 5'-0" o.c. TYPICAL
11. (2) 8CS2.5-105 BOX HEADER w/ 6T2.5-105 TOP AND BOTTOM TRACK & (3) 6CS2.5x059 STUDS EACH SIDE OF OPENING.
12. 4CS2.5x059 "CEE" TYPE METAL STUDS @ 2-6" O.C. AT INTERIOR BEARING WALLS (BELOW), TYPICAL. SyStemS, Inc.
13. (2) 8CS2.5x105 BOX HEADER w/ 6T2.5x105 TOP AND BOTTOM TRACK & (2) 6CS2.5x059 STUDS EACH SIDE OF OPENING.
ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

ROOF
FRAMING
PLAN
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S2.3A




VARIES ¢ 6" METAL STUD
(SEE ARCH.) WALL FRAMING

STEP FLASHING BY OTHER
(SEE ARCHITECTURAL)

>

3" 1/2" DIA. DEWALT SCREWBOLT+
3 (1 3/4" EFFECTIVE EMBED) @ 30" O.C.

/\L/ WALL FRAMING INCLUDING

(1) #5's CONT.

2" LAP
SHEATHING

7" CONCRETE SLAB w/ #4's @ 10" o.c.
(LOWEST BARS PERPENDICULAR TO LOAD
BEARING WALLS)

1'- 5" MIN/2'-8" MAX.

GRADE SEE CIVIL/
LANDSCAPE \
RN N

N

7||

VARIES, COORDINATE WITH CIVIL

/ 4

OF REBAR

1'-6" MIN.
1l - 4|l

0'-21/4"

CENTER

\

VAPOR BARRIER
(3) #5's CONT.

3" 4" THICK #57 GRADE STONE
CLR. 10" 3" CAPILLARY BREAK

CLR.

U.N.O. #5 HOOKED BARS

2.0 AT 12" o.c.

MIN.

<1 FOOTING/WALL SECTION
\83.1A) 3/4" = 10"

15 MIL (MIN) POLYETHYLENE

MASONRY WALL
SEE ARCH.

#5's @ 16" o.c. VERTICAL
REINFORCING IN GROUT
FILLED CELLS FULL HEIGHT

FILL CELLS BELOW ——
FIN. FLOOR

(3) #5's CONT.

FACE OF .
FOUNDATION ¢ ?/VL\\AET?IFE EJ#\%
BEYOND |
-
=
EXPANSION o' - 10" 7" 3000 PSI MINIMUM COMPRESSIVE ©
JOINT | STRENGTH NORMAL WEIGHT CONCRETE =
UNOG. | SLAB w/ #4's @ 10" o.c. LOWEST BARS =<
NO. PERPENDICULAR TO LOAD BEARING W =
EXTERIOR PAVING | WALLS) kX
SEE CIVIL \ zZy
oz
h'd
| — S5
s | b 8%
== °1 &
] | X
<
P =11 N =
T
Swm
N Z Y
_l Lu |L
o O o

!

\
\
‘2| _ OII
|

MIN.

#5 HOOKED BARS
AT 12" o.c.

FOOTING/WALL SECTION @ DOOR

&

3/4" = 1'-0"

CL WALL AND FOOTING

CONC. SLAB (TYP.) -
SEE PLAN FOR SIZE

-7
VA

CL WALL AND FOOTING
\
A\/e
MASONRY WALL
SEE ARCH.
#5's @ 16" o.c. VERTICAL
REINFORCING IN GROUT EXPANSION
FILLED CELLS FULL HEIGHT. JOINT (TYP.)
FILL CELLS BELOW T\ CONC. SLAB (TYP.) -
FIN. FLOOR N SEE PLAN FOR SIZE
|
1 s I OR ]
2| | E zZ =
n <Z( = £ 0| < ©
L | = H L I 2
o o x o -
w ,
S| W 1 Sl
n 4 %)
| i Y
| . .
. 1
o = .
1 N Df
- — . a
| . =)
' f | Y
o * -
> 5‘ 0-3" | 4 #4'S CONT.
CLR. 2l - 6" U.N.O.

NOTE:

VERTICAL WALL REINFORCING SHALL BE CONTINUOUS THROUGH ALL BOND BEAMS

IN WALL. PROVIDE BOND BEAM BLOCK WITH KNOCKOUT IN BOTTOM.

s WALL FOOTING SECTION

\83.1A) 34" = 10"

—

—

15/16" DIA. HOLES

SQUARE

0-11/2"
1%

]
VA
PIPE OR |

HSS-SEE PLAN

NOTES:

#CO' -11/2"

1

1/ n

1. COLUMN TO BE CENTERED ON BASE PLATE (TYP. U.N.O.)

i

3/4" DIA. ASTM F1554 GR36
ANCHOR ROD w/ A PROJECTION
OF 6" (TOP 6" TO BE THREADED)
w/ HEAVY HEX-NUT AT BOTTOM
OF EMBED & (2) 1/4"x2"x2"
WASHERS

(SEE PLAN)

TACK WELD
ROD TO NUT

ANCHOR ROD ‘A

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:35 PM

NOTES:

1. <% DESIGNATES THAT WELD SIZE SHOULD MATCH COLUMN WALL THICKNESS MINUS
B P_ 1 1/16" FOR WALL, THICKNESS GREATER THAN 1/4". AT COLUMNS WITH WALL THICKNESSES

1/4" OR LESS, WELD SIZE SHOULD MATCH COLUMN WALL THICKNESS.

2. ANCHOR BOLT PROJECTION TO BE 6" (TYP. - U.N.O.) - (SEE ANCHOR ROD 'A’)

9 BASE PLATE DETAIL
\83.1A) 3/4" = 10"

G WALL & FTG

#4 VERTICAL @ 48" 0.c.IN ———

8" CMU WALL
GROUT FILLED CELLS g -'/

EXTERIOR PAVING OR o
GRADE(SEE CIVIL)

'~
e —— (1) #4 CONT.

3! - 4"

EXPANSION JOINT

(TYP.)
T/SLAB
(SEE PLAN)

FILL ALL CELLS SOLID
BELOW FINISH FLOOR

SEE PLAN

ALTERNATE
BAR BENDS

TIFTG.
(SEE PLAN)

o
1
-

.—3" CLR.

3" CLR.

2| _ 8"

(3) - #5's CONT.

\ #4@4'-0"0.C.

NOTE:
1. BACKFILL BOTH SIDE OF FOOTING SIMULTANEOUSLY
2. REFERENCE ARCHITECTURAL DRAWINGS FOR CMU TYPE.

s WALL FOOTING SECTION

\83.1A) 3/4" = 10"

(3) #5'S CONT.

s CONSTRUCTION/CONTROL JOINT DETAILS

,/7 7" KEYED SLAB JOINT

15 MIL (MIN) POLYETHYLENE
VAPOR BARRIER

4" THICK #57 GRADE STONE
CAPILLARY BREAK

TUBE OR PIPE
(SEE PLAN)
COLUMN y

CONC. SLAB \ \T
(SEE PLAN) N

11/2" GROUT | |

ﬁ:L COLUMN & FTG

24" DIAMETER SONOTUBE
BLOCKOUT OR 1/2" BITUMEN
IMPREGNATED FIBERBOARD

BOND BREAJER AT ALL
COLUMNS

SEE FTG.

SEE FTG. SCHED.

IR I

—

OI _ 3||
CLR.

i

OI - 3Il
CLR.

FOR SIZE AND REINF.

s FOOTING SECTION

Il
\H:\\\:,\H:m:m:ué\\:\\\:\

CONSTRUCTION JOINT

1/8"+

FILL SAW CUT w/
JOINT SEALANT (SEE
SPECIFICATIONS)

|
S ” i
i

\83.1A) 3/4" = 10"

LINE OF TRACK ABOVE —

AND BELOW TYPICAL

11/2" DEEP 16 GA. MBCI
HW-3121
(SEE DET 3/S4.1A)

CL COLUMN & FTG
TUBE OR PIPE —
(SEE PLAN)
COLUMN R
\
" CONC. SLAB
11/2" GROUT R (SEE PLAN)
I |
] b
M= =IN=TET NETETET ==
=== | = = | \Jﬁmﬁmﬁm‘:‘ =TT+
11
A | T/FTG.
N\ . (SEE PLAN)
Ol
| w
w T
w8 Y
) n . )
! T T T =T T T T T TT—T1 i
eIl el P o
— — ! (_)I
Ol - 3" o
CLR.
SEE FTG. SCHED.
FOR SIZE AND REINF.
NOOTE:

1. DISCONTINUE CONTINUOUS TURNDOWN REINFORCING
AT LOCATIONS INDICATED ON FOUNDATION PLAN.

74 COLUMN FTG AT STOREFRONT
\83.1A) 3/4" = 10"

PANEL AT LOAD BEARING OR
SHEAR WALLS. ATTACH PANEL
PER THE DESIGNATED SHEAR
WALL

#12 TEK SCREWS @
12" 0.C. (TYP.)

LINE OF TRACK ABOVE AND
BELOW TYPICAL

=
=
=
=
=
=
=
=
=
=
=
—I 1
_/

S¢ 9
£
CONC. SLAB-SEE PLAN ZWwzZ
TYP. CONTROL JOINT om¥X
609 TRANSVERSE
ECF SHEAR WALL
Ozg
NOTE: =83 TRANSVERSE SHEAR WALL
1. SAW CUT AS SOON AS SLAB CAN SUPPORT ® METAL STUDS. SEE PLAN FOR

WEIGHT (4 HOURS MAX.) SIZE. ADD STUDS AS

NECESSARY
2. CONTRACTOR, COORDINATE LOCATIONS OF ALL POUR BREAKS FOR
SLAB-ON-GRADE (SOG) AND SUSPENDED SLABS ON METAL DECK
1 1/2" DEEP 16 GA. MBCI
HW-3121
(SEE DET 3/S4.1A)

\83.1A) 34" = 10"

LOAD BEARING SHEAR WALL.
SEE PLAN FOR SIZE. ADD STUDS
AS NECESSARY

PANEL AT LOAD BEARING OR
SHEAR WALLS. ATTACH PANEL
PER THE DESIGNATED SHEAR
WALL

77 INTERSECTING METAL STUD SHEAR WALL DETAIL

\83.1A) 34" = 10"

CT‘COLUMN &FTG

<

(3) #5'S CONT.

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\{*‘ ‘l; 'ééll,
WOk )

S8
AL g

8

¥ 1R
\ INR R
Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

ISSUED FOR CONSTRUCTION

DETAIL 'A-A'

12 TYP. CONCRETE PIER DETAIL

\83.1A) 3/4" = 10"

o
Z
i :
STEEL COLUMN ‘ 2
(SEE PLAN) o BOND BREAKER, O I -
| TYP. o ] BIRS
11/2" GROUT, MIN | ‘ | CONC. SLAB 5 S °
’ . . < -
N / (SEE PLAN) = A .
N | T TISLAB |
\' | ‘:“’A://Ai ' “ LT e L ‘ !P» K “ — —~
H ‘ - et e e o
= 3
— TIPIER )
T (SEE PLAN)
— 1| 22 NOTE:
o o | u SEE DETAIL 9/S3.1A
4 & FOR BASEPLATE AND
— A T ANCHOR ROD DETAILS
DY 0 (@)
—| 8 32 THICKENED SLAB
AE /10
——1 2 s S31AS 3/4" = 1'.0"
e \4;’\ ‘ )
1. = L. — TIFTG
_ B SN I : : COLUMN,
Tuw [ |7/ | 1. ] w=Eray TG 8 PIER
© =N B R PUSEUTR EER
M R RIS TR 0'-11/2" CLR.
L 6 N NNTLE AN N . . % 4 |- (TYP)
1T R ‘CLR.% | EE
S e [ e 0 =k
: O
' SEE FTG. SCHEDULE T 8k
- . -— Co i
FOR SIZE AND REINFORCING S
#3TIES @ 12" O.C. e |
(8) #6 BARS 1-6"
|

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

o
€.

Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

FOUNDATION
DETAILS
(BUILDING A)

Date:
04-09-2025

LIGHT-GAUGE CEE MEMBER SCHEDULE (MINIMUM PROPERTIES) 1,2
e e o n | e [ o
ﬁ@ DESIGNATION (IN.) (IN.) (IN.) GAUGE T (N (IN."2) (IN. 74) (IN. 74)

:": 4C2x070 4" 2" 0.799 14 0.07 0.626 1.564 0.371

oT L
B y 4C2x059 4 2" 0.773 16 0.059 0.527 1.331 0.314
L [ A 4C2.5x105 4 25" 0.884 12 0.105 1.043 2.676 0.938
R R ==

ﬁ« lﬁv 4C2.5x070 4 25" 0.799 14 0.07 0.696 1.835 0.630
t y 4C2.5x059 4 25" 0.773 16 0.059 0.586 1.560 0.533
4C3.5x105 4 35" 0.884 12 0.105 1.253 3473 2.112

4C3.5x070 4 35" 0.799 14 0.07 0.836 2.375 1414

4C3.5x059 4 3.5" 0.773 16 0.059 0.704 2.018 1.193

4C4x070 4 4 0.8 14 0.07 0.906 2.646 1.957

6C2.5x070 6" 25" 0.799 14 0.07 0.836 4.687 0.729

6C2.5x059 6" 25" 0.773 16 0.059 0.704 3.971 0.616

6C3x105 6" 3" 0.884 12 0.105 1.358 7.821 1.690

6C3x070 6" 3" 0.799 14 0.07 0.906 5.302 1.130

6C3x059 6" 3" 0.773 16 0.059 0.763 4.492 0.953

8C2x105 8" 2" 0.884 12 0.105 1.358 12.012 0.697

8C2x070 8" 2" 0.799 14 0.07 0.906 8.109 0.468

8C2x059 8" 2" 0.773 16 0.059 0.763 6.861 0.395

8C2.5x105 8" 25" 0.884 12 0.105 1.463 13.649 1.196

8C2.5x070 8" 25" 0.799 14 0.07 0.976 9.210 0.800

8C2.5x059 8" 25" 0.773 16 0.059 0.822 7.791 0.675

10C2x105 10" 2" 0.884 12 0.105 1.568 20.745 0.741

10C2x070 10" 2" 0.799 14 0.07 1.046 13.598 0.497

10C2x059 10" 2" 0.773 16 0.059 0.881 11.798 0.419

10C2.5x105 10" 25" 0.884 12 0.105 1.673 23316 1.277

10C2.5x070 10" 25" 0.799 14 0.07 1.116 15.684 0.853

10C2.5x059 10" 25" 0.773 16 0.059 0.940 13.256 0.719

10C3x105 10" 3" 0.884 12 0.105 1.778 25.886 1.995

10C3x070 10" 3" 0.799 14 0.07 1.186 17.410 1.330

10C3.5x105 10" 35" 0.884 12 0.105 1.883 28.456 2.912

10C3.5x070 10" 35" 0.799 14 0.07 1.256 19.135 1.939

12C2.5x105 12" 25" 0.884 12 0.105 1.883 36.329 1.340

12C2.5x070 12" 25" 0.799 14 0.07 1.256 24.390 0.894

12C3x105 12" 3" 0.884 12 0.105 1.988 40.043 2.099

12C3x070 12" 3" 0.799 14 0.07 1.326 26.880 1.398

12C3.5x105 12" 35" 0.884 12 0.105 2.093 43.758 3.071

12C4x105 12" 4 0.884 12 0.105 2.198 47.472 4.275

PROJECT NUMBER
23-131

NOTES:

1.
2.

PRIMED STEEL MEMBERS SHALL MEET THE PHYSICAL AND CHEMICAL PROPERTIES OF ASTM A 1011. GRADE 55.
ZINC-COATED (GALVANIZED) MEMBERS MEET THE PHYSICAL AND CHEMICAL OF ASTM A 653, GRADE 55 AND
G60 COATING DESIGNATION AS DESCRIBED IN ASTM A 924.

SHEET NUMBER

S3.1A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:38 PM

4 1/8"x3"x16 GA. CHANNEL TRACK x CONT. —— REINF. W/ #5 @ 16" |
w/ (2) #12 TEKS EACH STUD (TYP.) ATTACHED TO SLAB R ) (O'I'.\((:I';’ )\/ERTICAL Sy :
wean / 1/2" DIA. DEWALT SCREWBOLT+ (1 3/4" EFFECTIVE VT —MT :
METAL "C" STUDS, SEE W ! )
PLAN FOR SIZE & GAUGE EMBED) AT 30" O.C. AT SHEAR WALL / e o ]
8" CMU ] S |
STEEL NETWORK STIFFCLIP CL362-118 (OR DBL. METAL COLUMN SEE ILIJ=S|\/$ALSE(|):IIIFRS\I(D|5 I'?\IESTF‘;”L-I'_'\I‘E% : Ve R e
. EQUIVALENT) W/ (4) #12 SCREWS OR (1) 1/2" x 1" A307 PLAN FOR gy | )
L\%ZMDZEE@P ;g ”Cig ygﬁT BOLT. ATTACHED TO SLAB w/ 1/2" DIA. DEWALT SIZE & GAUGE, (WHERE BEFOSE SLAB | CONC. SLAB N
B SCREWBOLT+ (1 3/4" EFFECTIVE EMBED) AT NON- OCCURS 30"%30" #4 OR L ;
(TYP.) SHEAR WALL (NO TRACK REQUIRED) — N ) Horie USE RIGHT SIDE DETAILING T SEE PLAN K@YStone
CONC. SLAB w/ METAL FLOOR AFTER SLAB - # @12 o.c. VERT. onne A . o St['llCtura.l
COMPOSITE DECK (SEE PLAN) CONC. SLAB w/ METAL ] EA. FACE 24"x24"x36" SUMP
EL. SEE ARCH. EL. SEE ARCH. FLOOR COMPOSITE \ . En eel‘ln
- .. | ST DECK (SEE PLAN) > > 0 Professional Consultants
3rd FLOOR D S S ——e B oR N % > | T S u e #H@9" °
" > H > T T ROOF DECK —Y¥ g cQ ARG ) =1
1 1/2" DEEP 16 GA. MBCI | m \ | 5|2 #4@ 12" o.c. 5 5 .. 531 Roselane Street
?Tv\\(/Pa;m @ THIRD POINTS 4 1/8"3"%12 GA. CHANNEL @4 HOR. EA. FACE X3 #5@9" Suite 150
: TOP TRACK x CONT. S w z5| F
- — = zZ o ]
" 12" REINF. CONC. o 2 g Z W Marietta, GA 30060
PLAN FOR SIZE & GAUGE #12 TEKS @ 12"0.C. SCREWS EACH WATERPROOFING ~5 & | NN — ELEVATION !}
_ EACH HEADER SIDE, EACH STUD. SEE o Pl _ . N . . . — . X
4 1/8"x3"x16 GA. CHANNEL TRACK x CONT. INTO FLOOR DECK SCHEDULE PVC WATERSTOP < <| W o | T
w/ (2) #12 TEKS EACH STUD (TYP.) w/ 1/2" DIA. DEWALT PROVIDE DOWELS x CONT. 8 o o K < W) Viddtg,,
SCREWBOLT+ (1 3/4" EFFECTIVE EMBED) @ 30" O.C. NN TO MATCH VERT. o = . . N #H@9" \‘ P\N k. CR
REINF. TYP. 3 w . %
DOUBLE "C" HEADER S <(, YCEN s
EL. SEE ARCH (SEE PLAN) 0 . ) ) ) ® QS\
: : I A . DBL. METAL COLUMN 5 &, . A
T . o : . 218
2nd FLOOR g; SRL: I E— x%? zEGEAEIéAEN FOR SIZE S . <SS . P SEE PLAN FOR z 5@ :* ;: No. 7/4 \ :ﬁ .'. *E
: ELEVATION = e , A : =
| [ ‘U* 1 / . D [ [ < .\\ -: .: ?\ * . : \
® L ]
4 1/8"x3"x12 GA. CHANNEL e ‘. o=
11/2" DEEP 16 GA. MBCI TOP TRACK » GONT. HEADER DETAIL ® g #5@ 12" 0.c. EA ',‘23 BTATE OF .@:
HW-3121 2 BOT e2A% Al ERTR)
@ THIRD POINTS (TYP.) LN #12 SCREWS @ 12" 0.c. (TYP.) FLOOR LEVEL ON LY CEIII:{ 1'-0"| 1'-0" SEE ARCH'L. DWGS. 1'-0" | 1'-0" WAY TOP & BOTT. e e "OK\'F_S‘L B \Q?:-‘t’}\%\‘\
A e : . - - — #5 @ 9" i l&‘ Aane = LY
M FOR SHAFT SIZE | UAYFSIONAL KR
METAL "C" STUDS, SEE \/ gty
4 1/8"x3"x16 GA. CHANNEL TRACK x CONT. PLAN FOR SIZE & GAUGE
w/ (2) #12 TEKS EACH STUD (TYP.) w/ 1/2" DIA. DEWALT Rev.
SCREWBOLT+ (1 3/4" EFFECTIVE EMBED) @ 30" O.C. METAL WALL PANEL ELEVATOR PIT SECTION No. | Date Name
Ala=Aie ’ NTS. TYPICAL SUMP DETAIL
( ) (COORDINATE LOCATION WITH ELEVATOR MANUFACTURER) 1 104-09-2025 Contractor
CONC. SLAB ON Coordination
GRADE (SEE PLAN
X7 NS E—— DS e R ~+_HEADER DETAIL 1 _ELEVATOR PIT T
TStFLOOR - = - i we Lo o 0 T o s e e T Coordination
S41A 3/4" = 1 I_Oll S41A 1 /2" = 1 I_Oll
TYP. LOAD BEARING WALL
73 SECTION o . SUMP DETAIL
S41A 3/4|| = 1|_0u { S41A 3/4|| = 1|_0u
I 4 1/8"x3"x16 GAUGE CHANNEL TRACK x CONT. w/ (2) #
\ 12 TEKS EACH STUD (TYP.) w/ 1/2" DIA. DEWALT
LT. GA STUD WALL, 1 SCREWBOLT+ (1 3/4" EFFECTIVE EMBED) @ 30" O.C.
(SEE PLAN) S s
0'-41/8" (4HU3x075) C4 1/8"x3" w/ 3/4" \ CONC. SLAB w/ METAL FLOOR
3" METAL ROOF DECK OUTWARD FLANGES x14 GA. ROOF . COMPOSITE DECK (SEE PLAN) DOUBLE HEADER ATTACHMENT BOX HEADER ATTACHMENT
(SEE PLAN) HAT CHANNEL 2 1/2" LEG TRACK x HEADER DEPTH, SAME BACK-TO-BACK 4" & 2 1/2" LEG TRACKS x
- | ‘ Lwdk‘ | GAUGE AS STUD. TRACK WIDTH EQUAL TO HEADER DEPTH, SAME GAUGE AS STUD.
J 7 J DOUBLE STUD HEADER WIDTH. ATTACH HEADER TRACK WIDTHS EQUAL TO DOUBLE STUD
| | = — = — - — — —» TO TRACK AND TRACK TO HEADER SUPPORT HEADER WIDTH. ATTACH HEADER TO TRACK
EL < S 3 | Bl I PER HEADER CONNECTION SCHEDULE ON SO0.1 N N AND TRACK TO HEADER SUPPORT PER
{; SEE ARCH | N | T V /T HEADER CONNECTION SCHEDULE ON SO0.1 VT
@ y ATTACH FLOOR DECK TO STEEL
) - (é) g;%ﬁ%iﬁvgs EACH SIDE BEAM w/ (2) #12 TEKS OR HILTI 0 B 2;/5;&%7\ B
XU 16 @ 12" C/C. — —
0'-0 3/4"J e Yg’éETPELi';\I?EAM ATTACH METAL DECK TO HEADER PER METAL 0' - 0 3/4" MAX. ) ATTACH METAL DECK TO HEADER PER METAL 0'-03/4" MAX.
DECK ATTACMENT PATTERN .~ EDGE DISTANCE {‘;R'l&%?( DECK ATTACMENT PATTERN |~ EDGE DISTANCE
/= — #12SCREWS @ 6" o.c.
\ [ 1
FLOOR Wx BEAM DETAIL A : . : . Neo on el - : . : cles
1 1/2" DEEP 16 GA. MBCI HW-3121 ++/ e oea e . le / P
.
@ MID-HEIGHT (TYP) % e oea I T % PN
++ + 4+ + o+ |t . ++ 4+
*L‘+ + + + + L7++++7J A A + + + ++H++
. BN
DECK BEARING DECK BEARING HEADER WIDTH SAVIE GAUGE AS
m m B B HEADER WIDTH, SAME GAUGE AS
STUD. #12 SCREWS AT 12" O.C. EACH
s41A) 34" = 10" S41A) 3/4" = 1'-0" A * * A DOUBLE HEADER / A * * A S
v (2)STUD HEADER —N\—
L FACE OF STUD L FACE OF STUD
BOX HEADER
1/4‘
W6x15 BEAM ™ T — —
1/4‘ / XBEECII_E SVTIILEIEFEEAC\)“QSSRS |\C/|g¥:|_o Fsllg%g%’\szcciETE CONNECT DBL. STUDS SECTION B \ \ CONNECT DBL. STUDS SECTION B
| | ‘ | (SEE PLAN) ' L . w (2) ROWS OF #12 TEK ——/ w/ (2) ROWS OF #12 TEK
7 SCREWS @ 12" o/c (TYP.) SCREWS @ 12" olc (TYP.)
5 - - L o —
N | | o L | \ |
N A
\ \\ T.O. SLAB SECTION A DOUBLE "C" STUDS, BACK SECTION A DOUBLE "C" STUDS, BACK
. 3/8"x4"x6" LONG A36 PLATE w/ SEE PLAN A ey R W S e e e o ] - _ TO BACK, SEE PLAN. - TO BACK, SEE PLAN.
@ ¢ 6"METAL STUD WALL | (4)#12 TEK SCREWS N T A T S TR OR OR
FRAMING BEYOND | \\ R Y NI Y se RO HSS COLUMN HSS COLUMN
. 4 1/8"x3"x12 GA. CHANNEL < S Ve f e i 4 IEe
3" 3" - TOP TRACK x CONT.
A
% I —L N L
W6x15 BEAM | i
24" LONG ASTM SECTION A-A
A706-GRADE 60 #4's
1/4" @ 24" o0.c. WELD o TOP TRACK, MATCH
’ D SEE PLAN !; ( ) & SCHEDULE
| D— — — — R S T.O. SLAB
i g AR Af PA 12, DOUBLE HEADER BEARING DETAIL 120, BOX HEADER BEARING DETAIL -
AY A 5 { 14 12
S4.1A/  3/4" = 1'-Q" S41A) 374" = 1'-Q" PROJECT
CONNECT DBL. STUDS
1/4‘ 4 1/8"x3"x12 GA. CHANNEL ——/ w/ (2) ROWS OF #12 TEK
B TOP TRACK x CONT. SCREWS @ 12" o/c (TYP.)
A
1/4 ‘ X 3/8"x4"x6" LONG A36 PLATE w/ T 1 9th La ne
(4) #12 TEK SCREWS

SECTION A Vero Beach

Storage
@ 24'7161\'-80" EDGE DETAIL @ STOREFRONT ggLéIZI_CEK“'(é"E?ETFL)JLDASN.BACK BUlldlngS

OR
HSS COLUMN
—1 N |
.
ADDRESS
19th Vane,
HEADER BEARING DETAIL ABOVE, WHERE OCCURS METAL FLOOR DECK, ) ) Vero Beach, F1 32966
m (SEE PLAN) METAL STUD FRAMING COMPOSITE CONCRETE
METAL STUD FRAMING COMPOSITE CONCRETE S4.1A)  3/4" = 1'-Q" ABOVE, WHERE OCCURS o METAL FLOOR DECK,
ABOVE, WHERE OCCURS L METAL FLOOR DECK, (SEE PLAN) CLIENT
(SEE PLAN) |
o T.0. SLAB W4
| SEE PLAN SR B LS IV A N . I - S VSV S
T.0. SLAB _ - o - /\ - o 7 - o . fooe LT S Tl AP Sa SEE PLAN » PRESI P
SEE PLAN SN AR TIPS A A S AP S wO G RPN AR 2 TN SN RN . - of, < e \« Lo alfli 4 L A< e - L a-
o <. - /\' N LN B N oL T , ‘ o - s ¢ 4 al Y e e T - | - /\/’ ST \Aq\lé“” L\\v/«\ S / A R ’ a4 - . 4
Y4 < ‘ ! : . 'jA 'A\/’\:A : T NP \/Aqi g . < . \« N,y ¢ - o e (] &
e L Y V4 V &2 O AN B T i
o SR MAX. 7 N . Shamrock Building
+ + o+ + |+|+ + \
N ll - HEADER - SEE PLAN —— al Vo 7 o SyStemS, Inc.
TOP TRACK, MATCH EQ—, & SCHEDULE eq—] EQ /) HEADER - SEE PLAN e
STUD GAUGE . EQ/ EQ/ & SCHEDULE HEADER - SEE PLAN A7 ADDRESS
(SEE PLAN) 3 HEADER - SEE PLAN . METAL STUD INFILL BLOCKING x & SCHEDULE /| HEADER - SEE PLAN
& SCHEDULE - HEADER DEPTH BETWEEN DOUBLE EQ- & SCHEDULE
EQ.— , . J STUD HEADERS AT ALL LOCATIONS Pc = di2(MAX.) 0P TRACK - SEE PLAN 1298 Concord Road SE
0'- 0 3/4" MAX. p = hi2(MAX) A * * A - Smyrna, GA 30080
FROM WEB p = di3(MAX.)
BRICK VENEER WHERE A * * A
SUBSTRATE SHEET TITLE
B 5'-0" MAX. | 5'- 0" MAX. - (SEE PLAN) \s/ oo = ALLOWABLE TOTAL
~ — - CONNECT DBL. STUDS
- PROJECTION OF " —, " W(2)ROWSOF #12TeK
~1 CORBELLING SCREWS @ 12" ol (TYP.) CONNECT DBL. STUDS
- p = ALLOWABLE - ——/ w/ (2) ROWS OF #12 TEK
A PROJECTION OF ONE . SCREWS @ 12" o/c (TYP.) F RAM I N G
| .— UNIT DOUBLE "C" STUDS, BACK DOUBLE "C" STUDS, BACK —
N o d =  NOMINAL UNIT HEIGHT TO BACK, SEE PLAN. TO BACK, SEE PLAN.
DOUBLE "C" STUDS, BACK - - + THICKNESS OF ONE HSS C%'T_UMN SECTION A - D ETAl LS
TO BACK, SEE PLAN. i MORTAR JOIST HSS COLUMN /
OR Pc a = AIRSPACE THICKNESS SECTION A
2 —— (BUILDING A)
a "C" STUDS, SEE PLAN. ————————
-— — — N 1 — N OR
d VT v HSS COLUMN
—1 N | — N |
A | AV AV

Date:
04-09-2025

NTIN HEADER BEARING DETAIL PROJECT NUMBER
<1 STUD HEADER BLOCKING DETAIL 13 LIMITS OF BRICK VENEER CORBELLING <7 _CONTINUOUS HEADER BEARING DETAIL @ 2491--0-- UUS G 23131

W 3/4" = 1'-0" W 3/4" = 1'-0" W 3/4" =1'-0" SHEET NUMBER

S4.1A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:41 PM

‘ CL COLUMN AND PL

BEAM- SEE PLAN

1/4"

3/8" STIFFENER PL.

EACH SIDE

1/4

PL 3/4"x FLANGE WIDTH x1'-0"
OR COLUMN WIDTH + 1" MIN.

(4) 3/4" DIA. BOLTS

COLUMN - SEE
PLAN FOR SIZE

<1 BEAM OVER COLUMN DETAIL

\842A) 3/4" = 10"

4"x2"x16 Ga. CONT. ANGLE ATTACH TO
FLOOR DECK w/ #12 TEK SCREWS @ 6" o.c.
& TO STUD TRACK @ 6" o.c.

3" DEEP 20 GA. COMPOSITE

FORMING DECK (2 SPAN CONDITION)

#12 TEKS @ 6" C/C

d; SEE PLAN
T.0. SLAB
TRACK - ATTACH TO EA. STUD FLANGE

w/ #12 TEK EA. SIDE OF TRACK.

2" WIDEx16 GA 45° STRAP w/ (3) #12
TEKS, EA. STUD SIDE, EA. END, TYP.

#12x3/4" TEK SCREW PANEL
FASTENERS @ 12" o.c.

CONT. ANGLE STRUT 2x4x14 GAUGE LLV
TOP OF PANEL. (3) #12 SCREWS PER STUD

METAL WALL PANEL (SEE PLAN)

NOTES:

Ly

}

K

SEE ARCH'L DWGS

\¥ NON-LOAD BEARING.

SHEAR WALL (4CS2x059

1 @ 30" 0.c. MAXIMUM)

- 16 GA. STRAP NOT NEEDED IF WALL PANEL IS CONTINUOUS TO UNDERSIDE OF DECK, FULLY BRACING THE STUD.
- FASTEN PANELS TO BOTTOM TRACK W/ #12x3/4" TEK SCREW PANEL FASTENERS @ 12" o.c.

COLUMN - SEE PLAN i\
| |

3/8"x"L" A36 SINGLE
SHEAR PLATE

BEAM - SEE PLAN

S o ofo aff

\

>

IE

5/16‘

3/4" DIA. A325 BOLTS TYPE N
"N" = NUMBER OF BOLTS

BEAM SIZE PLATE LENGTH NUMBER OF BOLTS
T et
w24 19" 7
w21 1-6" 6
W18 1-3" 5
W16 1-0" 4
W12-W14 0'-9" 3
W8-W10 0-6" 2

2 BEAM TO COLUMN DETAIL

\842A) 3/4" = 10"

(2) #12 TEK SCREWS ATTACHMENT OF
TRACK TO STUD AT STRAP BRACE TOP
ATTACHMENT EACH SIDE TYPICAL

++

i+

i+

ERE

-7 SHEAR WALL STRAP BRACING ABOVE METAL PANEL (TRANSVERSE SHEAR WALL)

\842A) 34" = 10"

METAL WALL PANEL
(SEE PLAN)

1/2" DIA. DEWALT SCREWBOLT+
(1 3/4" EFFECTIVE EMBED) @ 30" O.C.

d ; SEE PLAN
T.0. SLAB

 S—
—

SEE ARCH'L DWGS

GAUGE LLV TOP OF PANEL.
(2) #12 SCREWS PER STUD

#12x3/4 " TEK SCREW PANEL
FASTENERS @ 12" o.c.

METAL WALL PANEL
(SEE PLAN)

2" WIDEx16 GA 45° STRAP w/

(3) #12 TEKS, EA. STUD SIDE,

EA. END, TYP.

CONT. ANGLE STRUT 2x4x14 /

COMPOSITE CONCRETE METAL
FLOOR DECK, (SEE PLAN)

3" DEEP 20 GA. COMPOSITE
FORMING DECK (3 SPAN CONDITION)

(2) #12 TEK SCREWS ATTACHMENT OF
TRACK TO STUD AT STRAP BRACE TOP
ATTACHMENT EACH SIDE TYPICAL

CONC. SLAB w/ METAL
FLOOR COMPOSITE DECK
(SEE PLAN)

2" WIDEx16 GA 45°
STRAP w/ (3) #12 TEKS,
EA. STUD SIDE, EA. END,
TYP.

CONT. ANGLE STRUT
2x4x14 GAUGE LLV TOP
OF PANEL. (3) #12
SCREWS PER STUD

METAL WALL PANEL
(SEE PLAN)

CONC. SLAB w/ METAL FLOOR
/ COMPOSITE DECK (SEE PLAN)

+

CHANNEL TRACK

i Ed

+++@<

+++@<

TYP.

BEARING SHEAR WALL
(BSW), SEE PLAN

NOTES:

- 16 GA. STRAP NOT NEEDED IF WALL PANEL IS CONTINUOUS TO UNDERSIDE OF DECK, FULLY BRACING THE STUD.

- FASTEN PANELS TO BOTTOM TRACK W/ #12x3/4" TEK SCREW PANEL FASTENERS @ 12" o.c.

s SHEAR WALL STRAP BRACING ABOVE METAL PANEL

\8428) 3/4" = 110"

2" WIDEx16 GA 45°
N STRAP w/ (3) #12 TEKS,
EA. STUD SIDE, EA. END,

CONT. ANGLE STRUT

2x4x14 GAUGE LLV TOP
OF PANEL. (3) #12
SCREWS PER STUD

METAL WALL PANEL

(SEE PLAN)

SEE ARCH'L

T.0. PARAPET

DECK BRG.

6 1/8"x3"x16 GA.
METAL TOP TRACK

w (2) #12 TEK SCREWS
EACH STUD (TYP.)

(2) 2x4 P.T. x CONT. w/ #10
SMS @ 6" o.c.

/0' -01/2"
AA/

T.0. ROOF

(VARIES)

CONT. w/ (2) #12 SCREWS PER STUD

NOTE:
DECK SPAN DIRECTION

~ \
TOP FLAT PANEL CLOSER STRIP TO /
MATCH METAL WALL PANEL GAUGE y
MIN (12" o.c. max.)
C6" METAL STUDS, (SEE PLAN)
A

CHANGES AT SIMILAR CONDITION.

3 ROOF DECK BEARING

\842A) 3/4" = 10"

VENEER (SEE ARCH'L)

|
{ SEE ARCH'L
2
[
|

3" METAL ROOF DECK (SEE PLAN) FASTEN
DECK EDGE TO CONT ANGLE W/ #12x3/4"
TEK SCREW FASTENERS @ 12" o.c.

4C3x070 x CONT (SLOPE). PERIMETER
DECK LEDGER. PROVIDE STUD AT
EACH END OF LEDGER)

(4) #12 TEK SCREWS
EACH STUD (2 TOP SCREWS SIDE BY
SIDE)

METAL WALL PANEL (SEE PLAN). FASTEN
PANELS TO CONT. DECK BEARING ANGLE W/
#12x3/4" TEK SCREW PANEL FASTENERS @
12" o.c.

1/2" DIA. DEWALT SCREWBOLT+
g — (1 3/4" EFFECTIVE EMBED) @ 30" O.C.

0 -11/2"

(1) #5's CONT. 0'-2 1/2"\
@ ENTIRE PERIMETER \‘ . COMPOSITE CONCRETE METAL
-/ S FLOOR DECK,
| - (SEE PLAN)
o
0'- 0 1/4" INSET iy ‘)
POUR-STOP i

5/8" DENSE GLASS GOLD

w/ §$12 BUGLE HEAD (S.S.)

SMS @ 6"o/c
OR

FIRE RATED DRYWALL SYSTEM

s FLOOR

| SEE PLAN $
I A T.0. SLAB

A

)
T
b
1

L5 1/2x3 1/2x14 GA. x CONT.
PERIMETER DECK ANGLE

METAL "C" STUDS
N (SEE PLAN

FOR SIZE & GAUGE)

0-11/2"

DECK BEARING

\842A) 34" = 10"

=

SINGLE STUD

CLIP ANGLE 12 GAUGE 2x2x3 LONG. ATTACHED
TO SLAB W/ 3/8" DIA. HILTI KWIK BOLT TZ-CS (2"
EFFECTIVE EMBED) w/ WASHER AT 30" O.C. AT
SHEAR WALL OR

1/2" DIA. HILTI KWIK (3) (2" EFFECTIVE EMBED) w/
WASHER AT 30" O.C. AT NON-SHEAR WALL

ATTACH TO POST WEB
W/ (4) #12 TEKSCREWS

ATTACH TO POST
WEB W/ (6) #12
TEKSCREWS

NOTE;
TRACK NOT SHOWN FOR CLARITY

O O
P

A

BACK-BACK/
POST BASE

10 POST BASE ATTACHMENT TO SLAB

\8428) 3/4" = 110"

VENEER (SEE ARCH'L)

0-11/2"

(1) #5's CONT. 0'-21/2"

@ ENTIRE PERIMETER

SEE PLAN

= =

A

1/2" DIA. DEWALT SCREWBOLT+
(1 3/4" EFFECTIVE EMBED) @ 30" O.C.

COMPOSITE CONCRETE
METAL FLOOR DECK,
(SEE PLAN)

/7

T.0. SLAB

0'-01/4" INSET

<

POURSTOP

k

A

0 -11/2"

i\

5/8" DENSE GLASS GOLD
w/ S12 BUGLE HEAD (S.S.)
SMS @ 6"o/c
OR
FIRE RATED DRYWALL SYSTEM

L51/2"x3 1/2"x14 GA. x CONT.
PERIMETER DECK ANGLE

METAL "C" STUDS
(SEE PLAN FOR SIZE & GAUGE)

FULL WALL WIDTH CONCRETE
BEARING ON ALL PERIMETER WALLS

S42A)  3/4" = 1'-0"

@ FLOOR DECK BEARING

COLUMN |

SEE PLAN \

ERECTION |
TAB ‘

-

(TYP.)
1/4"

HSS B
SEEP

LAN =
N

EAM

11 TYP. CONN. OF TUBE BM. TO COL.

1/ n

1/4"

-
\

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\llll,l'

\\‘%P\Nﬂ FCRO@'I

% $._.- 2 X 4
:Q(‘(.'"\,\CEN‘.S {&

RS
ST e

o2 No 7/d \v?; '.*E
=: | ¥ T2
i LA -
2o, BIATEOF &S

¥ 1R
\ INR R
Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

\842A) 3/4" = 10"

ROOF DECK/STANDING SEAM

ROOF DECK ATTACHMENT, #12 TEK

STANDING SEAM ATTACHMENT PER

SCREWS @ 6" O.C.
THE MANUFACTURERS
SECIFICATIONS

6 1/8"x3"x16 GA.

METAL TOP TRACK

w/ (2) #12 TEK SCREWS
EACH STUD (TYP.)

4 AN

BEARING ELEVATION

C6" METAL STUDS, (SEE PLAN)

5/8" DENSE GLASS GOLD
w/ S$12 BUGLE HEAD (S.S.)
SMS @ 6"olc
OR
FIRE RATED DRYWALL SYSTEM
AT ALL STAIR AND ELEVATOR
SHAFT WALLS

NOTE:

-

SEE ARCH FOR GUTTER AND FACIA NOT SHOWN

']

7
g x r
ROOF DECK
OR
STANDING SEAM
(SEE PLAN)
#12 TEK SCREWS @ 12" o.c.
(TYP.) TOP OF METAL WALL
PANEL ATTACHMENT TO
TOP TRACK
METAL WALL PANEL
(SEE PLAN)

s ROOF DECK BEARING

\842A) 3/4" = 10"

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

o
€.

Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

FRAMING
DETAILS
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S4.2A




6/19/2025 12:48:45 PM

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

=

SIMPSON S/HDU4 w/ 5/8" DIA.
ANCHOR BOLT

T.O. SLAB

29 GAUGE PBU PANEL ON ONE

| SIDE OF WALL TO 8' - 4"
MINIMUM WITH STRAP

| BRACES ABOVE TOP OF

PANEL

o) ‘ STUD @ SHEAR WALL ENDS

(SEE PLAN)

 S—
—

NOTE;

THE DETAIL APPLIES ONLY AT
THE TOP FLOOR (SUPPORTING
ROOF FRAMING ONLY)

o
%

A

1 END OF SHEAR WALL HOLD-DOWN DETAIL

\84.38) 34" = 10"

STRAP 2" x 16 GAUGE x 50 ksi
MATERIAL. ATTACH TO STUD
ABOVE AND BELOW FLOOR
WITH (6) #12 TEK SCREWS.
APPLY DIRECTLY FLUSH TO
METAL MEMBERS AND NOT
OVER ANY SHEATHING

STUD @ SHEAR WALL ENDS

/ BOTTOM TRACK

8"

++++++‘

{; T.0.SLAB
<

\ S

8"

‘++++++

NOTE;

THE DETAIL APPLIES ONLY AT
THE TOP FLOOR (SUPPORTING
ROOF FRAMING ONLY)

|
|
|
N

FLOOR SYSTEM

TOP TRACK

2 PERIMETER STUD TIE BETWEEN FLOORS DETAIL

(8438 374" = 10"

\
* +
R {4 * 1] By = ] A + ]
| B
\ |
G CHANNEL & 6" METAL STUD WALL (1) 6C2.5x059 x 10" - 0' LONG \ (2) 6C2.5x059 x 10' - 0' LONG
FRAMING BEYOND \ | & COLUMN BRACE BEYOND COLUMN BRACES (1) EACH
| | SIDE OF COLUMN
‘ | | 6"x5 1/2"x3/8" x 0’ - 8" TALL \ | (2) L3 1/2"x2 1/2"x1/4" x ' - 8"
‘ A36 STEEL PLATE ‘ ‘ LONG CLIP ANGLE
| r0 PARPET g | 1 T Lo
| B (SEE PLAN) #12 SCREWS @ 8" o.c. | ‘/ 14 WELD ALL STUD BRACE AT 1/3 POINT
‘ ‘ ACCESSIBLE LOCATIONS
| C6x8.2 PARAPET | | ‘\ 1/4 SURFACES
CHANNEL
| | \ |
\ / | | |
| HSS COLUMN BEYOND | | |
~ \ |
= /
n|Z
83 ‘ | || |
¥ C6" METAL STUDS, | | |
< (SEE PLAN) 4C2.5%059 x 10' - 0' LONG 4C2.5%059 x 10' - 0' LONG || 1/4 ‘ / WELD ALL
23 BRIDGE (OPTIONAL AS BRIDGE (OPTIONAL AS | | \ \ ACCESSIBLE
REQUIRED BY DECK LAYOUT) REQUIRED BY DECK LAYOUT) | e 1/4 ‘ \ SURFACES
METAL ROOF DECK o \ |
, 6 1/8C2.5x059 x 10' - 0' LONG TRACK (2) 6C2.5x059 x 10' - 0' LONG DECK . \
(SEE PLAN) \ \ HSSEx6x1/2 N (10) #12 SCREWS
- BEARING COLUMN BRACES THAT DO \ \
(2) 6C2.5x059 x 10' - 0' LONG FILLER NOT ALIGN WITH PARALLEL DECK | 1 COLUMN NN MIN. EACH SIDE OF
v COLUMN
FLUTES | |
y \ /[ \/ \ /[ \/ \_/_L DECK BRG. o | (2) L3 1/2'x2 1/2"x1/4" X 0' - 8"
‘ e = (VARES) | LONG CLIP ANGLE
:: o] -3 PARAPET BRACE PARALLEL TO ROOF DECK FLUTES | - SECTION A-A
oo +
71/8" 1/8"
\ S43A 3/4" = 1!_0" /8 ‘ ‘ 5 /8 ‘ ‘
—_ " ‘
0| Z (2) 6C2.5x059 x 10" - 0" +/- 3" \ | 3" e
mS LONG COLUMN BRACES (1) (TYP.) | L (TYP.) L |
x o ON EACH SIDE OF COLUMN — | /
< (SIM. TO 6/S4.3A) | | |
7] \ | HSS5x5x1/4" OUTRIGGER —— \
(2) L3 1/2"x2 1/2"x1/4" x 0" - 8" | ‘ | | |
\ LONG CLIP ANGLE 3/4"x8"DIA. FACE | |
\ | PLATE \
A I J T.0. BEAM !} | ‘ | | |
(32'-0%) L 5"x6"x3/4" PLATE L
\
-’ METAL WALL PANEL (SEE PLAN). FASTEN ‘ 3/4"x6"DIA. \ |
PANELS TO CONT. DECK BEARING ANGLE W/ CAP PLATE T.0.OUTRIGGER
#12x3/4" TEK SCREW PANEL FASTENERS @ Mﬁ— s B \=\ \ (24" - 11 1/2")
12" o.c. o
~ \\; - |
~ ~
A
W6x15 BEAM = ~
- |
NOTE: -~ 4178 |
—_— — —~
DECK SPAN DIRECTION _ e 0
\ CHANGES AT SIMILAR CONDITION. o S~
P =
| . - 1/4‘ TYP. -
o _— GALVANIZE ALL e BOTH SIDES, ;
- F = - _F | | EXTERIOR STEEL | | 1/4‘ BOTH ENDS »
s _PARAPET FRAMING SECTION — — ‘
5 4" DIA. STD. PIPE = = _ = | | | |
- —
S4.3A 3/4u — 1|_0u BRACE P / F = = = ‘
F T | | )
// ‘
© | ]! F.F.E $
# : - A
| oL A\ A N N AN N AN AN N A Nk
3" o 41/2" 1/32/:1 | | | | P H
% N 3/4"x6" DIA. | | \
W e CAP PLATE ) | \ | L4x4x3/8"x10-0" LONG CANOPY COLUMN
91/2 | | BRACE WITH 3/4"x5" LONG
. | | | HEADED STUDS @ 12" o.c. AT EACH CANOPY
TS FFE. $ 11/4"DIA. ——— | \ | ! | SUPPORT COLUMN 1" TYP.
A 1 o1 - 4% BOLT (TYP.) ‘
el 1 [\ [ N/ n R AT | | |
T - I = 5"x6"x3/4" ———— | | ‘
> | e PLATE | . WELD ALL
< In B | ACCESSIBLE
5 Yy Xx | . 3/4"x8" DIA. HSS12x6x1/4" OUTRIGGER | HSS12x6x1/4" OUTRIGGER 1/4‘ SURFACES
™ CAP PLATE = BEYOND | \
- ‘i(( \ A = \ \ |
\ / " o~ SLOPE 15X33.9 CONT. \ | 15X33.9 CONT. \ \
. (10) #12 TEK SCREWS ;'?SSXSSL’,“ 2 1/4" et PEYOND . |
= (3/4" IN FROM ALL DETAIL A-A
N v EDGES AS SHOWN) — ‘ — | | —3\| |
ol - | % CL362/100-68 STIFFCLIP i | ] _\_\ ] o T.0.OUTRIGGER
0| H | X W\% T | = 17" -2 1/2" :
3 I (
IS = e H | - .
— < | — -
n — —3 D—
Aﬁ‘r} GNP 4, BOTTOM CHANNEL L = ] | >
. 3/4"x6"DIA. ——— S ) (16"-17) v \ | =
8 FACE PLATE / | | | | -
A 15x33.9 [ 1 4‘ o
2 1/2"%4"3/8" | . (2) 3/8"X3" WIDE 822.25X14 PURLIN @ 4'-0" MAX. | CONT. BEYOND / TYP. -
PLATE 3/8" LOOSE PLATE STIFFENER PLATES ATTACH TO BEAM WITH 14GA 2X2X6" LONG | | | | 1/4 BOTH SIDES
DETAIL B-B I 1058?\??'9 EACH SIDE OF WEB CLIP ANGLE. (4) #12 TEK TO THE BEAM AND 1-0" e |
3/8"x4"DIA. 1 ‘ t : TO THE PURLIN | | 21/8" ‘
CAP PLATE \ + 1 \ DETAIL AA | | | |
‘\j + / 20! _ Oll ‘ ‘
XAN* ‘ | ‘
\ 4 ‘ an ‘
GALVANIZE ALL WELD ALL -
EXTERIOR STEEL N \ 1/4‘ ACCESSIBLE | | 5 1/8"/ =
INCLUDING OUTRIGGERS. i | | | E
| 1/4 SURFACES | | | B o
o
@ 3/4"x5" LONG HEADED \ \ o
STUDS @ 12" o.c. ‘
. 2" DIA. STD. | \ \ | V] v | |
© PIPE BRACE HSS4xdx1/4" —— | | — o |
5 OUTRIGGER N | | ‘ | | FFE BN
S Y (0-e) |
L | \[/ \/ U/ | I/ U/ (21'-4") 3/4"x5" LONG HEADED STUDS @
3/8"x4" CAP ——— 5'- 0" MAX. 9" |3" N ‘ ‘ - 12" o.c. (ABOVE STOREFRONT)
SLATE (2) 6CS2.5x059 BACK TO 1/4 ‘
N 7, (SEE ARCH.) BACK AT EACH BRACE hi | o | | FEE
2 1/2'x4"x3/8" —— - \ 1/4‘ \ | \ \ 10'- 8" $
SLATE K / | CONT. 2x PRESSURE | OR | | ( )
TREATED BLOCKING §L/A - T.0.STEEL
¥ ; N $ 0.
3/4" DIA. BOLT RN 3/4" PLYWOOD DECKING . o (10 - 21/2")
(TYP.) — L \% SUPPORTED BY 4CS52.5X059s CL362/100-68 STIFFCLIP w/ 1/2" | ALT. SECTION FOR gl L L
5 y z @ 2'- 0" o.c. MAX. DIA. DEWALT SCREWBOLT+ WHEN BRACE AND L4x4x3/8"x10'-0" LONG CANOPY M M x
N—— Z . (1 3/4" EFFECTIVE EMBED) HSS COLUMN ALIGN COLUMN BRACE WITH 3/4°x5" [ L4x4x3/8"x10'-0" LONG CANOPY
/ 2 & LONG HEADED STUDS @ 12 COLUMN BRACE WITH 3/4"x5" LONG
5 - /| C o S A CAOPY M ‘ I8 PLATE I HEADED STUDS @ 12" O.C. AT EACH
£ X6x3/8" CANOPY SUPPORT COLUMN "
R I v / BN FFE. f} BEAM (SEE PLAN) 1" TYP.
BOTTOM OF \ ‘#“/ : $ (10°-8) - : mE
q ; CANOPY ++—+ +—++ F OI OI ‘ ‘ ‘
(10| - 3") / -r -r
_ WELD ALL
Z | T/STEEL CCESS
A0 2 1720 | ACCESSIBLE
6.125T3x059 TRACK 6CS2.5x059 @ 2' - 0" 0.c. MAX. | A » BN 1/4 SURFACES
AND (2) 6CS2.5x059 BACK TO
WELD ALL
BACK AT EACH BRACE
DETAIL B-B \ ACCESSIBLE \ ‘ |
6.125T3x059 TRACK 174 SURFACES
3/8" LOOSE |
PLATE ‘
1/2" DIA. THREADED ROD @ 24" o.c. | | | |
INSTALLED w/ HILTI HIT HY200 STEEL BEAM "
ADHESIVE ANCHOR SYSTEM \ (SEE PLAN) CANOPY BRACE PARALLEL TO DECK FLUTES |
(6" EMBED) |
\

(1) INSTANCE

TOP OF PARAPET

(SEE ARCH.)

(10) #12 SCREWS MIN.

5\

8"

(3) INSTANCES

A\

METAL CEE STUDS
(SEE PLAN FOR SIZE
AND SPACING)

(10) #12 SCREWS
MIN. EACH SIDE OF
COLUMN

‘1/4

‘1/4

6"x5 1/2"x3/8" x 0' - 8" TALL
A36 STEEL PLATE

1/4‘\

(10) #12 SCREWS MIN.

SECTION B-B

3/4" MAX.
FROM WEB

(2) ROWS #12 SCREWS @ 8"
O.C. (1 EACH DECK FLUTE)

~+_CANOPY SECTION

(8438 3/4" = 1'-0"

s CANOPY SECTION

(8438 3/4" = 1'-0"

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\{Q“F?'éél"

WOMLLLS %’f
S .7,/ ¢
SOOI

- L
s io. 7218 ", ®
:-*: No /d \V?; ':*:
- : | ¥ : o=\
- 3 i A : 5 \
0. BINEOF &S
"‘))0..' /"ﬁ o "'é"\‘
?’%..‘LOR\O_ O
I 5o XU PR [N
A .‘,,LS;/'ONA\, ?-“\\
N/ INER R )
\
Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

CLIENT

*

Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

FRAMING

DETAILS &

SECTION
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S4.3A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:48 PM

10' - 6" MAX.

(t STUD WALL
/

I
N\

—\

b

2]

(t STUD WALL
/

4CS2.5x059 x 6" LONG —————
PONY STUD w/ (4) #12
SCREWS MIN. (TYP.)

10' - 6" MAX.

STEEL NETWORK
STIFFCLIP CL362-68
(OR EQUIVALENT) w/
(4) #12 SCREWS MIN.
(TYP.)

| I‘\T

—

T

=
k=

EY

L.

]
-

r
i

,
o
— 1

—
L
S

\ 3" DEEP ROOF HAT

CHANNEL

|
\ 6CS2.5x059 BEAM

DROPPED BELOW
ROOF HAT CHANNEL
(TYP.)

TYP. INTERIOR METAL
STUDS (SEE PLAN FOR
SIZE AND SPACING)

1'- 6" #4 DOWEL @ 24" o.c.

CONC. SLAB w/ METAL FLOOR
COMPOSITE DECK (SEE PLAN)

MARCO SYNTHETIC FIBER REINFORCED
COMPOSITE SLAB, PROVIDE CONTINOUS

TEMPORARY WOOD BLOCKING. FASTEN TO
DECK AS REQUIRED. FILL DECK FLUTES WITH

EXPANDED FOAM DECK CLOSURES

$ EL. SEE ARCH.

11/2" DEEP 16 GA. MBCI
HW-3121 @ THIRD POINTS
(TYP.)

METAL "C" STUDS, SEE
PLAN FOR SIZE & GAUGE\\

T - Te : [ -

3"

N

4 1/8"x3"x12 GA. CHANNEL
TOP TRACK x CONT. EQ

EQ

#12 SCREWS @ 6" o.c.

EQ

VARIES
SEE PLAN

EQ

COMPOSITE SLAB POUR STOP w/ FIBER REINFORCING

10'- 0" U.N.O.

_v/\_ _v/\_ oo Ij Il
NOTES: o0 I+ ] \\
DETAIL INTENDED AS SCHEMATIC ONLY, HATCH FRAMING AND ORENTATION MAY VARY.
(SEE ARCH. DRAWINGS FOR LOCATION AND ORENTATION)
5. ROOF HATCH FRAMING DETAIL 3 COMPOSITE SLAB POUR STOP DETAIL
2) L3 1/2"x2 1/2"x1/4" x 0' - 8"
S44A/  3/4" = 1'-0" S44A/  3/4" =1'-0" LONG CLIDANGLE
I/ 1/4 WELD ALL
ACCESSIBLE
I\ 1/4 SURFACES
_T/\’I_ HSS6x6x1/4"
ANGLE WIDTH COLUMN
- TO MATCH
A I I A DECK SUPPORT COLUMN WIDTH
| L3X3X1/4 (DECK
- — ATTACHMENT PER S0.1)
DECKBRG.EL. < \ / \/ \ /< —
(VARIES) | I 3/16
[ONll T — I
g | I3/16 3
| ‘\ (TYP.)
STEEL BEAM / LOAD / _J_\/\ | STEEL COLUMN SECTION A-A HSS5x5x1/4" OUTRIGGER ——
BEARING STUD WALL (SEE PLAN)
(SEE PLAN)
3/4"x8"DIA. FACE
NOTE: ADD L3x3x1/4 ANGLE ON ALL COLUMN FACES WHERE DECK IS NOT SUPPORTED BY A BEAM OR LOAD BEARING WALL PLATE
5'X6"X3/4" PLATE
s DECK SUPPORT AT COLUMNS
— 3/4"x6"DIA.
S4.4A/  3/4"=1'-0 CAP PLATE x\ \| T.0.0UTRIGGER
T (24" - 11 1/2")
[\
-
F
_ ////
= P
= P
~
~ /// d
P
/ 1/4‘ TYP.
2 1/8" @ EIFS VENEER BOTH SIDES,
1/4‘ BOTH ENDS
4" DIA. STD. PIPE
BRACE
GALVANIZE ALL
. _ EXTERIOR STEEL
> . INCLUDING OUTRIGGERS.
g ~ Z
o / s
: -~ VYV l/ss/mVmY,
- ~
© P ~ =y A\ NN N N N N N
—
~ // F
STEEL ANGLE, PLATE, 3/4"x6" DIA. = _ - F \
OR BENT PLATE CAP PLATE ~ L4x4x3/8"x10™-0" LONG CANOPY COLUMN
BRACE WITH 3/4"x5" LONG
= F
~ HEADED STUDS @ 12" o.c. AT EACH CANOPY
ANCHOR HOLE DIAMETER PER 11/4"DIA, ———— = SUPPORT COLUMN
ANCHOR MANUFACTURER'S BOLT (TYP.) _ _~
SPECIFICATIONS ~
=
5"x6"x3/4" _ P
PLATE = // ~ WELD ALL
\ _ ~ 2 ACCESSIBLE
g o o N 2 : 3/4°x8" DIA. ~_ T F = HSS12x6x1/4" OUTRIGGER 1/4I SURFACES
o 5 A\T ™ CAP PLATE \\ ~ {/ Q @ COLUMN EACH BRACE
h \ \ v\ ~ 15X33.9 CONT.
nZ . N HSS6x6x1/4" W8x31
2" SPACING VAIRES 2" wms - \ / STUB COL. 1/4"
PER DETAIL <y N
> ) = T.0.OUTRIGGER
o (7" -2 1/2") i
(32] o
DETAIL APPLES FOR ALL CONT. STEEL ANGLES, PLATES, - -
AND BENT PLATES WITH ANCHOR ATTACHEMENT {; BOTTOM CHANNEL | A
(16' - 1") \ i \
15x33.9 1/4‘
(2) 3/8"X3" WIDE 822.25X14 PURLIN @ 4™-0" MAX. CONT. BEYOND TYP.
STIFFENER PLATES ATTACH TO BEAM WITH 14GA 2X2X6" LONG BOTH SIDES
15X33.9 EACH SIDE OF WEB CLIP ANGLE. (4) #12 TEK TO THE BEAM AND 174 I
~+_TYPICAL ANCHOR HOLE DETAIL U ANGLE (&) Y
S4.4A 1" =1'-0" 2 1/8" @ EIFS VENEER
15'-0"
@ 5 1/8"/ S
=
o
3/4"x5" LONG HEADED o
STUDS @ 12" o.c.
" —NV—T T
I
HEAT PUMP OR CONDENSING UNIT HEAT PUMP OR CONDENSING UNIT HEAT PUMP OR ‘ T |
(1) UNIT PER SPAN MAXIMUM) (1) UNIT PER SPAN MAXIMUM) CONDENSING UNIT SI\)( 1C4R%A\>V1,; Kﬂé%fggggu%l}lggg DOWN | | | |
"y 4 9.0.9:0.9.0:9.9:9.9.9 APPROVED EQUIVALENT. INSTALL PER I
I;I\)( ISIR%CVIN )IAE%IITF?SSE?U%IIQQRE POWN ":‘:’:‘:’:’z‘:‘:‘:’:‘: THE MANUFACTURERS SPECIFICATIONS. |/ /| IAWARWARY/ 3/4"x5" LONG HEADED STUDS @
APPROVED EQUIVALENT. INSTALL PER D% %0 % %0 %0 %0 %0 % %% ATTACH TO CURB 2X PRESSURE . A | 12" 0.c. (ABOVE STOREFRONT)
: SIS TREATED CONT. TOP NAILER WITH 5/16
TEUALPACIERS SeEmCATONS s eatiscotid | Y |
TREATED CONT. TOP NAILER WITH 5/16" COORDINTE w/ <C?COORDINTE w/ ,0,0 COORDINTE w, SCREW | | L OR |
DIA. X 1.5" LONG GALVANIZED LAG 7, 4 18 GA. GALVANIZED LIGHT GAUGE PRE- OR
SCREW EQUIP. PROVIDER 4’: EQUIP. PROVIDER EQUIP. PROVIDER MANUFACTURER CURB WITH 2X4 ‘ | | | T.0.STEEL
0009999999 0.9:0.0:0.9:9.9:9.9, 6" PRESSURE TREATED WOOD NAILER +2" $ (10"-2 1/2")
18 GA. GALVANIZED LIGHT GAUGE PRE. :’:‘:‘:‘:‘:‘:‘:’z’:‘z :’:‘:’:’:‘:‘:’:’:‘:‘: CONTINUOUS BOTTOM ATTACHMENT o A |
MANUFACTURER CURB WITH 2X4 OIS SRS MIN. FLANGE. (2) #12 SCREW ATTACHMENT L4x4x3/8"x10™-0" LONG CANOPY v x
PRESSURE TREATED WOOD NAILER + 2" D200 % % %0 % % e % BEREEELEKLEEE G PER DECK FLUTE EACH SIDE OF CURB COLUMN BRACE WITH 3/4'x5" Lax4x3/8"x10-0" LONG CANOPY
) 0200020090904 020:0.9:9.9:9 LONG HEADED STUDS @ 12" 5"
CONTINUOUS BOTTOM ATTACHMENT SR 000 LONG HEADED STUDS, COLUMN BRACE WITH 3/4'x5" LONG
FLANGE. (2) #12 SCREW ATTACHMENT | I | | - Q.C. AT EACH CANC ) HEADED STUDS @ 12" O.C. AT EACH
PER DECK FLUTE EACH SIDE OF CURB i INSULATIONAND | @ 12x6x3/8" PLATE BEAM (SEE PLAN) CANOPY SUPPORT COLUMN
o ROOF MEMBRANE &
| | | | S IC ° g : :
R ) N = 5 5
< < - -
> pa— I I T r AVARVARVARVARLVARLVYI \_/r XVCI:ECI:_gSAéLIELE
" 1/4 SURFACES

INSULATION AND |
ROOF MEMBRANE ‘

> 10!_0"

22 GA 3N ROOF DECK

METAL STUD WALL
FRAMING.

> 10!_0"

<1 ROOF-TOP UNIT LIGHT GAUGE

CURB

\844A/ 3/4" = 10"

DECK

22 GA 3N ROOF

gvggggﬁﬁgg

TOP OF PARAPET

(SEE ARCH.)

METAL CEE STUDS 3/4" MAX.
FROM WEB

(SEE PLAN FOR SIZE
AND SPACING)

(10) #12 SCREWS
MIN. EACH SIDE OF
COLUMN

AN

\ A

(2) ROWS #12 SCREWS @ 8"
O.C. (1 EACH DECK FLUTE)

(2) 6C2.5x059 x 10" - 0' LONG
COLUMN BRACES (1) EACH
SIDE OF COLUMN

METAL STUD INFILL BLOCKING x
BRACE DEPTH BETWEEN DOUBLE
STUD BRACE AT 1/3 POINT

SECTION A-A

3'-5"TYP.

1/4‘/

WELD ALL

1/4‘\

(10) #12 SCREWS
MIN. EACH SIDE OF
COLUMN

(2) L3 1/2"x2 1/2"x1/4" x 0" - 8"

LONG CLIP ANGLE

ACCESSIBLE
SURFACES

WELD ALL

ACCESSIBLE

1/4" SURFACES

CANOPY BRACE PARALLEL TO DECK FLUTES

10' - 8" (TYP.)

1" TYP.

o

2 CANOPY SECTION

\844A/ 3/4" = 10"

1" TYP.

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\\llll,l'

N F CRAts,,
\\\\$Q.?\ﬁ,....,_‘%l?
X RN

v

'8

e0a%000 s,
- =
o
.-JK\ ~
n
e
C
%0090
(]
-

3
a7

2

m

O

m
R

dop

x
.
isst

“‘.'

\‘\
N
4
S gy
>,
/ -
o
(7}

Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

CLIENT

€.
Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

FRAMING

DETAILS &

SECTION
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S4.4A




6/19/2025 12:48:48 PM

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

i

HORZ. REINF. AT TOP

BOND BEAM AT

—— BOND BEAM AT

AND BOTTOM OF TOP OF WALL ROOF LEVEL (MATCH
OPENINGS ROOF SLOPE)
1
& VERT. REINF. AT H
EACH SIDE OF m
OPENINGS M Cd. —a
VERT. REINF. — VERT. REINFORCING — |
AT WALL ENDSAND ¥ | EACH SIDE OF 2
INTERSECTIONS ~ | CONTROL JOINT
24" MIN. BUT NOT LESS H
THAN 40 BAR DIA'S. [
4 | A\ A
SEE PLAN FOR PILASTER REINFORCING —/
ADDITIONAL SEE NOTE #2
VERTICAL BARS
NOTES:
1. REINFORCING SHOWN SHALL BE MINIMUM #4 RE-BAR UNLESS SHOWN OTHERWISE ON PLANS AND DETAILS.
2. SEE PLANS FOR PILASTER LOCATIONS. SEE DETAILS FOR REINFORCING SIZE AND TIE SPACING.

DOWEL VERTICAL REINFORCING INTO FOOTING.

2 MASONRY WALL REINFORCING

\845A) 3/4" = 1'-0"

EL.

(SEE PLAN)

(3) 8" DEEP (24" TOTAL

)
GROUT FILLED, DEPRESSﬁ\

WEB BOND BEAMS w/ (1) #5

CONT IN EACH.

8" CMU WALL
(SEE PLAN)

CONCRETE w/ METAL

Lj
=

(EMBED 5")

\ GROUT STOP

P
[TTTT AT TTTITT]

>

9 FLOOR DECK BEARING

\845A 34" = 10"

CONT. BEARING 3/8"x5"
WITH 3/4"x5" LG. HEADED
STUDS @ 2'-0" o.c.

3" METAL ROOF

DECK (SEE PLAN)

NN

CONTRACTOR, COORD.

=

WITH ELEVATOR
MANUFACTURER
REQUIREMENTS

ELEV.

NOTE:

(2) 8" DEEP (16" TOTAL),

GROUT FILLED, DEPRESSED ~,
WEB BOND BEAMS W/ (1) #5 -
CONT IN EACH. S
W
8" CMU WALL H.o . H
(SEE PLAN) \ N

DECK SPAN DIRECTION
CHANGES AT SIMILAR CONDITION.

7 DECK BEARING

[T [T IT
N B
a

[TTTTUT

COMPOSITE FLOOR DECK
(SEE PLAN)

OR

ROOF DECK (SEE PLAN)

L 6x4x5/16" (LLV) x CONT.

DECK ANGLE w/ 5/8" HILTI HUS EZ
SCREW ANCHORS IN GROUT FILLED
CELLS @ 24" o.c. INSTALL PER
MANUFACTURER'S SPECIFICAITONS.

(2) 2X4 P.T. SILL PLATE x
CONT. w/ 1/4"@
TAPCONS x2 1/4"

(MIN.) EMBED AND
WASHERS @ 12" o.c.

3" METAL ROOF DECK
(SEE PLAN)

[TTTIT

\845A 34" = 10"

HSS6x4x3/8 STEEL
BEAM (SEE PLAN)

(2) L4x4x3/8x0' - 6" LONG

CLIP ANGLE EACH END
(SHIP (1) END LOOSE,

TOP OF HSS

FIELD ATTACH)

(SEE PLAN)

3/4" DIA. THREADED RODS. INSTALL INTO
GROUT FILLED MASONRY CELLS WITH
HILTI HIT HY200 ADHESIVE ANCHORING
SYSTEM PER THE MANUFACTURERS
SPECIFICATIONS (EMBED 6" MIN.)

EL. VARIES !;

L 6x4x5/16" (LLV) x CONT.

DECK ANGLE w/ 5/8" HILTI HUS EZ
SCREW ANCHORS IN GROUT
FILLED CELLS @ 24" o.c. INSTALL
PER MANUFACTURER'S
SPECIFICAITONS. (EMBED 5")

3"# 4

—— GROUT STOP

VERT. REINF.

DOWEL INTO FTG.
FILL CELLS w/ GROUT

HORIZ. JOINT REINF. - |-
SEE ARCH. DWG'S. KIS

3 CORNER WALL DETAIL

30 BAR DIA.

MIN. LAP

HORIZ. JOINT REINF.

SEE ARCHITECTURAL
PROVIDE PREFAB "T"
AT INTERSECTION 1 ‘

COORD. VERT WALL
REINF. w/ PLANS.

——— CONT. BOND
BEAM REINF. w/
FILLED CELLS

\845A) 3/4" = 10"

EL.

FILL CELL w/ GROUT
TYP

Wi

o

—— 1/4" X 1 1/2" X 28" STRAP
AT 4'-0" ON CENTER

[ 24"

‘ on

~4 _INTERSECTING WALL DETAIL

\845A) 3/4" = 10"

CONCRETE w/ METAL
COMPOSITE FLOOR DECK
(SEE PLAN)

OR
ROOF DECK (SEE PLAN)

<

(3) 8" DEEP (24" TOTAL),
GROUT FILLED, DEPRESSED

WEB BOND BEAMS w/ (1) #5 s
CONT IN EACH. 4.0

I :
8" CMU WALL : \’
(SEE PLAN)

10 FLOOR DECK BEARING

[ ]
IS

(SEE PLAN)

—1

—_

[TTTTXI

E_L H‘HH%
<

. & NN
=—x x: XXX A

NI < =
e

\ L 6x4x5/16" (LLV) x CONT.

N

DECK ANGLE w/ 5/8" HILTI HUS EZ
SCREW ANCHORS IN GROUT
FILLED CELLS @ 24" o.c. INSTALL
PER MANUFACTURER'S
SPECIFICAITONS. (EMBED 5")

GROUT STOP

\845A 34" = 10"

(2) 8" DEEP (16" TOTAL). w/ (1) #
5 BAR CONT. IN EACH COURSE.

1||

3/4" DIA. ——
HOLES TYP.
N ]
& [7e)
-I o A
- 7o)
N © (
SECTION A
41/8"
A
——
KN
o
KN
= f_
A

s _L.G. CHANNEL BEAM BEARING

L5x3 1/2x1/4", LLV, w/ 5/8" HILTI HUS EZ
SCREW ANCHORS IN GROUT FILLED CELLS
@ 24" o.c. INSTALL PER MANUFACTURER'S
SPECIFICAITONS. (EMBED 5")

CONCRETE w/ METAL COMPOSITE
FLOOR DECK (SEE PLAN)
OR
ROOF DECK (SEE PLAN)

8" MASONRY WALL

LT. GA. STEEL CHANNEL
(SEE PLAN)

10 GA HEADER CLIP w/ (SEE SCHEDULE) #12 TEK
SCREWS & (3) 5/8" HILTI HUS EZ SCREW ANCHORS
IN GROUT FILLED CELLS. INSTALL PER
MANUFACTURER'S SPECIFICAITONS. (EMBED 5")

\845A 34" = 10"

(2) L4x4x3/8x0' - 6" LONG CLIP
ANGLE EACH END (SHIP (1)
END LOOSE, FIELD ATTACH)

GROUT ALL CELLS ABOVE AND
BELOW BOND BEAM

GROUT STOP (TYP.)

MASONRY WALL (SEE ARCH.) /

VERTICAL WALL REINF.

(SEE PLAN)

12 ELEVATOR RAIL SUPPORT @ BEAM

S4.5A 3/4u = 1|_0u

3/4" DIA. THROUGH BOLTS,
STAGGERED @ 12" o.c. TOP
AND BOTTOM, w/ 2"x2"x1/4"
PLATE WASHERS. (2 BOLTS AT
EACH END)

—3—\/¥E— SEE PLAN
S T.0. SLAB
: “LH & SEE PLAN
l+ LB ’\\ ;E
SOBQEAN ERNE
l+ +] 2 ]
+  +BE -
| A S
( =
110 (3) 8" DEEP (24" TOTAL),
& N GROUT FILLED, DEPRESSED
H N WEB BOND BEAMS w/ (1) #5
H H CONT IN EACH.
j A E_ GROUT STOP

FILL BEAM POCKET w/
SOLID GROUT AFTER

WELDING
0'-61/2"
i ‘ 3
BRG.
;\/ 1/4‘ 3
(1) 5/16" STEEL STIFF. Y
PLATE EACH SIDE OF
e \
[Tal STEEL BEAM
M (SEE PLAN) 2

32"x8" FULL HEIGHT MASONRY

PIER (CENTER BEAM ON PIER"

BEARING PLATE 3/4" x 7" x 1'-4" w/ (2)
1/2" DIA. x 15" LG. ANCHORS w/ 3"
HOOK

REINFORCE WITH #5's @ 8" o.c. \/

FULL HEIGHT IN GROUT FILLED
CELLS

2'- 8" (MASONRY PIER)
#5's @ 8" o.c. IN GROUT FILLED CELLS

EQ

P

I

NO CONTROL JOINT IN
MASONRY PIER

\ STEEL BEAM

(SEE PLAN)

1 BEAM BEARING ON MASONRY PIER (TYP.)

\S45A) 374" = 10"

N
\

N N N NN NN NN N NN N N

P s a a2l ol 2l ol i A e e e e B o ol 2l ol ol e A N e e N N N SIS C

9! _ 6"

#

9"

1/4‘/

TOP OF PARAPET

(SEE ARCH.)

WELD ALL

M COLUMN

14

(10) #12 SCREWS
MIN. EACH SIDE OF

(2) L3 1/2"x2 1/2"x1/4" x 0" - 8"

LONG CLIP ANGLE

SECTION A-A

3/4" PRESSURE TREATED,
STRUCTURAL RATED PLAT
SHEATHING. FASTER WITH
#12 SDS @ 6" o.c.

STEEL NETWORK STIFFCLIP
CL362-068 (OR EQUIVALENT)
w/ (4) #12 SCREWS.

4C2.5x059 RAFTERS
(GALVANIZED) @ 24" o.c.

ACCESSIBLE
SURFACES

METAL CEE STUDS
(SEE PLAN FOR SIZE
AND SPACING)

(10) #12 SCREWS
MIN. EACH SIDE OF
COLUMN

AN

4C2.5x059 SUPPORT STUD
(GALVANIZED) @ 24" o.c.

!

'- 0 3/4" MAX.

0
FROM WEB
(2) ROWS #12 SCREWS @ 8"
O.C. (1 EACH DECK FLUTE)

-~

W8X10
(GALVANIZED)

L - — DECK BRG.
[ 1] (VARIES)
2 [+ 1] A}
|
(4) (2) 6C2.5x059 x 6' - 0' LONG
‘ COLUMN BRACES (1) EACH
SIDE OF COLUMN
(2) L3 1/2'x2 1/2'X1/4" x 0' - 8"
‘ LONG CLIP ANGLE
METAL STUD INFILL BLOCKING x
BRACE DEPTH BETWEEN DOUBLE
‘/ 14 WELD ALL STUD BRACE AT 1/3 POINT
‘ ACCESSIBLE D OCATIONS
|14 \SURFACES

1: _Ou

A A ASASASASA_SA

A A A A A AL

Ao A A ASA A A A A A A A A A A A AAA A A SA A A A A A A A A A A A A A SASASA A A A ASASASASA A A A A A SA_SA A A SAAAA

|
\
\
\
\ |
\ |
\ |
\ |
\ |
\ |
\ |
\ \
( - \ |
- _ _ _ _ _ _ _ -~ - - -y . T T T T T T T T
| 4, TOSTEEL = i S 3/4'x5" LONG HEADED
K (30"-07) ! 0 < ol | | STUDS @ 12" o.c.
q | O o] | ‘ " ‘ NV I
ik
N ‘ | | | | B |
4 e | ‘\ @ F.F.E | | - L
R Yé?—\)l(_l/?wzw) | | (10°-8") | \
1 | (21" -47) AVARWERWA NV WA WARN//
| 4C2.5x059 CEILING JOISTS | | u \ | \
] (GALVANIZED) @ 24" o.c. N | | | ‘
\ |
" O | 1 OR |
i | s | |
\ | . .
‘ | ) L4x4x3/8"x10"-0" LONG CANOPY | —— ——
| COLUMN BRACE WITH 3/4"x5" |
| | LONG HEADED STUDS @ 12"
|| ] 0.C. AT EACH CANOPY
O o SUPPORT COLUMN 12x6x3/8" PLATE
|| ] | | : “
5
|1 | S
i ol !
N —+ﬁ —La
1] 1 114" WELD ALL
|| ACCESSIBLE
| | 114" SURFACES
N
\ |
]| | | CANOPY BRACE PARALLEL TO DECK FLUTES
|
| | | EQ EQ | 6" |
T T
o \ ‘ |
\ | \ | | |
| ‘ | ‘ | | 3/4"x5" LONG HEADED STUDS @
‘ C \(,é%(_l/oANIZED) ‘ %\‘ 12" o.c. (ABOVE STOREFRONT)
|
T.0.STEEL | = s F.F.E.
(21 - 4") (\DH|HHH\HHHHH\HHHHHHHHHHHHHHH\ T O O NI Qi \ | = = = = = = = = | (21'- 4")
M‘o ( O = - — - = = = -
o P N
(4) L4x4x3/8"x6'-0" LONG CANOPY
|| —= | | | COLUMN BRACE WITH 3/4"x5" LONG s
O 1o C BN HEADED STUDS @ 12" O.C. AT EACH = ‘\
x15.3 EXTERIOR BEAM C10x15.3 LANDING BEAM OR CANOPY SUPPORT COLUMN 1" TYP
(GALVANIZED) C10x15.3 EXTERIOR BEAM \§ :
)] (GALVANIZED) ‘ N
N ||
‘ ‘ WELD ALL
] ACCESSIBLE
[ e 1/4 SURFACES
RN \ |
‘ | gll
| o , ,
| 1] | | FLASHING BY
1 | ] ARCH.
312" |
RE Q) | \
W8X10
RN C (GALVANIZED) | | ‘ | AT LTI, &
O ~
T.0.STEEL | - e o 0
16' - 0" T O O O L L O OO O N gy P
( ) a o | ‘
B | \ =ﬁ | METAL "C" STUDS
12 o] | / (SEE PLAN FOR
ﬁ‘ | ‘ | SIZE & GAUGE)
||
0 = |
C ‘ N | L BOX BEAM
|| C10x15.3 EXTERIOR BEAM C10x15.3 LANDING BEAM OR | | (SEE PLAN)
(GALVANIZED) C10x15.3 EXTERIOR BEAM |
| | | (GALVANIZED) | |
n ]
: | 1
N o | B
- SECTION APPLIES
( RN | AT DOOR
> o HSS4xdx1/4" |
K COLUMN
L RN (GALVANIZED) o
( N N |
( L3x3x1/4 CONT. BAR 6" \ -
( [ GRATING BEARING ANGLE W8X10 | ?/2 é?c_L(ggngEgTDoERDESFL%?uST)@
3 N ON ALL C CHANNELS (TYP.) C (GALVANIZED) \ |
( T.0.STEEL - | F.F.E.
L (10' - 8") OH|H\\!\HHHHHHHH\H\HHHHHHHH\HHHHHHMH\H\HHHHHHHH\HHHHHHHHH\UHH\ ‘o‘i | 7 = = = = = = = | (10'- 8")
K ‘ ‘ O O‘ ‘* - e e
\ | I N
\ |
K\ \ (4) L4x4x3/8"x6'-0" LONG CANOPY
KV || C’ | | COLUMN BRACE WITH 3/4"x5" LONG s
\ HEADED STUDS @ 12" O.C. AT EACH
4 ] C10x15.3 EXTERIOR BEAM C10x15.3 LANDING BEAM OR | | CANOPY SUPPORT COLUMN \1.. TvP
: (GALVANIZED) C10x15.3 EXTERIOR BEAM :
K i (GALVANIZED) | |
> | 1 1/2" McNICHOLS GW-150 L3x3x1/4 CONT. BAR .
L 19-W-4 GALV. SERRATED GRATING BEARING ANGLE | | WELD ALL
C \ ‘ \ BAR GRATING ON ALL C CHANNELS (TYP.) ACCESSIBLE
\ N N g | 1/4 SURFACES
S T.0.STEEL | | |
| Q;(SEEPLAN) NEENERRNEREE BN INERRRRRRRRRRE! T.0.STEEL
\ | | | O o | (SEE PLAN) \ o
- ‘ | ‘ O O ‘ |
( |1 N~ | HSS6x4x1/4" COLUMN
C10x15.3 EXTERIOR BEAMS | | /| C12x14.3 (SEE PLAN)
s | | | (GALVANIZED) —  SECTION C-C LANDING BEAMS | | | |
( (GALVANIZED) | ‘
q ] _
‘ GRATING SPAN c WEXAO 312 |
N DIRECTION
q (GALVANIZED) NI
: T.0.STEEL = = INER
5 _ 4" T O T T O T T T T T T T T )y
4 ( ) a | ol |
> \
( leo b el .
C N i |
\
\ ik Ny o
,
RN C10x15.3 EXTERIOR BEAM C12x14.3 LANDING BEAM OR | |
C
¢ ‘ (GALVANIZED) C10x15.3 EXTERIOR BEAM |
K' ]| (GALVANIZED)
L RN | |
( i | |
[ | |
L |
\~y~y¥\,~y~y~\,~p~y~\,\{6,; NN ~\,~.x A_AAAAAAAANAA A A A A A A A A A A A A A AAAAA_A_
m
S4.5A/)  3/4" = 1'-Q"

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\{Q“F?'éél"

WOMLLLS %’f
S .7,/ ¢
SOOI

", L
® No. 7218 Thd
Sk AU
R : oo\
=3 s
S0,  piAEOF &S
20 e RS
/""f@f"w‘om‘? SN
O I L)
Psioi
J fed
A
Rev.
No. Date Name
Contractor
1 |04-09-2025 Coordination
Contractor
2 |05-30-2025 Coordination
3 |06.19.2025 Contractor

Coordination

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

CLIENT

€.
Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

MASONRY

DETAILS &

SECTION
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S4.5A




11" x 24" #4 DOWEL A,
@ 24" o.c.

-22 1/2"

3/4" DIA. THROUGH BOLTS, STAGGERED
@ 12" o.c. w/ 2"x2"x1/4" PLATE WASHERS.

CONCRETE FROM
SLAB TO POUR INTO
CAST-CRETE HEADER

FLOOR DECK (SEE PLAN)
OR ROOF DECK (SEE PLAN)

9'- 4" MAX. CAST-CRETE LINTEL @ SINGLE BAY ELEVATORS
& 17" - 4" MAX. CAST-CRETE LINTEL @ TWO BAY ELEVATORS

9' - 4" MAX. CAST-CRETE LINTEL @ SINGLE BAY ELEVATORS
& 17" - 4" MAX. CAST-CRETE LINTEL @ TWO BAY ELEVATORS

(8" MIN. BEARING ON FULL HEIGHT GROUTED CELL BELOW)

3/8" BENT PLATE FOR COLUMN ATTACHMENT
(ONLY APPLIES AT DOUBLE ELEVATOR)

/ CONCRETE w/ METAL COMPOSITE

VY VanYaaVa

N
Y

ae

STEEL BEAM =
(SEE PLAN)

{; T.O.SLABEL.
(SEE PLAN) &
To)
I a\o
;\j
I
a
5

8F16-1B/1T CAST-CRETE.
INSTALL PER MANUFACTURERS

SPECS.

MASONRY WALL BEYOND J

(SEE ARCH.)

NOTE:

7

+

5/16‘

\ C10x20 CHANNEL CONT.

- DECK SPAN DIRECTION MAY VARY AT SIMILAR CONDITION.

3/8" THICK x 1'-4" LONG BENT PLATE w/
(2) 3/4" G HILTI KWIK HUS-EZ STEEL
SCREW ANCHORS. INSTALL PER THE
MANUFACTURERS SPECIFICATIONS
(EMBED 6 1/4" MIN.)

, 1'-4 L
! &
) Aﬁ
N~ ~—
Aﬁ <
31/ i 6 1/2" Es 1/4"
11/2"7 s

3/8" THICK x 1'-4" LONG BENT PLATE w/
3/4" @ HILTI KWIK HUS-EZ STEEL
SCREW ANCHORS. INSTALL PER THE
MANUFACTURERS SPECIFICATIONS
(EMBED 6 1/4" MIN.) w/ 2"x2"x1/4"
PLATE WASHERS

C10x20 CHANNEL CONT.

21/2"

1'-35/8"

HSS4X4X1/4
COLUMN

-

SECTION B-B

3/16‘

(ONLY APPLIES AT DOUBLE ELEVATORS)

\Y

2"

51/2"

1!_4"

—

10 1/2"

"I /2"ﬂ E

PER MANUFACTURERS SPECS.

- L

B \ ‘ \
FIELD ADDED REINFORCEMENT
PER CAST-CRETE SPECS.

| ‘ |
| |
VERTICAL #5s IN LAST
CELL @ EA‘CH END

L

1] /
8F16-1B CAST-CRETE. INSTALL

HSS4x4x1/4 COLUMN
(ONLY APPLIES AT
DOUBLE ELEVATORS)

10'- 8" (U.N.O.)

ROUGH OPENING (COORDINATE WITH EVEVATOR PROVIDER)

_ﬁg_

SECTION A-A

ROUGH OPENING DURING CONSTRUCTION

C-CHANNEL & ANCHORS NOT SHOWN FOR CLARITY

1"-0" 12" o.c. MAX.
— z = /\ T
R . o M T
S 3
o i o
o
e T = ;
™ ]
STEEL BEAM |
(SEE PLAN)

C10x20 CHANNEL CONT. | ‘ |

3/4" DIA. THROUGH BOLTS STAGGERED @
12" o.c. MAX. w/ 2"x2"x1/4" PL/-|\TE V|VASHERS.
(2) 3/4" @ HILTI KWIK HUS-EZ STEEL SCREW
ANCHORS AT EACH END. INSTALL INTO
GROUT FILLED MASONRY CELLS PER THE
MANUFACTURERS SPECIFICATIONS
(EMBED 6 1/4" MIN.) | \ ‘

HSS4x4x1/4 COLUMN
(ONLY APPLIES AT
DOUBLE ELEVATORS)

SECTION A-A
FINISH OPENINGS

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\\llll,l'

N F CRAts,,
\\\\$Q.?\ﬁ,....,_‘%l?
X RN

v

b | S
s io. 7218 ", ®
:-*: No /d \V?; ':*:
- : | ¥ : o=\
- 3 i A : 5 \
0. BINEOF &S
e R
/("l‘\' --‘LOR\O_ . \\\\
I 5o XU PR [N
\w‘é.‘ ,Z;S"/IONA\, ?-‘ W»
N/ INER R )
\
Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

10'- 8" (U.N.O.)

FINISH OPENING

\

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:50 PM

@ BEAM BEARING OPENING AT ELEVATOR
S46A 3/4" = 10"

\

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

o
€.

Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

MASONRY

DETAILS &

SECTION
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S4.60A




D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

6/19/2025 12:48:54 PM

- e B

Keystone

77N 7N 7N 77N
@ 211 218(22) 228 @ @ 242 @
N 7 N N

()
S
O,
()
()
)
O,
(o)
&)
(@)
®
©
@
(&)
=
(2)
3)
®
@)
@)
)
S
@)
@)
®)

Structural
Engineering
Professional Consultants
I ! “ L ! il | i 531 Roselane Street
Suite 150
ROOF FRAM&Z{& (& o :‘m it it ‘m‘ | ik i 45 i it Marietta, GA 30060
@ 31 -4" N - N N B - = N - - N N N N N i N . N N n N - N R N - B - B - N - - N } N N - N - I - 7H - N - N N - N - - N + ] - N - N T - - r - i N I I I il - - N N N (404) 483 6921
il o | ) 1R | H, I i
| i
| | } | | H | | | \\ {*“F‘ ‘C'él"" I
‘ | h [ [ H | ‘ ‘ \\\$Q-?\‘(.). -E. N .5: ‘% '?%
THIRD FLOOR :‘Q‘}*\,\ S &N
X FRAMINGPLAN = | e e e e e e e e e e e 1! | e ST o2 '-,*‘%,
21| _ 4" :*.‘. I / \\/" R :
I m |- | ! Ly ‘ l I T Wi = \ /\¥ :E
‘ oer e s T | -’;4:; \EfATE OF s
|| ! | ‘ ‘\ It I ‘ I 0 I "‘90"./\';& S .'.éz::
| | A LoR ST GRS
SECOND FLOOR ‘ ‘ Il | (N ,,S/ON'[\\_ i‘\\“
@ FRAMING PLAN B B - L s B ) B B B ) B L B ) B B B ) B I ) B B - = : ‘ H | . ;7 i St B JM | g B B 3 . | B B : B I B . B B L B L ) i L i L | It Ll - i B B \ ENETER
10' - 8" - \ \ | i # : ‘_‘ ’[ 1 ~
[ A ‘\‘ \ it H \ | o | I it Neo\{ Date Name
I ! 1 |04-09-2025 ~ Contractor
1 (R | il H ‘ H 1 | i Coordination
FOUNDATION i
@ PLAN || ! [‘\ I H ‘ i I IN
0 :0" B B B B B [ i - — ~ — - - — — - ] ~ = — — = = - - B B B B B Il B B B B B 1 B B B B B I B lll B B - = = N - - — — - ] ~ — - - — ~ — — ~ — - - I ~ — L _ H| B B
! T ] \ I [ T [T ] 1T [T ] T ‘ ! [T ]

2~ North

S47A)  1/8" = 1'-0"

®
/E)
®)
®
/E)
/5)
)
®
®
@
o
S
©
<
®
/§>
/@
@
/g>
(2)
S
/é)
S
©,
®
O,
O,
(@
()
®
O,
)
S,
&)
Q,

3

ROOF FRAMING

PLAN

THIRD FLOOR

FRAMING PLAN || g | o || N o i

21' - 4"

SECOND FLOOR

& FRAMING PLAN | | ] u X | B il S
10'- 8"

FOUNDATION

PLAN ‘

South
@ 1/8" = 1'-0" ISSUED FOR CONSTRUCTION
PROJECT
19th Lane
Vero Beach
Storage

Buildings

()
(<
=)
@
2
®
®
(0
%
o
o
=)
)
=)
(<)
S
5
€
@
(=)
(m)
(o)
(o)
(@)
>)

<O'8> ® ADDRESS
) 19th Vane,
Vero Beach, Fl 32966
I, 1o h I | |l | I
|
ROOF FRAMING - - g ROOF FRAMING | s st ey isugu | [ CLIENT
~_ _PIAN e - S s = = e = — - @ _ PLAN fF+—F——2——————— i A TR | S I TS | e | i AR CT R R T e
. — -4 | | 4&
i 1o I I | Lo
IL]
1, i I | L e ‘
THIRD FLOOR THIRD FLOOR d
;35';".!”G PLAN ___ __ _——= 4 ﬂ | N e Ay Ee E - - ;5@'\‘{'.!'\‘@ PLAN EERESIRY | (555 | NS T | Shamrock Building
I | | | N SRR | § S ) SN Systems, Inc.
1y I \ Il P | b, ADDRESS
|
SECOND FLOOR SECOND FLOOR 1298 Concord Road SE
FRAMING PLAN g [ | 0 W e ] o > FRAMING PLAN o R e L e T e e | R D Smyma, GA 30080
10' - 8" I M m 10| _ 8" i
ol i ! f | o | - f SHEET TITLE
|
Hi ! I | | Al
|
FOUNDATION FOUNDATION
S — 7 et e et st s s e i e s | SO | PR SN | TN ) s v s e N PLAN [0 on e oo | e et rrrtrrrrrrrrrrrrrc FRAMING
0'-0 ' ! I 0'-0 ! I ELEVATIONS
] N | | | El [T T 1] T ] ] T 1 ‘ | ) [ ]!
H \ (BUILDING A)

s _West 1 _East o
W 178" = 10" W 1/8" = 1'-0" 04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

154.7A




6/19/2025 12:48:57 PM

D:\_RevitLocal_\23131 R24_ChollandNGR8U.rvt

APPLICABLE TO THIS PROJECT

APPLICABLE TO THIS PROJECT

APPLICABLE TO THIS PROJECT

Kéysfone
Structural
Engineering

Protessional Consultants

531 Roselane Street
Suite 150
Marietta, GA 30060
(404) 483 6921

\\\llll,l'

\ .

> TCENg ¥l

LS \ & &
S . :i;/'»;
:.*' T\O?/d:r?)

A

°

°
b ; v
E) \
° A \

°

®

°

R-ooo-;-
0pggpad

- | A

L 4 ,

%3 BIATEOF
X

8

-
5=

. K“/\fLoR\O?‘.-‘Q}\ ~
;" S / ONA\. .?}\\‘\\
NSV
\.
Rev.
No. Date Name
1 104-09-2025 Contractor

Coordination

ISSUED FOR CONSTRUCTION

PROJECT

19th Lane
Vero Beach
Storage
Buildings

ADDRESS

19th Vane,
Vero Beach, Fl 32966

MATERIAL / ACTIVITY SERVICE MATERIAL / ACTIVITY SERVICE MATERIAL / ACTIVITY SERVICE
SCHEDULE OF SPECIAL INSPECTION SERVICES YN EXTENT AGENT* | _DATE COMPLETED YN EXTENT AGENT* | _DATE COMPLETED YN EXTENT AGENT* | DATE COMPLETED
1705.3 Concrete Construction 1705.5.3 Mass Timber Construction N N/A 1705.12.6 Plumbing, Mechanical and \ N/A
: : : : : Electrical Components Special Inspections
APPLICABLE TO THIS PROJECT 1. Inspect reinforcement, including ol - -~ 1. Inspection of anchorage and connection of ical (
MATERIAL / ACTIVITY SERVICE " prestressing tendons, and verify placement. Shop (3) and field inspection Y Periodic TA mass timber construction to timber deep Field inspection Periodic for Seismic Resistance
Y/N EXTENT AGENT DATE COMPLETED 2. Reinforcing bar welding: foundation systems. _ . - 1. |nspection Fjuring the anchorage of o . o
1705.1.1 Special Cases (work unusual in a. Verification of weldability of bars other N Periodic N/A 2. Inspect erection of mass timber construction. Field inspection Periodic ggﬁggagﬁﬂfgﬁég ie;m;g:gr&cyDorE or F Field inspection Periodic
nature, including but not limited to alternative ) ) than ASTM A706. 3. |nspection of connections where installation Y y T
materials and systems, unusual design Submittal review, shop (3) and/or N N/A N/A b. Inspection of single-pass fillet welds v o methods are required to meet design loads. 2. Inspection during the anchorage of other o
applications, materials and systems with field inspection 5/16 or less in size. Periodic TA Threaded Fast electrical equipment in SDC E or F Field inspection Periodic
special manufacturer's requirements) : i ¢ all ofh d Conti a. 1)r\e/3a .fe as ?ners e <talla
. . erify use of proper installation g . . - — -
¢. nspection of all ofherwe'ds Y ontinuous TA equipmint. prop Field inspection Periodic 3. Inspection during installation and
1. Inspection of anchors post-installed in solid 3. Inspection of anchors cast in concrete. Shop (3) and field inspection Y Periodic TA 2) Verify use of pre-drilled holes where Field inspection Periodic 22rChohr:g:rggElspﬁgtzxztlzm:n?jetﬁgi?ed to Field inspection o
grouted masonry: Per research reports 4. Inspection of anchors post-installed in required. P assrgciated mechanical units in SDG C. D. E P Periodic
mpludmg verlflcathn of apchor type, anchor Periodic or as required by hardened concrete members per research 3) Inspect screws, including diameter orF T
dimensions, hole dimensions, hole cleaning Field inspection Y the research report issued TA reports, or, if no specific requirements are length, head type‘ spacing installation Field inspection Periodic - 5 - -
procedures, anchor spacing, edge distances, by an approved source provided, requirements shall be provided by Periodic or as required by angle "and depth ' ' 4. Inspection during the installation and
masonry unit, grout, masonry compressive the registered design professional and Field i ti Y the research report issued TA L — - - anchgrage of HVAC duct‘worl.( designed to Field inspection Periodic
strength, anchor embedment and tightening approved by the building official, including ield inspection by an approved source b. Adhesive anchors installed in horizontal or contain hazardous materials in SDC C, D, E p
torque verification of anchor type, anchor upwardly inclined orientation to resist Field inspection Continuous orF
dimensions, hole dimensions, hole cleaning sustained tension loads. 5. Inspection during the installation and
2. Aggregate Pier Inspection: The special procedures, anchor spacing, edge distances, c. Other adhesive anchors. Field inspection odi : Hring ne nsid .
inspector's responsibilities include, but are not concrete minimum thickness, anchor P Periodic anchorage of vibration isolation systems in o ‘ o
limited to, review of the aggregate pier embedment and tightening torque d. Bolted connections. Field inspection Periodic SDC C D,EorF V\{here npmlnal clearance Field inspection Periodic
designer's use of soil parameters as : : : : _ — of 1/4 inch or less is required by the
i i i a. Adhesive anchors installed in horizontal e. Concealed connections Field inspection Periodic approved construction documents
presented in the project soils report, and L~ f . ] . p
; ; £t or upward-inclined orientation that resist Y Continuous TA
during construction, verification of aggregate . . 1705.6 Soil . A .
: . sustained tension loads. -0 Solls 6. Inspection during installation of
properties, type and number of lifts of Periodi ired b - - - hanical and electrical . t
aggregate, hole size and depths and top Field inspection N theno ¢ orhas reqﬁl_re lé N/A b. Mechanical and adhesive anchors note N Periodi 1. Verify materials below shallow foundations _melc d‘j‘n'cg at” elfc rica eqm{)men nd thel
elevations of the pier elements, and applied s rzze:rc roreggsésfg: defined in 4a. eriodic N/A are adequate to achieve the design bearing Field inspection Y Periodic TA |r;c ut lngl uc W?tr ’ prl]plng syts emt§ afp elr
energy. Additionally, results of qualitative Y pprov u capacity. 2;:%3 ssyi‘t)grzssér‘g iﬁﬁaﬂ:;maslfucliﬁres
tests on production aggregate pier elements : ; ; iald i ; i ) .
such as rr;odulus Ioaggt]esgng, Splift pull-out 5. Verify use of approved design mix Shop (3) and field inspection Y Periodic TA 2. Verify excavations are extended to o . o assigned to SDC C,D, E, or F to \{erlfy one
testing, bottom stabilization tests and dynamic 6. a. Prior to placement, fabricate specimens proper depth and have reached proper Field inspection Y Periodic TA of the following unless flexible sprinkler hose
cone penetration tests, shall be reviewed to for strength tests, fresh concrete sampling, material. fittings are used:
verify compliance with design specifications. perform slump or slump flow, and air content Shop (3) and field inspection Y Continuous TA P - - .
density tests, and determine temperature of 3. Pterf”or(rjnfﬁllass;flc.atllon and testing of Field inspection Y Periodic TA a. ASCE/SEI 7, Section 13.2.3 minimum Field inspection Periodic
1705.2.1 Structural Steel Construction concrete. controfled il materials. required clearances have been provided.
1. Fabricator and erector documents (Verify 6. b. Verify that i . f 4. Verify use of proper materials, densities, b. A three |nch_or greater norr_unal clear_ance
reports and certificates as listed in AISC 360, . . . t . tirlty ! a concr_ete _sp%c_lmtins or g and lift thicknesses during placement and Field inspection Y Continuous TA has_ been provided between flrg protection
Section N 3.2 for compliance with construction Submittal Review Y Each submittal TIA strength 1ests are maintainéd in the require o . compaction of controlled fill sprinkler system drops and sprigs apd:
documents) initial curing and laboratory curing Shop (3) and field inspection Y Continuous TA structural members not used collectively or Field inspection Periodic
environment, and that the maximum and 5. Prior to placement of controlled fill, observe independently to support the sprinklers;
2. Material verification of structural steel Shop (3) and field inspection Y Periodic TIA minimum temperatures during the initial subgrade and verify that site has been Field inspection Y Periodic TA equipment attached to the building structure;
- curing period are reported. prepared properly and other systems' piping.
3. Structural steel welding:
: g. . 7. Inspection of concrete and shotcrete 1705.7 Driven Deep Foundations N N/A 1705.12.7 Storage Racks Special
a. Inspection tasks Prior to Welding placement for proper application techniques Shop (3) and field inspection Y Continuous TA Inspections for Seismic Resistance
(Observe, or perform for each welded joint Shop (3) and field i i v Observe or Perform as TIA 1. Verify element materials, sizes and lengths o _ _ P
or member, the QA tasks listed in AISC op ( ) andfield inspection noted (4) - - — - Comp|y with requirements Field inspection Continuous
360, Table N5.4-1) 8. Verify maintenance of specified curing Shop (3) and field inspection v Periodic TA Inspection during the anchorage of storage
temperature and techniques 2. Determine capacities of test elements and c racks 8 feet or greater in height in structures Field inspection N Periodic N/A
b. Inspection tasks During Weldin o - iti i Field inspection ontinuous i .
(Obse?’ve or perform for gach welged 9. Inspection of prestressed concrete: Shop (3) and field inspection conduct additional load tests, as required P assigned to SDC D, E or F
joint or member, the QA tasks listed in Shop (3) and field inspection Y Observe (4) T/A a. Application of prestressing force N Continuous N/A 3. Inspect driving operations and maintain 1705.12.8 Seismic Isolation Systems
AISC 360, Table N5.4-2) complete and accurate records for each Field inspection Continuous
element Inspection during the fabrication and
c. Inspection tasks After Welding b. Grouting of bonded prestressing tendons N Continuous N/A . - installation of isolator units and energy )
(Observe, or perform for each welded Observe or Perform as TIA 4|- Vebrlfy placemft_ant Itocat|on§ and " dissipation devices used as part of the Shop an(tj' field N Periodic N/A
joint or member, the QA tasks listed in Shop (3) and field inspection Y noted (4) : plumbness, contirm type and size 0 seismic isolation system in structures Inspection
AISC 360, Table N5.4-3) 10 Inbs pect erection of precast concrete N Periodic N/A hammer, record number of blows per foot of assigned to SDC B, C, D, E or F.
members penetration, determine required penetrations Field inspection Continuous
d. Nondestructive testing (NDT) of welded 11. Verification of in-situ concrete strength to ach|eve_deS|gn capacity, record tip and 1705.12.9 Cold-formed Steel Special
oints: . . . ’ butt elevations and document any damage to Bolted Moment Frames
joints: prior to stressing of tendons in post Review field testin h
. ) g and L foundation element
1) Complete penetration groove Shop (3) or field ultrasonic tsehrgsrg):Zi;?gfr;it?rggdb%g?;éoarnedmsot\r/uaétafral laboratory reports N Periodic N/A 5 For steel el t f dditional Inspection of installation of cold-formed steel
welds 5/16" or greater in risk P testing - 100% N Periodic N/A clabs > ror ? el e emsen ts pe; 7%r5mza tiona See Section 1705.2 See Section 1705.2 special bolted moment frames in the seismic Field inspection N Periodic N/A
category Ill or IV g ° Inspections per section : force-resisting systems in structures assigned
. . - to SDC D, EorF.
. ) . 12. Inspection of formwork for shape, lines, Lo . - 6. For concrete elements and concrete-filled .
2) Complete penetration groove welds Shop (3) or field ultrasonic - . . . Field inspection Y Periodic TA o . . ) . -
5/16" or greater in risk category |l testing - 10% of welds minimum Y Periodic TA location and dimensions gleegnti(e)rr:tj}%esrf;rm additional inspections per See Section 1705.3 See Section 1705.3 1705.13.1 Structural Steel Testing for N /A
13. Concrete strength testing and verification Field testing and review of o ' Seismic Resistance
3) WeIded_Jomts subject to fatigue Shop (3) or field radiographic or o of compliance with construction documents laboratory reports Y Periodic TA 7. For spedialty elements, perform additional . 1. Nondestructive testing of structural steel in
when required by AISC 360, ; ; N Periodic N/A : : ; ; L ; In accordance with ismi -resisti i
A dix 3. Table A-3.1 Ultrasonic testing inspections as determined by the registered Field inspection ’ the seismic force-resisting systems in _ o
ppendix 3, 1able A-S. design professional in responsible charge construction documents accordance with AISC 341 in structures Field test Periodic
4) Fabricat NDT its wh 1705.4 Masonry Construction assigned to SDC B, C, D, E or F.
abricator's reports when Verify Reports Y Each submittal (5) TA . 1705.8 Cast-in-Place Deep Foundations N N/A
fabricator performs NDT (A) Level 1, 2 and 3 Quality Assurance: . .
1. Prior to construction, verification of Inspect driling operations andfmaintain C giehrf::tzsi:lltﬁgvseiﬁ:2%;2:2:3:{;';@9|
4. Structural steel bolting: Shop (3) and field inspection : ) Submittal Review i i complete and accurate records for each Field inspection ontinuous b . .
9 P@) P compliance of submittals Y Prior to Construction TA elempent P systems not covered in 1 above including Field test Periodic
a. Inspection tasks Prior to Bolting struts, col!ectors, chords a_nd foundat|or)
(Observe, or perform tasks for each bolted v Observe or Perform as TA (B) Level 2 & 3 Quality Assurance: 2. Verify placement locations and plumbness, elements in aqcordance with AISC 341 in
connection, in accordance with QA tasks noted (4) ) . o ) confirm element diameters, bell diameters (if structures assigned to SDC B, C, D, E or F.
listed in AISC 360, Table N5.6-1) 1. Prllor o construction verlflcgtllon of fm Testing by unit strength method ) . applicable), lengths embedment into bedrock
and f'’AAC except where specifically or prism test method Y Prior to Construction TA (i applicabie) and a’dequate end-bearing Field inspection Continuous 1705.13.2 Seismic Certification of
b. Inspection tasks During Bolting exempted by the code strata capacity. Record concrete or grout Nonstructural Components
grotélser'\\ig gjg QA tasks listed in AISC 360, Y Observe (4) T/A 2. During construction, verification of volumes 2. Nondes_tructive ?est?ng of struc?ur_al steel
able N5.6-2) Slump Flow and Visual Stability Index Testing by unit strength method v Periodi A elertnents |ntthe se|s(;n_|c 1forge-res_|st:ng_ Certifi ;
(VSI) when self-consolidating grout is ; eriodic 3. For concrete elements, perform additional . . systems not covered in 1 above including ertificate o ,
1) Pre-tensioned and slip-critical joints delivered to project site. or prism test method inspections in accordance with Section 1705.3 See Section 1705.3 See Section 1705.3 s}ruts, c;ol!ectors, ((:jhords a‘?r? I\?ggdgz‘;ﬂ compliance review N Each submittal N/A
elements in accordance wi in
a) Turn-of-nut with matching N beriod A (C) Level 3 Quality Assurance: 1705.9 Helical Pile Foundations structures assigned to SDC B, C, D, E or F.
. eriodic T ; i i A N
markings 1. During construction, verification of fm _ _ Verify installation equipment, pile ‘ o _ _ 1705.13.3 Seismic Certification of
. and FAAC for every 5.000 SF Testing by unit strength method Y Periodic TA dimensions, tip elevations, final depth, final Field inspection N Continuous N/A Designated Seismic Systems
b) Direct tension indicator N Periodic N/A y or prism test method installation torque and other installation data
) . . as required by construction documents. Review certificate of compliance for -
c) Twist-off type.tensmn con’frol bolt N Periodic NA 2. Durir)g constructiqn, verifica_tion of designated seismic system components in Certlflcate of_ N Each submittal N/A
d) Turn-of-nut without matching N Continuous N/A proportions of materials as delivered to 1705.10 Fabricated items N N/A structures assigned to SDC C, D, E or F compliance review
markings the project site for premixed or preblended Field inspection Y Periodic TA - - - — -
) Calibrated h mortar, prestressing grout, and grout other 1 List tc.)f faé)rlgatefd t|)’[e?m:=‘:.reqwr|ng special Shop inspection As noted in each applicable 1705.13.4 Seismic Isolation Systems
e) Calibrated wrencl i 2 idati : ivi
N Continuous N/A than self-consolidating grout. Inspection during fabncation shop activity Test seismic isolation system in accordance
2) Snug-tight joints Y Periodic TA 2. List of fabricated items to be fabricated on W|th ASCE 7 Section 17.8 in structures Prototype testing N Per ASCE 7 N/A
(D) Levels 2 and 3 Quality Assurance: the premises of a fabricator approved to assigned to SDCB, C, D, E or F.
. . perform such work without special inspection 1705.14 Sprayed Fire-resistant Materials ield i i
féslE:rﬁfggr;rtuatasgﬁegﬁceorniggt?gn(iF;erform Y Perform (4) TIA 1. As masonry construction begins, verify that (including name of approved agency providing pray Fleld inspection N NA
e Orm . . . . . . g . T iti i . . . . .
accordance with QA tasks listed in AISC the following are in compliance: periodic auditing): ;ér:jlcettfrgls;rg?sec;gndmon preparation of Field inspection Periodic
360, Table N5.6-3) 1705.11.1 Structural Wood Special
- - - a. Proportions of the site-prepared mortar Field inspection Y Periodic TA Inspections For Wind Resistance N N/A 2. Verify minimum thickness of sprayed fire-
5. IV'SU?“ '(;‘SFt)eCtt'O” |°f teXFl)OSQFj cut subrfaces gf resistant materials applied to structural Field inspection Periodic
galvanized structural steel main members an o . . b. Grade and size of prestressin S ) . 1. Inspection of field gluing operations of members
exposed corners of the rectangular HSS for Shop (3) and field inspection N Periodic N/A tendons and anchorages g Field inspection N Periodic N/A elements of the main windforce-resisting Field inspection Continuous 3 Verify density of th qfi istant
cracks subsequent to galvanizing - - system - Verify density of the sprayed fire-resistan Field Inspection .
c. Grade, type, and size of reinforcement, material complies with approved fire- and testing Per IBC Section 1705.14.5
6. Embedments (Verify diameter, grade, type, Field i i v Period A anchor bolts, and prestressing tendons Field inspection Y Periodic TA 2. Inspection of screw attachment, bolting, resistant design
length, embedment. See 1705.3 for anchors) leld inspection eriodic and anchorages anchoring and other fastening of components 4. Verify th h Jadh bond h
- - o : . L s et o ) o . Verify the cohesive/adhesive bond strengt Field Inspection )
7. Verify member locations, braces, stiffeners, d. Prestressing technique Field inspection N Periodic N/A within the main windforce-resisting system, Shop (3) and field inspection Periodic of the cured spraved fire-resistant material and testin Per IBC Section 1705.14.6
d licati f joint details at h ; i i i ’ : including shear walls, braces, diaphragms, pray! g
and application of joint details at eac Field inspection Y Periodic TIA e. Properties of thin-bed mortar for AAC N Level 2 - Continuous(b) N/A collectors (drag struts) and hold-downs.
connection comply with construction documents masonry Level 2 - Periodic(c) 5. Condition of finished application
ield i i . : Field Inspection Periodic
1705.2.2 Cold-Formed Steel Deck (b) Required for the first 5,000 square feet Field inspection . ) 1705.11.2 Cold-formed Steel Special P
(c) Required after the first 5,000 square feet N Level 3 - Continuous N/A Inspections For Wind Resistance 1705.15 Mastic and Intumescent Fire-
1. Manufacturer documents (Verify reports and Resistant Coatings
certificates as listed in SDI QA/QC, Section 2, . ) v . TIA ) o ) N Level 2 - Periodic N/A 1.Inspection during welding operations of
Paragraphs 2.1 and 2.2 for compliance with Submittal Review Each submittal f. Sample panel construction Field inspection Level 3 - Conti NA elements of the main windforce-resisting Shop (3) and field inspection N Periodic N/A Inspect and test mastic and intumescent fire-
construction documents) evel 3 - Lontinuous system resistant coatings applied to structural Field inspection N Periodic N/A
; i nati 2. Prior to grouting, verify that the following elements and decks per AWCI 12-B
2. Material verification of steel deck N . . .
. - ’ ) Shop (3) and field inspection Y Periodic T/A are in compliance: 2. Inspection of screw attachment, bolting,
mechanical fasteners and welding materials P a5 Periadi anchoring and other fastening of components 1705.16 Exterior Insulation and Finish
evel 2 - Periodic i i et N . -
. _Grout Field i ti within the main windforce-resisting system, Shop (3) and field inspection Y Periodic Systems (EIFS)
3. Cold-formed steel deck placement: Shop (3) and field inspection a. orout space eid inspection Level 3 - Continuous TA including shear walls, braces, diaphragms, PE P A
b. Placement of prestressing tendons S . - collectors (drag struts) and hold-downs. Inspection of water-resistive barrier over L . o
a. Inspection tasks Prior to Deck and anchorages Field inspection Periodic N/A shepathing substrate Field inspection Y Periodic TA
Placement (Perform the QA tasks listed Y Perform (4) TIA v A 1705.11.3 Wind-resisting Components
in SDI QA/QC, Appendix 1 Table 1.1) c. Placement of reinforcement, Field i . Level 2 - Periodic - . .
ield inspection i i 1705.17 Fire-Resistant Penetrations and
connectors, and anchor bolts Level 3 - Continuous 1. Roof covering, roof deck and roof framing Shop (3) and field i ti v _— -
b. Inspection tasks After Deck Placement connections. op (3) and field inspection Periodic TA Joints
(Perform the QA tasks listed in SDI Y Perform (4) TIA d. Proportions of site-prepared grout and Field inspection Y Periodic TA 2. Exterior wall covering and wall connections Shop (3) and field inspection v . 1. Inspect penetration firestop Field testing Per ASTM E2174 TA
QA/QC, Appendix 1 Table 1.2) prestresssing grout for bonded tendons to roof and floor diaphragms. Periodic TA , , —
3. Verif "  the following duri 2. Inspect fire-resistant joint systems Field testing Per ASTM E2393 TA
4. Cold-formed steel deck welding: Shop (3) and field inspection . Verify compliance of the following during .
9 PG) P construction: ;':::(;lfignsst;gfg';?sl rﬁlt:(:'\l’ :sFi,:'::aIz::e N N/A 1705.18 Smoke Control Systems N N/A
a. Inspection tasks Prior to Welding 1. Leakage testing and recording of
; ; Observe (4) N/A Material d d ith th - . - - - ge testing : ing Field testi Periodi
(Observe the QA tasks listed in SDI N a. Materials and procedures wi e o . o } — ] ield testing eriodic
QA/QC, Appendix 1 Table 1.3) approved submitials Field inspection Y Periodic TA é Se;zsrrgfgorce resisting systems in SDC B, Shop (3) and field inspection In accordagz;e with AISC device locations prior to concealment
b. Inspection tasks During Welding 2. Structural steel elements in SDC B, C, D, 2. Prior to occupancy and after sufficient
(Observe the QA_ tasks listed in SDI N Observe (4) N/A b. Placement of masonry units and Field i . v Periodic TA E, or F other than those in Item 1. including Shop (3) and field i i In accordance with AISC completion, ptressu(;eddltffe:_ence tgstlngt, fllow Field testing Periodic
QA/QC, Appendix 1 Table 1.4) mortar joint construction ield inspection struts, collectors, chords and foundation op (3) and field inspection 341 vme?'ﬁ‘isclgggen $, and detection and contro
elements.
c. Inspection tasks After Welding ) i
(Perform the QA tasks listed in SDI N Perform (4) N/A c. Size and location of structural members Field inspection Periodic TA 1705.12.2 Structural Wood Special N N/A 1705.19 Sealing of Mass Timber N N/A
QA/QC, Appendix 1 Table 1.5) Inspections for Seismic Resistance Construction
5. Colq-fqrmed steel deck mechanical Shop (3) and field inspection d Typ_e, size, Iocatic_m of anchors, Level 2 - Periodic TA 1. Field gluing operations of elements of 1. Inspect sealants and adhesives to ‘ ‘ o
fastening: . . . mcludmgtothfr dfta'lls of arl;chor?ge of Field inspection , the seismic-force resisting system for Field inspection Continuous resist passage of air in buildings of Type Field testing Periodic
a. Inspection tasks Prior to Mechanical masonry (o structural members, Trames, Level 3 - Continuous SDCC,D,EorF. IV-A, IV-B, and IV-C.
Fastening (Observe the QA tasks listed Y Observe (4) T/A or other construction = : :
in SDI QA/QC, Appendix 1 Table 1.6) e. Welding of reinforcement Field inspection N Continuous N/A 2. Nailing, bolting, anchoring and other a. At abutting edges and intersections of i . o
i i i fastening of components within the seismic- mass timber building elements required to Field testing Periodic
b. Inspection tasks During Mechanical ip . . d f isti tem includi dsh o ) > "
Fastening (Observe the QA tasks isted Y Observe (4 A broteation of masonry during cold weather walls, wood disphregs, dreg siruts, shear | C) o fleld Inspaction Periodic pe fre-resistance rated.
In SDI QA/QC, Appendix 1 Table 1.7) (temperature below 400F) or hot weather Fleld inspaction Y Periodic A panels and hold-downs for SDC C, D, E or F. b. At abutting intersections of mass
c. Inspection tasks After Mechanical (temperature above 900F) - timber building elements and building
Fastening (Perform the QA tasks listed Y Perform (4) TIA 1705.12.3 Cold-formed Steel Light-Frame elements of other materials where both Field testing Periodic
in SDI QA/QC, Appendix 1 Table 1.8) g. Application and measurement of Field testin N Continuous N/A Construction Special Inspections for are required to be fire-resistance rated.
prestressing force 9 Seismic Resistance
]Z?;-é;-dgf:"'web Steel Joists and N N/A h. Placement of grout and prestressing o . Cont 1. During welding operations of elements of _
! _ grout for bonded tendons is in compliance Field inspection N ontnuous N/A the seismic-force-resisting system for SDC C, Shop (3) and field N Periodic N/A
1. Installation of open-web steel joists and D,EorF. inspection * INSPECTION AGENTS FIRM ADDRESS TELEPHONE NO.
joist girders. i. Placement of AAC masonry units and Level 2 - Continuous(b)
. : L - : : 1. TO BE DETERMINED
a. End connections - welding or bolted. per SJI CJ or SJI 100 Periodic construction of thin-bed mortar joints N Level 2 - Periodic(c) N/A 2. Screw attachment, bolting, anchoring and
. - - other fastening of components within the . o 2
b. Bridging - horizontal or diagonal. (b) Required for the first 5,000 square feet Field i ’ ) seismic-force-resisting system including shear Shop (3) and field N Periodic N/A
1) Standard bridging. per SJI CJ or SJI 100 Periodic (c) Required after the first 5,000 square feet ield inspection N Level 3 - Continuous N/A walls, braces, diaphragms, collectors (drag inspection 3.
2) Bridging that differs from the : : v Lovel 2 Poriodi A struts) and hold-downs for SDC C, D, E or F. 4
specifications listed in SJI CJ or SJI Periodic 4. Observe praparafion of grout spacimens, Field inspection over 2 - rerodle 1705.12.4 Designated Seismic Systems
i , i i e . ) . .
100. P P Level 3 - Continuous Verification NOTES: 1. The inspection and testing agent(s) shall be engaged by the Owner or the Owner's Agent, and not by the Contractor or Subcontractor whose work is to be
1705.2.4. Cold-Formed Steel Trusses 1705.5 Wood Construction N N/A For SDC C, D, E or F, inspect and verify that inspected or tested. Any conflict of {'nterest must be disclosed to‘thfe Bui/d.in.g Official prior to gommencing work. The qualifications of the Special Inspector(s)
Spanning 60 feet or Greater 1. For prefabricated wood structural elements, that the component label, anchorage or Fiold i and/or testing agencies may be subject to the approval of the Building Official and/or the Design Professional.
. ! L ; i ield inspection - . . . .
. inspection of the fabrication process and . - mounting conforms to the certificate of N Periodic N/A 2. The list of Special Inspectors may be submitted as a separate document, if noted so above.
Verlfy_tempor_ary and_ permangnt assemblies in accordance with Section In-plant review (3) Periodic compliance in accordance with ASCE 7 ) ] . y . . . . . . . ) .
restraint/bracing are installed in Field inspection N Periodic N/A 1704.2.5 Section 13.2.2 3. Shop Inspections of fabricated items are not required where the fabricator is approved in accordance with IBC Section 1704.2.5.1 and listed in activity 1709.2.
accordance with the approved truss — - - 4. Observe: Observe on a random basis, operations need not be delayed pending these inspections. Perform these tasks for each welded joint, bolted
submittal package ZH'FISr hlgh-}oad dlaphlragmsl, Vhe”f);TS"ade and o _ o 1705.12.5 Architectural Components connection, or steel element.
\tMIt% 25;?0\0/ eztguﬁgirr?g %TQ:SS eathing agree Field inspection Periodic gpef’ifl Inspections for Seismic N N/A 5. NDT of welds completed in an approved fabricator's shop may be performed by that fabricator when approved by the AHJ. Refer to AISC 360, N6.
. esistance
3. For high-load diaphragms, verify nominal size¢ 1. For SDC D, E or F, inspection during the
of framing members at adjoining panel edges, erection and fastening of exterior cladding o ) o Are Special Inspections for Seismic Resistance included in the Statement of Special Inspections? Yes
nail or staple diameter and length, number of Field inspection Periodic and interior or exterior veneer more than 30 Field inspection Periodic Are Special Inspections for Wind Resistance included in the Statement of Special Inspections? No
fastener lines, and that spacing between feet above grade or walking surface and
fasteners in each line and at edge margins weighing more than 5 psf.
agree with approved building plans DATE:_04/09/2025
2. For SDC D, E or F, inspection during the
4. Metal-plate-connected wood trusses: erection and fastening of interior nonbearing Abbreviations:
a. Verification that permanent individual x::llznmosrl?rzgig :r?dfe\?v:aiabhoir\:e r%rggeetﬁ;n 15 Field inspection Periodic TA = Testing Agency
truss member restraint/bracing has been of 9 gnhing EOR = Engineer of Record
installed in accordance with the approved Field inspection Periodic pst. AOR = Archlteqt of Record
truss submittal package when the truss . . . N/A = Not Applicable
o3 o 3. For SDC D, E or F, inspection during the
height is greater than or equal to 60". . . ’ :
erection and fastening of exterior nonbearing Field inspection Periodic
. walls more than 30 feet above grade or P
b. For trusses spanning 60 feet or greater: .
. walking surface.
verify temporary and permanent Field inspection Periodi ] ] ]
restraint/bracing are installed in accordance eriodic 4. For SDC D, E or F, inspection during Field inspection Periodic
with the approved truss submittal package anchorage of access floors

CLIENT

&e
Shamrock Building
Systems, Inc.

ADDRESS

1298 Concord Road SE
Smyrna, GA 30080

SHEET TITLE

SCHEDULE OF
SPECIAL
INSPECTIONS
(BUILDING A)

Date:
04-09-2025

PROJECT NUMBER
23-131

SHEET NUMBER

S5.1A




	23131
	Sheets
	S0.1A - GENERAL NOTES & SCHEDULES (BUILDING A)
	S1.1A - FOUNDATION PLAN (BUILDING A)
	S2.1A - SECOND FLOOR FRAMING PLAN (BUILDING A)
	S2.2A - THIRD FLOOR FRAMING PLAN (BUILDING A)
	S2.3A - ROOF FRAMING PLAN (BUILDING A)
	S3.1A - FOUNDATION DETAILS (BUILDING A)
	S4.1A - FRAMING DETAILS (BUILDING A)
	S4.2A - FRAMING DETAILS (BUILDING A)
	S4.3A - FRAMING DETAILS & SECTION (BUILDING A)
	S4.4A - FRAMING DETAILS & SECTION (BUILDING A)
	S4.5A - MASONRY DETAILS & SECTION (BUILDING A)
	S4.6A - MASONRY DETAILS & SECTION (BUILDING A)
	S4.7A - FRAMING ELEVATIONS (BUILDING A)
	S5.1A - SCHEDULE OF SPECIAL INSPECTIONS (BUILDING A)



